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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by materials management? 

 ö£õ¸Ò{ºÁõP® Gß£x ¯õx? 

2. Write any two advantages of materials 
management. 

 ö£õ¸Ò {ºÁõPzvß Cμsk |ßø©PøÍ GÊxP. 

3. What is Replenishment stock? 

 {μ¨¦uÀ £[S GßÓõÀ GßÚ? 

4. What is EOQ? 

 EOQ GßÓõÀ GßÚ? 

5. What is Purchasing? 

 öPõÒ•uÀ GßÓõÀ GßÚ? 

6. What is import purchasing? 

 CÓUS©v öPõÒ•uÀ GßÓõÀ GßÚ? 
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7. What is material handling? 

 ö£õ¸Ò øP¯õÐuÀ GßÓõÀ GßÚ? 

8. What is stock card? 

 £[S Amøh GßÓõÀ GßÚ? 

9. What is vender development? 

 ÂØ£øÚ¯õÍº ÁÍºa] GßÓõÀ GßÚ? 

10. What is value analysis? 

 ©v¨¦ £S¨£õ´Ä GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 
Answer ALL questions. 

11.  (a) What are the functions of materials 
management? 

   ö£õ¸Ò{ºÁõPzvß ö\¯À£õkPÒ GßÚ? 

Or 

 (b)   Explain the advantages of integrated 
materials management. 

   J¸[Qøn¢u ö£õ¸mPÒ {ºÁõPzvß 

|ßø©PøÍ ÂÍUSP. 

12.  (a) What are the importance of inventory 
control? 

   \μUSUPmk£õmiß •UQ¯zxÁ® GßÚ? 

Or 
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 (b)   Explain inventory control for slowmoving 
items. 

   ö©xÁõP |P¸® ö£õ¸mPÐUPõÚ 

\μUSPmk£õmøh ÂÍUSP. 

13.  (a) Explain the concept of dynamic purchasing. 

   ©õÖ® öPõÒ•uÀ P¸zøu ÂÍUSP. 

Or 

 (b)  Discuss the procedures involved in 
international purchase. 

   \ºÁ÷u\öPõÒ•uÀ öuõhº£õÚ ö\¯À•øÓ 

£ØÔ ÂÁõvUPÄ®. 

14.  (a) How do you protect stores? 

   PøhPøÍ GÆÁõÖ £õxPõ¨£x? 

Or 

 (b)   Discuss the objectives of storekeeping. 

   Pøh£μõ©›¨¤ß ÷|õUP[PøÍ¨ £ØÔ 

ÂÁõvUPÄ®. 

15.  (a) Write the types of vendor rating. 

   ÂØ£øÚ¯õÍº ©v¨¥miß ÁøPPøÍ GÊxP. 

Or 

 (b)   Explain the responsibility of purchase 
department. 

   öPõÒ•uÀ xøÓ°ß ö£õÖ¨¦PøÍ ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16.   What is materials? Discuss the various types of 
materials used in the organisation. 

ö£õ¸mPÒ GßÓõÀ GßÚ? {ÖÁÚzvÀ 

£¯ß£kzu¨£k® £À÷ÁÖ ÁøP¯õÚ ö£õ¸mPøÍ¨ 

£ØÔ ÂÁõvUPÄ®. 

17.  Classify the tools of inventory control in 
organisation. 

 {ÖÁÚzvÀ \μUSUPmk£õmk P¸ÂPøÍ 

ÁøP¨£kzuÄ®. 

18. What is purchase management? Explain the 
procedures involved in purchase management? 

 öPõÒ•uÀ ÷©»õsø© GßÓõÀ GßÚ? öPõÒ•uÀ 

{ºÁõPzvÀ Dk£mkÒÍ |øh•øÓø¯ ÂÍUSP. 

19. Classify various protection and prevention of 
stores. 

 PøhPÎß £À÷ÁÖ £õxPõ¨¦ ©ØÖ® uk¨¦ 

ÁøPPøÍ ÁøP¨kzx[PÒ. 

20. What are the factors that influence the buyer–
seller relationship? 

 Áõ[S£Áº ÂØ£øÚ¯õÍº EÓøÁ £õvUS® 

PõμoPÒ ¯õøÁ ? 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is a budget? 

 £möám GßÓõÀ GßÚ? 

2. What is ZBB? 

 ZBB GßÓõÀ GßÚ? 

3. What is capital budgeting?  

 ‰»uÚ £möám GßÓõÀ GßÚ? 

4. What is payback period? 

 v¸¨¤a ö\¾zx® Põ»® GßÓõÀ GßÚ? 

5. What is Marginal Costing? 

 ÂÎ®¦ ö\»Ä GßÓõÀ GßÚ? 
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6. Find out P/V ratio : 

 (a) Purchase Rs. 1,50,000 

 (b) Sales Rs. 2,00,000 

 (c) Variables cost Rs. 1,20,000 

 (d) Fixed cost Rs. 40,000 

 ¤.Â. ÂQuzøuU PshÔ¯Ä® : 

 (A) öPõÒ•uÀ ¹. 1,50,000 

 (B) ÂØ£øÚ ¹. 2,00,000 

 (C) ©õÖ£k® Âø» ¹. 1,20,000 

 (D) {ø»¯õÚ ö\»Ä ¹. 40,000 

7. What is Key factor?  

 •UQ¯ Põμo GßÓõÀ GßÚ? 

8. What is foreign market offer? 

 öÁÎ|õmk \¢øu \¾øP GßÓõÀ GßÚ? 

9. Define standard costing. 

 {ø»¯õÚ ö\»Ä GßÓõÀ GßÚ? 

10. What is variance?  

 ©õÖ£õk GßÓõÀ GßÚ? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) You are required to prepare a production 
budget for the half year ending June 2000 
from the following  information :  

Product Budget sales 
quantity 

Actual stock 
on 31.12.99 

Desired stock 
on 30.6.2000 

 Units Units Units 

S 20,000 4,000 5,000

T 50,000 6,000 10,000

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x áüß 2000 Ehß 
•iÁøh²® Aøμ BskUPõÚ EØ£zv ÁμÄ 
ö\»Äz vmhzøu }[PÒ u¯õ›UP ÷Ásk®. 

u¯õ›¨¦ £möám 
ÂØ£øÚ 

AÍÄ 

31.12.99 AßÖ 
Esø©¯õÚ 
\μUQ¸¨¦ 

Â¸®¤¯ 
\μUQ¸¨¦ 
30.6.2000  

 A»S A»S A»S 

S 20,000 4,000 5,000

T 50,000 6,000 10,000

Or 



 462 4

 (b) Draw up a flexible budget for production at 
75% and 100% capacity on the basis of the 
following data for a 50% activity. 

 Per Unit (Rs.) 

Materials 100 

Labour 50 

Variable Expenses (Direct) 10 

Administrative Expenses (50% fixed) 40,000 

Selling and distribution Expenses  
(60% fixed) 

50,000 

Present production (50% activity) 1,000 units 

   50% ö\¯À£õmiØPõÚ ¤ßÁ¸® uμÄPÎß 
Ai¨£øh°À 75% ©ØÖ® 100% vÓß 
öPõsh EØ£zvUPõÚ ö|QÌÁõÚ 
£möámøh u¯õ›UPÄ®. 

 ³Ûm 
JßÖUS (¹.) 

ö£õ¸Ò 100 

öuõÈ»õÍº 50 

©õÖ® ö\»ÄPÒ (÷|›øh¯õÚx) 10 

{ºÁõP ö\»ÄPÒ (50% {ø»¯õÚx) 40,000 

ÂØ£øÚ ©ØÖ® Â{÷¯õP ö\»ÄPÒ 
(60% {ø»¯õÚx) 

50,000 

uØ÷£õøu¯ EØ£zv ((50% ö\¯À£õk) 1,000 ³Ûm 
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12. (a) A project costs Rs. 15,60,000 and yields 
annually a profit of Rs. 2,70,400 after 
depreciation of 12% p.a. but before tax at 
25%. Calculate  pay-back period.  

   J¸ vmhzvØS ¹.15,60,000 ö\»ÁõS®, 
BskUS 12% ÷u´©õÚzvØS¨ ¤ÓS  
¹. 2,70,400 »õ£® QøhUS®, BÚõÀ Á›US 
•ß 25% v¸¨¤a ö\¾zx® Põ»zøuU 
PnUQk[PÒ. 

Or 

 (b) Project X initially costs Rs. 25,000. It 
generates the following  cash inflows : 

Year Cash in flows  
(Rs.) 

Present value of 
Re. 1 at 10% 

1 9,000 0.909 

2 8,000 0.826 

3 7,000 0.751 

4 6,000 0.681 

5 5,000 0.621 

  Taking the cut off rate as 10% suggest 
whether the project should be accepted or 
not. 
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   vmh® X–ß Bμ®£a ö\»Ä ¹. 25,000 BS®. 
Cx E¸ÁõUS® £n ÁμÄPÒ ¤ßÁ¸©õÖ. 

Á¸h® £n ÁμÄ 
(¹.) 

¹. 1 UPõÚ uØ÷£õøu¯ ©v¨¦ 
10% zvÀ 

1 9,000 0.909 

2 8,000 0.826 

3 7,000 0.751 

4 6,000 0.681 

5 5,000 0.621 

  10% ©õP SøÓUS® ö£õÊx, vmhzøu 
HØP»õ©õ ÷Áshõ©õ GßÖ £›¢xøμ ö\´. 

13. (a) The following information calculate, 

  (i) Contribution 

  (ii) Margin of safety as percentage of sales 

Particulars  First half Second half

Sales 2,40,000 3,00,000

Total Cost 2,18,000 2,60,000

Profit 22,000 40,000
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  RÌPsh ÂÁμ[PøÍ öPõsk  

  (i) £[PÎ¨¦ 

  (ii) £õxPõ¨¦ ÂÎ®¦ ÂØ£øÚ \uÃu©õP 
PnUQhÄ®. 

SÔ¨¦PÒ •uÀ £õP® Cμshõ® £õP®

ÂØ£øÚ 2,40,000 3,00,000

ö©õzu ö\»Ä 2,18,000 2,60,000

C»õ£® 22,000 40,000

Or 

 (b) The following are the budgeted data of Jai 
Hind company : How would you compute 
Break Even Point? 

  

Sales 15,000 units @ Rs.5   75,000

Less : Fixed cost 28,000

          Variable cost 15,000

Operating Profit 43,000

Add : Other income 9,000

Less : Other expenses 3,000 6,000

Net Profit 38,000
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  RÌPsh ÂÁμ[PÎß Ai¨£øh°À öá´î¢z 
P®ö£Û°ß (¤÷μU DÁß £õ°sm) C»õ£ 
|mhªÀ»õ ¦ÒÎ PnUQhÄ®. 

ÂØ£øÚ 15,000 ³Ûm JßÖUS ¹. 5  75,000

SøÓ :  {ø»¯õÚ ö\»Ä 28,000
          ©õÖ® ö\»Ä 15,000
ö\¯À£õmk C»õ£® 43,000

TmkP : ©ØÓ Á¸©õÚ® 9,000

SøÓ : Cuμ ö\»ÂÚ[PÒ 3,000 6,000
{Pμ C»õ£® 38,000

14. (a) The following particulars are obtained from  
 the records of a company manufacturing two  
 products P and R. 

  Per Unit 

 P Product R Product 

Selling Price 200 400 

Material Cost 
(Rs.20 per kg) 

40 100 

Direct wages (Rs.6 
per hour) 

60 120 

Variable overhead 20 40 

  Total Fixed overhead is Rs.10,000 

  Comment on profitability of each product 
when production capacity in hours is the 
limiting factor. 
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  P ©ØÖ® R GßÝ® Cμsk ö£õ¸ÒPøÍ 
u¯õ›US® {ÖÁÚzvß uμÄPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

 ³Ûm JßÖUS 

 ö£õ¸Ò 

P  
ö£õ¸Ò  

R  
ÂØ£øÚ Âø» 200 400 
‰»¨ö£õ¸Ò Âø»  
(¹. 20 J¸ Q÷»õ) 

40 100 

÷|›øh T¼  
(©o JßÖUS ¹. 6) 

60 120 

©õÖ£k® AÁ]¯ 
ö\»ÄPÒ 

20 40 

ö©õzu {μ¢uμ AÁ]¯ ö\»ÄPÒ ¹. 10,000 
  ©o÷|μzvÀ EØ£zvz vÓß Pmk£kzx® 

Põμo¯õP C¸US®ö£õÊx JÆöÁõ¸ 
u¯õ›¨¤ß C»õ£® £ØÔ P¸zx öu›ÂUPÄ®. 

Or 
 (b) Thangam Ltd., requests you to assist in 

deciding the purchase of a particular brand 
of machine, with the help of the following.  

 Brand Brand 
 Splendour Supreme
Depreciation and other 
fixed cost p.a.  

50,000 15,000

Fuel and other 
operating expenses p.v 
of output 

12.5 19.5

  Which brand is preferable for the production 
of 4,500 units currently in demand? 
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u[P® ¼ªöhm, ¤ßÁ¸ÁÚÁØÔß 
EuÂ²hß J¸ SÔ¨¤mh ¤μõsm 
C¯¢vμzøu Áõ[SÁøu wº©õÛUP EuÄ©õÖ 
÷Põ¸QÓx. 

 ¤μõsm 
]¤öÍshº

¤μõsm 
_¨Ÿ® 

÷u´©õÚ® ©ØÖ® 
BskUS ¤Ó 
{ø»¯õÚ ö\»Ä 

50,000 15,000

G›ö£õ¸Ò ©ØÖ® ¤Ó 
C¯UP ö\»ÄPÒ J¸ 
³Ûm öÁÎ±miØS 

12.5 19.5

  uØ÷£õx ÷uøÁ¨£k® 4,500 ³ÛmPøÍ 
EØ£zv ö\´¯ G¢u ¤μõsm Â¸®£zuUPx?  

15. (a) From the following particulars calculate 

(i) Total Material Variance 

  (ii) Material Price Variance  

 Standard Actual 

Materials Units Price (Rs) Units Price (Rs)

A 2,020 2 2160 2.40 

B 820 3 760 3.60 

C 700 4 760 3.80 

  RÌPsh uμÄPÎß Ai¨£øh°À  

  (i) ö©õzu ö£õ¸Ò ©õÖ£õk 

  (ii) ö£õ¸Ò Âø» ÷ÁÖ£õkPøÍ PnUQhÄ®. 
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ö£õ¸Ò uμ{ø» Esø© {ø»

 ³Ûm Âø» ³Ûm Âø»

A 2,020 2 2160 2.40 

B 820 3 760 3.60 

C 700 4 760 3.80 

Or 

 (b) Calculate Labour rate variance from the  
  following  

  Standard : 

  40 workers to work for 8 hours per day in a  
  five day week and get paid at Rs.10 per hour. 

  Actual : 

  43 worked on average a hours per day in the 
five day week and were paid at Rs.11 per 
hour on average. 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x öuõÈ»õÍº 
Ãu©õÖ£õmøhU PnUQk[PÒ. 

  {ø»¯õÚøÁ : 

  40 öuõÈ»õÍºPÒ J¸ I¢x |õÒ ÁõμzvÀ 
J¸ |õøÍUS 8 ©o ÷|μ® ÷Áø» ö\´x 
J¸ ©o ÷|μzvØS ¹. 10 \®£Í® ö£ØÓ 
÷Ásk®. 

  Esø©{ø» : 
  43 ÷£º J¸ I¢x |õÒ ÁõμzvÀ J¸ |õøÍUS 

\μõ\›¯õP J¸ ©o ÷|μ® ÷Áø» ö\´uÚº 
©ØÖ® \μõ\›¯õÚ J¸ ©o ÷|μzvØS ¹. 11 
ö£ØÖ öPõshÚº. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The budgeted expenses for the production of 
10,000 units in a factory are furnished below,  

 Per Unit 

Materials  70 

Labour 25 

Variable overhead 20 

Fixed overhead (Rs.1,00,000) 10 

Direct Variable expenses 5 

Selling expenses (15% fixed) 13 

Distribution expenses (20% fixed) 7 

Administration expenses (50,000) 5 

Total Cost 155 

  Prepare a flexible budget for the production 
of 6000 units. 

  J¸ öuõÈØ\õø»°À 10,000 A»SPÒ 
EØ£zv ö\´ÁuØPõÚ £möám ö\»ÄPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

 J¸ 
³ÛmiØS

ö£õ¸Ò 70 

öuõÈ»õÍº T¼ 25 

©õÖ® AÁ]¯ ö\»ÄPÒ 20 
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 J¸ 
³ÛmiØS

{ø»¯õÚ AÁ]¯ ö\»ÄPÒ  
(¹. 1,00,000) 

10 

÷|μ›øh¯õÚ ©õÖ® ö\»ÄPÒ 5 

ÂØ£øÚ ö\»ÄPÒ (15% ©õÓõux) 13 

£QºÄ ö\»ÄPÒ (20% ©õÓõx) 7 

{ºÁõP ö\»ÄPÒ (50,000) 5 

ö©õzu ö\»Ä 155 

 6000 A»SPÒ EØ£zv ö\´ÁuØPõÚ ö|QÌÄ 
ußø©²ÒÍ £möám u¯õº ö\´¯Ä®. 

17.  A company is considering investment of 
Rs.10,00,000 in a project. The following are the 
income forecasts after depreciation and tax: 

1st year loss Rs.1,00,000 

2nd year  profit Rs.3,00,000 

3rd year profit Rs.4,00,000 

4th year profit Rs.2,00,000 

5th year profit Rs.2,00,000 

 Calculate the accounting rate of return, 

 (a) on original investment method 

 (b) on average investment method.  
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 J¸ P®ö£Û AÀ»x {ÖÁÚ® J¸ vmhzvÀ  
¹. 10,00,000 •u½k ö\´¯ £›^¼zx Á¸QÓx. 
÷u´©õÚ® ©ØÖ® Á›US ¤ÓS Á¸©õÚ 
•ßÚÔÂ¨¦ ¤ßÁ¸©õÖ®. 

•uÀ Á¸h |mh® ¹. 1,00,000 

Cμshõ® Bsk C»õ£® ¹. 3,00,000 

‰ßÓõ® Bsk C»õ£® ¹. 4,00,000 

|õßPõ® Á¸h C»õ£® ¹. 2,00,000 

I¢uõ® Á¸h C»õ£® ¹. 2,00,000 

 Á¸Áõ´ PnUQ¯À ÃuzøuU PnUQkP. 

 (A) A\À •u½mk •øÓ 

 (B) \μõ\› •u½mk •øÓ. 

18.  Vasanth Ltd. Presents the following results for 
one year. Calculate the P/V ratio, BEP and Margin 
of safety. 

 Rs. 

Sales 2,00,000 

Variable costs 1,20,000 

Fixed Costs 50,000 

Net profit 30,000 
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 Á\¢z ¼ªöhm J¸ Á¸hzvØS ¤ßÁ¸® 
•iÄPøÍ •ßøÁUQÓx Cøu öPõsk ¤/Â 
ÂQu® C»õ£ |mhªÀ»õ ¦ÒÎ ©ØÖ® £õxPõ¨¦ 
ÂÎ®¦ BQ¯ÁØøÓU PnUQhÄ®. 

 ¹. 

ÂØ£øÚ 2,00,000 

©õÖ® ö\»Ä 1,20,000 

{ø»¯õÚ ö\»Ä 50,000 

{Pμ C»õ£® 30,000 

19.  Average inventory level of component III is 500 
units. The purchase manager investigated outside 
suppliers and found one that would sign a one 
year contract to deliver 12,000 top quality units as 
and when needed during the year t Rs.5.20 per 
unit. Serious consideration is being given to this 
alternative. Should the company make or by 
component III? 

 TÖ III Cß \μõ\› \μUS {ø» 500 A»S. 
öPõÒ•uÀ ÷©»õÍº \¨øÍ¯ºPÐUS öÁÎ÷¯ 
Â\õ›zuvÀ, ÷©¾® 12,000 E¯º uμ A»SPøÍ 
ÁÇ[SÁuØPõÚ J¸ Á¸h J¨£¢uzvÀ 
øPö¯Êzvk® JßøÓ PshÔ¢uõº, ÷©¾® 
÷uøÁ¨£k® ö£õÊx ³Ûm JßÖUS ¹. 5.20 
GÚÄ® PshÔ¢uõº. ©õØÖ ÁÈUS® PÁÚzøu 
ö\¾zvÚõº. TÖ III–I {ÖÁÚ® u¯õ›UP»©õ? 
AÀ»x Áõ[P»õ©õ? GßÖ TÓÄ®. 
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20.  From the following particulars calculate Material 
Price Variance and Material Cost Variance. 

Material purchased – 3000 kgs at Rs.6 per kg. 

 Standard quantity of Material fixed for unit of 
finished product 25 kgs @ Rs.4 per kg. 

 Opening stock of material – Nil 

 Closing stock of Material – 500 kgs. 

 Actual output during the period – 80 unit. 

 ¤ßÁ¸® SÔ¨¦PøÍ öPõsk ö£õ¸Ò – Âø» 
©õÖ£õk ©ØÖ® ö£õ¸Ò ö\»Ä ©õÖ£õk 
PnUQkP. 

 ö£õ¸Ò Áõ[Q¯x – 3,000 Q÷»õ at ¹.6 (Q÷»õ JßÖUS) 

 •iUP¨£mh EØ£zv°ß A»SUS {ø»¯õÚ ö£õ¸Îß  
AÍÄ – 25 Q÷»õ @ ¹. 4 Q.J. 

 Bμ®£ öPõÒ•uÀ –  CÀø»  

 CÖv öPõÒ•uÀ – 500 Q÷»õ 

 EØ£zv Põ»zvÀ Esø©¯õÚ öÁÎ±k – 80 A»SPÒ. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is business environment? 

 ÁoPa`ÇÀ GßÓõÀ GßÚ? 

2. What is cultural environment? 

 P»õa\õμ`ÇÀ GßÓõÀ GßÚ? 

3. Define political environment. 

 Aμ]¯À `ÇÀ Áøμ¯Ö. 

4. Write any two functions of political system. 

 Aμ]¯»ø©¨¤ß Cμsk £oPøÍ TÖP. 

5. What is social environment? 

 \‰P`ÇÀ GßÓõÀ GßÚ? 

6. What is social system? 

 \‰P Aø©¨¦ GßÓõÀ GßÚ? 

7. What is economic environment? 

 ö£õ¸Íõuõμ `ÇÀ GßÓõÀ GßÚ? 
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8. Define percapital income. 

 uÛ©Ûu Á¸©õÚ® Áøμ¯Ö. 

9. Define financial system. 

 ö£õ¸Íõuõμ Aø©¨¦ Áøμ¯Ö. 

10. What is commercial bank? 

 ÁoPÁ[Q GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) What are the natures of business 
environment? 

  ÁoP`Ç¼ß £s¦PÒ ¯õøÁ? 

Or 

 (b) What is legal environment? Explain its 
impact on strategic decision. 

  \mh`ÇÀ GßÓõÀ GßÚ? u¢vμ©õÚ 
•iÄPÎÀ Auß uõUP® GßÚ? 

12. (a) What are the government and business 
relationship in India? 

  C¢v¯õÂÀ Aμ_ ©ØÖ® ÁoP EÓÄPÒ £ØÔ 
GÊxP. 

Or 
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 (b) Explain the various provisions of Indian 
constitution pertaining business. 

  ÁoP® öuõhº£õÚ C¢v¯ Aμ]¯»ø©¨¤ß 
£À÷ÁÖ ÂvPøÍ ÂÍUSP. 

13. (a) What are the impact of foreign culture? 

  öÁÎ|õmk P»õa\õμzvß uõUP® £ØÔ 
GÊxP. 

Or 

 (b) What are the types of social organisation? 

  \‰P Aø©¨¤ß ÁøPPÒ ¯õøÁ? 

14. (a) Write a note on economic development. 

  ö£õ¸Íõuõμ •ß÷ÚØÓ® £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) Explain the impact of economic environment 
on business decisions. 

  ÁoP •iÄPÎÀ ö£õ¸Íõuõμ `Ç¼ß 
uõUP® £ØÔ GÊxP.  

15. (a) What are types of financial market? 

  ö£õ¸Íõuõμ \¢øu°ß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Write a note on IDBI. 

  IDBI £ØÔ SÔ¨¦ ÁøμP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the types of business environment in 
detail. 

 ÁoP`Ç¼ß ÁøPPøÍ ÂÍUSP. 

17. Explain the various types of political institutions 
in detail. 

 Aμ]¯»ø©¨¤ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

18. Critically examine the factors affecting social 
attitudes. 

 \‰P ©Ú{ø»ø¯ £õvUS® PõμoPøÍ 
ÁøP¨£kzxP. 

19. Analyse the economic forces influencing the 
business. 

 ÁoPzøu £õvUS® ö£õ¸Íõuõμ Âø\PøÍ 
ÂÍUSP. 

20. Explain the functions of NBFC's. 

 NBFC–ß £oPøÍ ÂÍUSP. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Define Industrial Relations. 

 öuõÈÀxøÓ EÓÄPøÍ Áøμ¯Ö. 

2. Define Trade union. 

 öuõÈØ\[Pzøu Áøμ¯Ö. 

3. What is consultative participation? 

 B÷»õ\øÚ £[÷PØ¦ GßÓõÀ GßÚ? 

4. What do you understand by collective bargaining? 

 Tmk ÷£μ® ÷£_Áuß ‰»® }Âº ¦›¢xöPõÒÁx 
GßÚ? 

5. What is industrial unrest? 

 öuõÈÀxøÓ Aø©v°ßø© GßÓõÀ GßÚ? 
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6. Write a note on Lockout. 

 PuÁøh¨¦ J¸ SÔ¨ø£ GÊx. 

7. What is factories act? 

 öuõÈØ\õø»PÒ \mh® GßÓõÀ GßÚ? 

8. What is labour welfare? 

 öuõÈ»õÍº |»ß GßÓõÀ GßÚ? 

9. Define Employer. 

 •u»õÎ Áøμ¯Ö. 

10. What is disablement? 

•hUP® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11.  (a) Explain the importance of industrial 
relations. 

   öuõÈØxøÓ EÓÄPÎß •UQ¯zxÁzøu 
ÂÍUS. 

Or 
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 (b) Explain the objectives of Industrial Disputes 

Act. 

   öuõÈØxøÓ uPμõÖ \mhzvß ÷|õUP[PøÍ 

ÂÍUSP. 

12.  (a) State the forms of workers participation in 

management. 

   öuõÈ»õÍºPÒ £[÷PØ¦ {ºÁõPzvß 

ÁiÁ[PøÍU SÔ¨¤kP. 

Or 

 (b) Explain the pre-requisites for successful 

participation.  

   öÁØÔPμ©õP £[÷PØ£uØPõÚ •ß{£¢uøÚø¯ 

ÂÍUSP. 

13.  (a) What are the causes of employee 

dissatisfaction? 

FÈ¯ºPÎß Av¸¨vUPõÚ Põμn[PÒ 

¯õøÁ?  

Or 
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 (b) What are the classification of industrial 

disputes? Explain. 

   öuõÈÀxøÓ ÷©õuÀPÎß ÁøP¨£õk GßÚ? 

ÂÍUSP. 

14.  (a) Explain the objectives of Indian Factories 

Act. 

   C¢v¯ öuõÈØ\õø»PÒ \mhzvß ÷|õUP[PÒ 

ÂÍUS. 

Or 

 (b) How to safety practices in the work places? 

   £o°h[PÎÀ £õxPõ¨¦ |øh•øÓPÒ 

GÆÁõÖ EÒÍÚ? 

15.  (a) What are the salient features of workmen 

Compensation Act 1923? 

   öuõÈ»õÍºPÒ CÇ¨¥mka \mh® 1923 Cß 

•UQ¯ A®\[PÒ ¯õøÁ? 

Or 
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 (b) How do you calculate compensation under 

Workers Compensation Act? 

   öuõÈ»õÍºPÒ CÇ¨¥mka \mhzvß RÌ 

CÇ¨¥møh GÆÁõÖ PnUQkÁx? 

SECTION C — (3 × 10 = 30 marks) 

 Answer any THREE questions. 

16.  Mention few functions of Trade Union 

 öuõÈØ\[Pzvß ]» ö\¯À£õkPøÍU 
SÔ¨¤k[PÒ. 

17.  Describe the factors influencing Workers 

Participation Management. 

 öuõÈ»õÍºPÒ £[÷PØ¦ {ºÁõPzøu £õvUS® 
PõμoPøÍ ÂÁ›UPÄ®. 

18.  Describe the stages in employee disciplinary 

action. 

 £o¯õÍº JÊUPõØÖ |hÁiUøP°ß {ø»PøÍ 
ÂÁ›UPÄ®. 



 469 6

19.  Discuss the provisions of the Act regarding 

Employee Health Welfare. 

 £o¯õÍº _Põuõμ |»ß öuõhº£õÚ \mhzvß 
ÂvPÒ SÔzx ÂÁõvUP. 

20.  Explain the role and functions of International 

Labour Organization. 

 \ºÁ÷u\ öuõÈ»õÍº Aø©¨¤ß £[S ©ØÖ® 

ö\¯À£õkPøÍ ÂÍUS. 

 ——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Define entrepreneurship. 

 öuõÈÀ •øÚÄ Áøμ¯Ö. 

2. Who is an intrapreneur? 

 ¦xø©¯õÚ öuõÈÀ •øÚ÷Áõº Gß£Áº ¯õº? 

3. What are the contents of entrepreneurial 
development programme? 

 öuõÈÀ •øÚ÷Áõº ÷©®£õmk vmhzvß 
EÒÍhUP[PÒ ¯õøÁ? 

4. What is meant by DIC? 

 ©õÁmh öuõÈÀ ø©¯® GßÓõÀ GßÚ? 
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5. What is project identification? 

 vmh Aøh¯õÍ® GßÓõÀ GßÚ? 

6. Write short note on feasibility study. 

 \õzv¯UTÖ B´Ä SÔzx ]Ö SÔ¨¦ GÊxP. 

7. What is meant by project appraisal? 

 vmh ©v¨¥k Gß£x ¯õx? 

8. Define project report. 

 vmh AÔUøP Áøμ¯Ö. 

9. What are the qualities required for a successful 

entrepreneur? 

 öÁØÔPμ©õÚ öuõÈÀ •øÚ÷Áõ¸US ÷uøÁ¯õÚ 

Sn[PÒ ¯õøÁ? 

10. What do you mean by acquisition? 

 øP¯P¨£kzuÀ Gß£x ¯õx? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the importance of entrepreneurship. 

  öuõÈÀ•øÚ÷Áõ›ß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) Discuss the various classification of 
entrepreneurs. 

  öuõÈÀ •øÚ÷Áõ›ß £À÷ÁÖ 
ÁøP¨£õkPÒ £ØÔ ÂÁõv. 

12. (a) State the drawbacks of EDP. 

  öuõÈÀ ÷©®£õmkz vmhzvß 
SøÓ£õkPøÍU SÔ¨¤kP. 

Or 

 (b) Discuss the support provided by NSIC in 
promoting entrepreneurship. 

  öuõÈÀ •øÚ÷Áõøμ ÷©®£kzxÁvÀ 
Gß.Gì.I.] AÎUS® BuμøÁ¨ £ØÔ 
ÂÁõv. 
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13. (a) Explain the sources of business ideas. 

  ÁoP ÷¯õ\øÚPÎß Buõμ[PøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics of a project? 

  vmhzvß £s¦PÒ ¯õøÁ? 

14. (a) Explain the classifications of project 

appraisal. 

  vmh ©v¨¥miß ÁøP¨£õkPøÍ ÂÍUSP. 

Or 

 (b) State the need for project report. 

  vmh AÔUøP°ß AÁ]¯zøu SÔ¨¤kP. 

15. (a) Discuss the qualities of a successful 

entrepreneur. 

  öÁØÔPμ©õÚ öuõÈÀ•øÚ÷Áõ›ß 

Sn[PøÍ¨ £ØÔ ÂÁõv. 

Or 

 (b) Explain the advantages of acquisition. 

  øP¯P¨£kzxu¼ß |ßø©PÒ £ØÔ ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. Analyse the factors influencing entrepreneurship. 

 öuõÈÀ •øÚ÷Áõøμ £õvUS® PõμoPøÍ 
£S¨£õ´Ä ö\´P. 

17. Describe the functions of IDBI. 

 Ii¤I°ß ö\¯À£õkPøÍ ÂÁ›. 

18. Enumerate the various steps involved in selection 
of new business idea. 

 ¦v¯ ÁoP ÷¯õ\øÚø¯z ÷uº¢öuk¨£vÀ EÒÍ 
£À÷ÁÖ £iPøÍU PnUQkP. 

19. Discuss the various contents of project report. 

 vmh AÔUøP°ß £À÷ÁÖ EÒÍhUP[PøÍ¨ £ØÔ 
ÂÁõv. 

20. Sanjay comes from a family of weavers who have 
been working on a small scale on their handloom. 
He dreams of turning it into world-wide business. 
To start and set up a successful business 
enterprise in this field, what are the factors he 
should consider? 
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 \g\´ ö|\ÁõÍº Sk®£zvÀ C¸¢x Á¢uÁº. 
AÁμx Sk®£zvÚº ]Ô¯ AÍÂÀ øPzuÔ 
öuõÈÀ ö\´x Á¢uÚº. Aøu E»P AÍÂ»õÚ 
ÁoP©õP ©õØÓ ÷Ásk® GßÖ AÁº PÚÄ 
PõsQÓõº. C¢u xøÓ°À ÁoP {ÖÁÚ® 
öuõh[Q öÁØÔPμ©õP |hzu, AÁº P¸zvÀ 
öPõÒÍ ÷Ási¯ PõμoPÒ ¯õøÁ? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define an Entity. 

2. What is a Data model? 

3. Mention any two Relation Algebra operations. 

4. Define a Tuple calculus. 

5. What is meant by Functional Dependency? 

6. What are the characteristics of 1NF? 

7. State the importance of group functions. 

8. What is a Trigger? 

9. What is a cursor? 

10. What is a function? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Discuss E/R diagram. 

Or 

 (b) Expound the concept of flat files 

12. (a) Comment on Extended Relational Algebra 
operations. 

Or 

 (b) Summarize the Domain Relational calculus. 

13. (a) Write short notes on BCNF. 

Or 

 (b) Expound the concept of 3NF. 

14. (a) Narrate the features of SQL. 

Or 

 (b) Mention the importance of Triggers. 

15. (a) Comment on exception handling. 

Or 

 (b) Give a brief description on Implicit cursor. 
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SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Enumerate the salient features of Network 
Approach. 

17. Expound the structure of Relational Databases. 

18. Describe the functionality of 1NF and 2NF in 
detail. 

19. Summarize Nested Queries. 

20. Explain opening and closing a cursor with suitable 
examples. 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define a business function. 

2. State any two benefits of ERP. 

3. Comment on sales order processing. 

4. What is customer relationship management? 

5. What is meant by sales forecasting? 

6. Discuss Demand Management. 

7. Define Accounting. 

8. State the importance of credit Management. 

9. What is the need for Training? 

10. Define process modeling. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Elucidate the functional areas of information 
systems. 

Or 

 (b) Mention the significance and benefit of ERP 
software. 

12. (a) Summarize marketing information system. 

Or 

 (b) Summarize inventory sourcing 

13. (a) Enumerate the SAP ERP approach to 
production planning 

Or 

 (b) Write short notes on Material requirement 
planning. 

14. (a) Illustrate Industrial credit management in 
SAP ERP 

Or 

 (b) Discuss the features of product profitability 
Analysis. 
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15. (a) Narrate the Human Resource Process in 
ERP. 

Or 

 (b) Comment Management by objectives. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Differentiate business function with business 
process. 

17. Enumerate sales and distribution in ERP. 

18. Elaborate on sales and operation planning. 

19. Evaluate operational decision making problem. 

20. Describe travel Management. 

  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define decision support system. 

2. Give the uses of pattern reorganization. 

3. What is meant by inference? 

4. List out the components of inference. 

5. Mention the significance of GDSS. 

6. Specify the supporting areas of organizational 
support. 

7. Define frame. 

8. Give the examples for knowledge rules. 

9. Mention the major stages of hybrid intelligent 
system. 

10. What is meant by mutation? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) Describe the phases of the decision making 
process. 

Or 

 (b) Give the overview of the management 
support system. 

12. (a) Discuss on the knowledge based decision 
support and artificial intelligence. 

Or 

 (b) Narrate the new directions of data 
visualization. 

13. (a) Describe the knowledge acquisition process 
using Intranet. 

Or 

 (b) Write short note on the evaluation of 
enterprise and executive information system. 

14. (a) Give an account on the process and model of 
the expert system. 

Or 

 (b) Discuss on the process associated with 
knowledge validation. 



 883 3

15. (a) Narrate the basics of neural computing. 

Or 

 (b) Write short note on the fundamentals of 
genetic algorithms. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE Questions. 

16. Describe the intelligence phase and design phase 
of the decision making process. 

17. Elaborate the task of data visualization 
technology. 

18. Discuss on the functioning of the Intranet and 
collaborative technologies. 

19. Explain the significance of knowledge acquisition. 

20. Elaborate the algorithm, application of fuzzy logic 
with example. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL the questions. 

1. Define : cloud computing. 

2. Name any four key properties of cloud computing. 

3. Write any one pros and cons of cloud services. 

4. Mention any two advantages of cloud 
development. 

5. What are the uses of Google Calendar? 

6. Define web-based calendars. 

7. State any two features of Amazon simple storage 
service. 

8. Define : Hadoop distributed file system. 

9. Write the acronyms for Saas and Paas. 

10. What is meant by vulnerability assesment? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL the questions. 

11. (a) Briefly describe the cloud storage and 
services. 

Or 

 (b) Enumerate the demerits of cloud computing 
and explain any four of them. 

12. (a) Write the importance of Google App Engine. 

Or 

 (b) Write an account on cloud services 
development tools. 

13. (a) Briefly discuss the significances of 
centralizing Email communications. 

Or 

 (b) Describe about collaborating on To-do lists. 

14. (a) Enumerate the steps involved in Map 
Reduce framework. 

Or 

 (b) Illustrate the architecture of openstack Nova 
system. 
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15. (a) Write brief notes on the evolution of cloud 
services. 

Or 

 (b) Discuss on the design of securing 
Architecture. 

SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. Narrate the history of cloud computing. 

17. Explain the types of cloud services development. 

18. Discuss in detail about “collaborating on 
schedules”. 

19. Describe the programming model supported by 
Google App Engine. 

20. Explicate the following : 

 (a) Security Governance 

 (b) Virtual Machine Security 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What are called Noble gases? 

 ©¢u Áõ²UPÒ Gß£øÁ ¯õøÁ? 

2. Draw the geometry of XeF4. 

 XeF4 ß ÁiÁzvøÚ ÁøμP. 

3. How Benzoic acid is prepared by Grignard 

method? 

 Q›UÚõºk •øÓ°ß ‰»® ö£ß\õ°U Aª»® 

GÆÁõÖ u¯õ›UP¨£kQÓx? 

4. Give the preparation of Oxalic acid. 

 BUéõ¼U Aª»zvß u¯õ›¨¤øÚz u¸P. 
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5. What is called Reimer-Tiemarin reaction? 

 Ÿ©º– j©º ÂøÚ GßÓõÀ GßÚ? 

6. Mention any two uses of Alpha Naphthol. 

 BÀL£õ |õ¨uõ¼ß H÷uÝ® Cμsk £¯ßPøÍU 

SÔ¨¤kP. 

7. Define Gibbs free energy. 

 Q¨ì £¯ßu¸ BØÓÀ (Gibbs free Energy) Áøμ¯Ö. 

8. State Gibbs-Helmholtz equation. 

 Q¨ì öíÀ®÷íõÀmì \©ß£õmiøÚz u¸P. 

9. Give the mathematical form of Third law of 

Thermodynamics. 

 öÁ¨£ C¯UPÂ¯¼ß ‰ßÓõ® Âv°ß PouU 

SÔ±miøÚz (Mathematical Form) u¸P. 

10. What are called Partial molar properties? 

 £Sv ÷©õ»õº £s¦PÒ Gß£Ú ¯õøÁ? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Write notes on position of Noble gases in the 

periodic table. 

  BÁºzun AmhÁøn°À ©¢u Áõ²UPÎß 

Ch® £ØÔ SÔ¨¦ ÁøμP. 

Or 

 (b) What are the applications of Noble gases? 

  ©¢u Áõ²UPÎß £¯ß£õkPøÍU TÖP. 

12. (a) Explain the preparation and properties of 

Malonic acid. 

  ©õ¼U Aª»zvß u¯õ›¨¦ ©ØÖ® £s¦PÒ 

£ØÔ ÂÁ›. 

Or 

 (b) Discuss about the basicity of Amines. 

  A«Ûß PõμzxÁ® £ØÔ SÔ¨¦ GÊxP. 
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13. (a) Give the preparation and properties of Allyl 
alcohol. 

  AÀø»À BÀPíõ¼ß u¯õ›¨¦ ©ØÖ® 

£s¦PøÍz u¸P. 

Or 

 (b) Explain Schotten-Baumann reaction with 
mechanism. 

  ìPõmhß – £õ©ß (Schotten baumann) 
ÂøÚ°øÚ ÂøÚ ÁÈ•øÓ²hß ÂÍUSP. 

14. (a) Derive Maxwell relationship. 

  ÷©UìöÁÀ öuõhº¤øÚ Á¸Â. 

Or 

 (b) What are the applications of  
Clausius-Clapeyron equation? 

  QÍõ]¯ì QÍõ¤μõß \©ß£õmiÝøh¯ 

£¯ßPøÍz u¸P. 

15. (a) What are the applications of Third law of 
Thermodynamics? 

  öÁ¨£ C¯UPÂ¯¼ß ‰ßÓõ® Âv°ß 

£¯ßPøÍz u¸P. 

Or 
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 (b) What is Chemical Potential? and derive 
Gibbs-Duhem equation. 

  ÷Áv°¯À AhUP BØÓÀ GßÓõÀ GßÚ? 

©ØÖ® Q¨ì löí® \©ß£õmiøÚ Á¸Â. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. (a) Discuss about the hybridization and 
geometry of XeF2 and XeOF4.  (5) 

 (b) Describe the applications of Clathrates.  (5) 

 (A) XeF2 and XeOF4 ß CÚUP»¨¦ ©ØÖ® ÁiÁ® 

£ØÔ SÔ¨¦ ÁøμP.   

 (B) QÍõz÷μmkPÎß £¯ß£õkPÒ £ØÔ ÂÁ›.   

17. (a) Explain the preparation and properties of 
Adipic acid.  (5) 

 (b) Distinguish between primary, secondary and 
tertiary amines.    (5) 

 (A) Ai¨¤U Aª»zvß u¯õ›¨¦ ©ØÖ® £s¦PÒ 

£ØÔ ÂÁ›. 

 (B) •uÀ, Cμshõ® ©ØÖ® ‰ßÓõ® {ø» 

A«ßPøÍ ÷ÁÖ£kzxP 
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18. Discuss about the preparation, properties and 
uses of Beta Naphthol. 

 ¥mhõ |õ¨uõ¼ß u¯õ›¨¦, £s¦PÒ ©ØÖ® £¯ßPÒ 

£ØÔ SÔ¨¦ ÁøμP. 

19. Derive Gibbs- Helmholtz equation and give its 
applications. 

 Q¨ì öíÀ®÷íõmÀì \©ß£õmiøÚ Á¸Â ©ØÖ® 

Auß £¯ßPøÍz u¸P. 

20. Discuss about effect of Temperature and Pressure 
on Chemical potential. 

 ÷Áv°¯À AhUP BØÓÀ «uõÚ öÁ¨£{ø» ©ØÖ® 

AÊzu ÂøÍÄ £ØÔ ÂÍUSP. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is meant by nuclear binding energy? 

 AqUP¸ ¤øn¨¦ BØÓÀ GßÓõÀ GßÚ? 

2. Define packing fraction. 

 Pmk® ¤ßÚ® Gß£øu Áøμ¯Ö. 

3. What is artificial radioactivity? Give an example. 

 ö\¯ØøPU Pv›¯UP® GßÓõÀ GßÚ? Euõμn® 

öPõk. 

4. Define nuclear fission. 

 AqUP¸¨ ¤Í¨¦ Áøμ¯Ö. 

5. What is meant by Flux? 

 CÍUQ GßÓõÀ GßÚ? 

6. Write a short note on metallurgy. 

 E÷»õPÂ¯À £ØÔ ]ÖSÔ¨¦ GÊxP. 
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7. What are Mish metals? Give their uses. 

 ªè E÷»õP® GßÓõÀ GßÚ? AÁØÔß £¯ßPøÍ 

u¸P. 

8. Write the difference in the electronic configuration 
of transition and inner - transition elements. 

 Cøh{ø»z uÛ©[PÒ ©ØÖ® EÒ Cøh{ø»z 

uÛ©[PÎß G»Umμõß Aø©¨¦PÎÀ EÒÍ 

÷ÁÖ£õk GßÚ? 

9. What are organometallic compounds? Give two 
examples. 

 P›© E÷»õPa ÷\º©[PÒ Gß£Ú ¯õøÁ? Cμsk 

\õßÖPÒ u¸P. 

10. Give the classification of nitrides. 

 ø|møμkPÎß ÁøPPøÍz u¸P. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) The Al isotope 27
13 Al  has a mass of 26.9815 

amu. The mass of proton is 1.0081 amu and 
that of neutron is 1.0090 amu calculate the 
binding energy per nuclear of the aluminium 
nucleus (1 amu = 931 Mev) 
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  Al I÷\õ÷hõ¨ 
27

13 Al ß {øÓ 26.9815 amu 

BS®. ¦÷μõmhõÛß {øÓ 1.0081 amu BPÄ® 

{²mμõÛß {øÓ 1.0090 BPÄ® öPõsk 

A¾ªÛ¯® P¸Âß J¸ {²UÎ¯õÛß 

¤øn¨¦ BØÓø»U PnUQkP.  

(1 amu = 931 Mev) 

Or 

 (b) Describe the liquid drop model of nuclei. 

  AqU P¸øÁ¨ £ØÔ¯ vμÁzxÎ Aø©¨ø£ 

ÂÍUSP. 

12. (a) Discuss the group displacement law of 
nucleus. 

  AqUP¸Âß Ch¨ö£¯ºa] Âv°øÚ¨ £ØÔ 

ÂÁ›. 

Or 

 (b) List out the properties of Alpha, Beta and 
Gamma rays. 

  BÀ£õ, ¥mhõ ©ØÖ® Põ©õ PvºPÎß 

£s¦PøÍ Á›ø\¨£kzxP. 

13. (a) Explain about the Electromagnetic 
separation technique. 

  ªßPõ¢u ¤›US® •øÓ £ØÔ ÂÍUSP. 

Or 
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 (b) How is MO extraction from its ore? 

  MO Auß uõxÂ¼¸¢x G¨£i 

¤›zöuk¨£õ´? 

14. (a) How is thorium extracted from its important 
ores? 

  ÷uõ›¯® Auß •UQ¯ uõxÂ¼¸¢x GÆÁõÖ 

¤›zöuk¨£õ´? 

Or 

 (b) Discuss the position of lanthanides in the 
periodic table. 

  uÛ© Á›ø\ AmhÁøn°À »õ¢uøÚkPÎß 

Ch® £ØÔ ÂÁ›. 

15. (a) Explain the classifications of organometallic 
compounds. 

  P›© E÷»õPa ÷\º©[PÎß ÁøP¨£õmiøÚ 

ÂÍUSP. 

Or 

 (b) How will you prepared organo lithium 
compounds? Write its uses. 

  P›© ¼zv¯® ÷\º©zøu G¨£i u¯õ›¨£õ´? 

Auß £¯ßPøÍ GÊxP. 
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SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Discuss about Isobars, Isotopes and Isotones.  

 I÷\õ£õºPÒ, I÷\õ÷hõ¨¦PÒ ©ØÖ® I÷\õ÷hõßPÒ 

SÔzx ÂÍUSP. 

17. (a) What is Indused radioactivity? 

 (b) Briefly explain nuclear reactor and its 

functions. 

 (A) ysh¨£mh Pv›¯UP® GßÓõÀ GßÚ? 

 (B) AqUP¸ Eø» ©ØÖ® AøÁ ö\¯À£k® 

Âuzøu Â›ÁõP ÂÁ›UPÄ®. 

18. (a) Discuss about Iron group elements. 

 (b) Describe the various oxidation state of 

chromium group elements. 

 (A) A¯ºß öuõSv uÛ©[PøÍ £ØÔ ÂÁ›. 

 (B) S÷μõª¯® öuõSv uÛ©[PÎß £À÷ÁÖ 

BUêá÷ÚØÓ {ø»ø¯ ÂÁ›. 
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19. What is Lanthanide contraction? What are its 
causes and consequences? 

 »õ¢uøÚk SÖUP® GßÓõÀ GßÚ? Auß Põμn® 

©ØÖ® ÂøÍÄPøÍ GÊxP. 

20. Describe the classification and preparation of 
halides and carbides. 

 íõø»k ©ØÖ® Põºø£iß u¯õ›¨¦ ©ØÖ® 

ÁøPPøÍ ÂÍUSP. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL the questions. 

1. State the formula for the calculation of Goodwill 
under super profit method? 

 ªøP »õ£ •øÓ°À |Øö£¯º ©v¨¦ 

PnUQkÁuØPõÚ `zvμzøuU TÖP. 

2. What do you understand by Net Asset method of 
valuation of shares? 

 £[S ©v¨¤h¼ß {Pμ ö\õzx •øÓ £ØÔ }Âº 

AÔÁx GßÚ? 

3. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

4. What is deficiency Account? 

 £ØÓõUSøÓ PnUS Gß£x ¯õx? 

5. What do you mean by statutory reserve? 

 \mh•øÓ Põ¨¦ GßÓõÀ GßÚ? 

 APRIL/MAY 2021
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6. Define insurance. 

 Põ¨¥k C»UPn® u¸P. 

7. What do you mean by cost of control? 

 Pmk¨£õmk AhUP® GßÓõÀ GßÚ? 

8. What do you mean by subsidiary company? 

 xøn {Ö©® Gß£x £ØÔ }Âº AÔÁx GßÚ? 

9. Define Inflation Accounting. 

 £nÃUP PnUQ¯À C»UPn® u¸P. 

10. What is current purchasing power Accounting? 

 |h¨¦ öPõÒ•uÀ vÓß PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) A firm earned net profits during the last 
three years as follows 

  I Year  :  Rs.54,000 

  II Year  :  Rs.60,000 

  III Year  :  Rs.66,000 
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  The capital investment of the firm is 
Rs.1,00,000. A fair return on the capital, 
having regard to the risk involved is 25% 

  Calculate the value of Goodwill on the basis 
of 3 years purchase of super profit. 

  J¸ {ÖÁÚ® Ph¢u 3 BskPÎÀ RÌPsh 

»õ£zvøÚ Dmi¯x 

  I Á¸h®  :  ¹.54,000 
  II Á¸h®  :  ¹.60,000 
  III Á¸h®  :  ¹.66,000 
  {ÖÁÚzvß •uÀ •u½k ¹.1,00,000 BS®. 

öuõÈ¼À HØ£k® Chøμ P¸zvÀ öPõsh 

•uÀ «uõÚ {¯õ¯©õÚ Á¸Áõ´ 25% BS®. 
  3 Bsk ªøP »õ£ öPõÒ•uÀ Ai¨£øh°À 

|Øö£¯º ©v¨ø£U PnUQkP. 
Or 

 (b) Balance sheet of Norton Company as on 
31.12.2002. 

Liabilities Rs. Assets Rs. 
200 equity 
shares of 
Rs.100 each 

2,00,000 Good will 10,000

6% pref. 
shares of 
Rs.100 each 

50,000 Machinery 1,00,000

Reserve 
fund 

50,000 Stock 30,000
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Profit and 

loss a/c 

20,000 Debtors 60,000

Debentures 12,000 Cash 1,00,000

Creditors 8,000 Preliminary 

expenses 

40,000

 3,40,000  3,40,000

  Depreciation Machinery by Rs.25,000. 

Average profit of last five years Rs.15,000. 

Take Goodwill on the basis of 3 years 

purchases. Calculate the value of equity 

shares. 

  31.12.2002 AßÖ |õºhõß {Ö©zvß C¸¨¦ 

{ø»USÔ¨¦ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

¹.100 

©v¨¦ÒÍ 200 

\© £[SPÒ 

2,00,000 |Øö£¯º 10,000

¹.100 

©v¨¦ÒÍ 

6%•ßÝ›ø©¨ 

£[SPÒ 

50,000 C¯¢vμ® 1,00,000
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Põ¨¦ {v 50,000 \μUQ¸¨¦ 30,000
C»õ£ |mh P/S 20,000 PhÚõÎPÒ 60,000
Phß £zvμ® 12,000 öμõUP® 1,00,000
PhÜ¢÷uõº 8,000 ÷uõØÖÂ¨¦ 

ö\»ÄPÒ 

40,000

 3,40,000  3,40,000

  C¯¢vμzvß «x ¹.25,000 ÷u´©õÚ® ö\´P. 

Ph¢u 5 BskPÎÀ \μõ\› »õ£® ¹.15,000. 3 

Bsk öPõÒ•uÀ Ai¨£øh°À |Øö£¯º 

GkzxU öPõÒÍÄ® \©£[SPÎß ©v¨ø£U 

PnUQkP. 

12. (a) Explain the preferential creditors as given 
under the India companies Act. 

  C¢v¯ {Ö©a \mhzvÀ TÓ¨£mkÒÍ 

•ßÝ›ø© PhÜ¢÷uõº £ØÔ ÂÁ›. 

Or 

 (b) From the following information. Prepare 
liquidator final statement of account. 

 Rs. 

Cash at bank 1,00,000

Surplus from securities 10,10,000

Expense of liquidation 30,000

Liquidator’s remuneration 7,000
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Preferential creditors 2,00,000

Unsecured creditors 7,00,000

Preference shareholders 1,00,000

Equity shareholders 1,00,000

  RÌPsh ÂÁμ[PÎÀ C¸¢x Pø»¨£õÍ›ß 

CÓvU PnUS AÔUøPø¯ u¯õ›UPÄ® 

 ¹ 

Á[Q°¸¨¦ öμõUP® 1,00,000

¤øn¯[PÎß E£› 10,10,000

Pø»¨¦a ö\»ÄPÒ 30,000

Pø»¨£õÍº Fv¯® 7,000

•ßÝ›ø©U PhÜ¢÷uõº 2,00,000

¤øn¯©ØÓ PhÜ¢÷uõº 7,00,000

•ßÝ›ø© £[SuõμºPÒ 1,00,000

\© £[SuõμºPÒ 1,00,000

13. (a) Give the particulars that come under 
schedule 13 of a banking company. 

  J¸ Á[Q°ß åμzx–13–CÀ EÒÍ 

Â£μ[PøÍz u¸P. 

Or 
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 (b) From the following details, prepare fire 
Revenue account for the year 2006 

 Rs. 

Claims paid 2,35,000

Law charges 5,000

Management expenses 1,50,000

Reserve for unexpired risk 1.01.06 2,60,000

Premium received 6,00,000

Reinsurance premium 60,000

Commission 1,00,000

Claims outstanding 01.01.2006 20,000

Claims outstanding 31.12.2006 35,000

  ¤ßÁ¸® Â£μ[PÎÀ C¸¢x 2006–B® 

BskUPõÚ w Põ¨¥mk Á¸Áõ°Ú PnUøPz 

u¯õº ö\´P. 

 ¹. 

÷PõμÀPÒ ö\¾zv¯x 2,35,000

\mh ö\»ÄPÒ 5,000

÷©»õsø© ö\»ÄPÒ 1,50,000

Põ»õÁv¯õPõu ChºPÐUPõÚ JxURk 1.1.06 2,60,000

•øÚ©® ö£ØÓx 6,00,000
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©ÖPõ¨¥mk •øÚ©® 60,000

PÈÄ 1,00,000

öPõk£h÷Ási¯ ÷Pm¦›ø© 1.1.06 20,000

öPõk£h ÷Ási¯ ÷Pm¦›ø© 31.12.06 35,000

14. (a) From the following balance sheets of “A” ltd 
company and its subsidiary “B” ltd company, 
prepare consolidated balance sheet. 

Liabilities A 
Rs. 

 B 
Rs. 

Assets A 
Rs. 

B 
Rs. 

Share capital 
of Rs.10 each 

20,000  10,000 Sundry Assests 20,000 15,500

Sundry 
liabilities 

10,000  5,000 Investment in 
shares of B ltd co. 
(1000 shares) 

10,000 -

 30,000  15,000  30,000 15,000

  RÌUPsh A ¼ªöhm {Ö©® ©ØÖ® Auß 

xøn {Ö©® B–¼ªöhm {Ö©zvß 

C¸¨¦{ø»U SÔ¨¤¼¸¢x J¸[Qøn¢u 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ A 
¹. 

 B 
¹. 

ö\õzxUPÒ A 
¹. 

B 
¹. 

¹.10 

©v¨¦ÒÍ 

20,000  10,000 £» ÁøP 

ö\õzxUPÒ 

20,000 15,500
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£[S ‰»uÚ® 

£Ø£» 

ö£õÖ¨¦PÒ 

10,000  5,000 B–¼m {Ö© 

£[SPÎÀ •u½k 

(1000-– £[SPÒ) 

10,000 -

 30,000  15,000  30,000 15,000

Or 

 (b) Prepare a consolidated balance sheet of H ltd 
and S ltd from the following 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

 Assets H Ltd
Rs. 

S Ltd
Rs. 

Share 
capital 
(Shares of 
Rs. 1 each) 

 
 

12,000 

  
 

6,000 

 Sundry 
Assets 

20,000

12,000

Reserve 3,000  2,000  Investment
     (6000 

shares in S 
ltd) 

7,500 -

P and L a/c 2,000  1,000   
Creditors 10,500  3,000   
 27,500  12,000   27,500 12,000

  H ltd acquired two shares on 31.3.2000.  

  ¤ßÁ¸® Â£μ[PÎÀ C¸¢x H {Ö©® ©ØÖ® 

S {Ö©[PÎß J¸[Qøn¢u C¸¨¦{ø»U 

SÔ¨ø£z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ H ¼m 

Rs. 
 S ¼m 

Rs. 
 ö\õzxUPÒ H ¼m 

Rs. 
S ¼m

Rs. 
£[S •uÀ 

(£[S JßÖ  

¹.1 Ãu®) 

12,000  6,000  £Ø£» 

ö\õzxPÒ 

20,000 12,000

Põ¨¦ 3,000  2,000  •u½kPÒ 
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C»õ£ |mh 

P/S 

2,000  1,000  (S 

{Ö©zvß 

6000 

£[SPÒ) 

7,500 -

PhÜ¢÷uõº 10,500  3,000   
 27,500  12,000   27,500 12,000

 31.3.2000 AßÖ H ¼ªöhm Cμsk £[SPøÍ 

Áõ[Q¯x. 

15. (a) What are the advantages of Inflation 

accounting? 

  £nÃUPU PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Anand ltd, started business on 1.1.2000 with 

a capital of Rs.1,00,000 for which property 

was acquired. After 5 years of business the 

property was sold for Rs.1,50,000. In the 

mean time the general price index has risen 

from 100 to 130 and the specific index has 

risen from 100 to 145. Indicate the profit 

made if the capital is to be maintained on the 

basic of 

  (i) HCA 

  (ii) CPP 
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  BÚ¢z ¼ªöh® 01.01.2020 AßÖ ¹.1,00,000 

•u½mkhß öuõÈø» Bμ®¤zuÚº. A¢u 

£nzvØS ö\õzxUPÒ ÁÇ[P¨£mhx. öuõÈÀ 

Bμ®¤zx 5 Á¸h[PÒ PÈzx A¢u ö\õzxUPÒ 

¹.1,50,000 US ÂØP¨£mhx. C¢u Põ» 

CøhöÁÎ°À ö£õx Âø» SÔ±k 100 

¼¸¢x 130ØS® SÔ¨¤mh SÔ±k 100 ¼¸¢x 

145 US® E¯¢ux. 

  (i) HCA 

  (ii) CPP •øÓ°À •uÀ £μõ©›UP¨£kQÓx 

GßÓõÀ, {ÖÁÚ® Dmi¯ C»õ£zøuU 

PnUQkP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following is the balance sheet of Ex ltd as on 
Dec 31, 2007. 
Liabilities Rs. Assets Rs. 

3000 equity 
shares capital of 
Rs.100 each 

3,00,000 Cash in 
hand 

2,000

1,500 8% 
preference shares 
capital of Rs.100 
each 

1,50,000 Cash at 
bank 

20,000

General Reserve 
A/c 

40,000 Sundry 
debtors 

80,000
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Liabilities Rs. Assets Rs. 
P and L a/c 10,000 Stock in 

trade 
1,40,000

Bank loan a/c 50,000 Land and 
Building 

2,05,000

Sundry creditors 15,000 Furniture 30,000
  Good will 70,000
  Discount on 

shares 
18,000

 5,65,000  5,65,000

 The values of assets to is assessed as follows 
 (a) Furniture to be depreciated at 10% 
 (b) Value of stock in trade, land and building 

and goodwill is estimated at Rs.1,20,000, 
Rs.2,50,000 and Rs.80,000 respectively. 

 (c) Debtors are expected to realise 80% book 
value. 

  Find out the value of equity share. 

 31 i\®£º 2007  AßøÓ Ex–¼ªöhm–iß C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

¹.100 ©v¨¦ÒÍ 

3,000 \© £[S 

•uÀ ¹.100 

©v¨¦ÒÍ 1,500 

8% 

3,00,000 øP°¸¨¦ 

öμõUP® 

2,000

•ßÝ›ø© £[S 1,50,000 Á[Q°¸¨¦ 20,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ öμõUP® 

ö£õx Põ¨¦ 40,000 £Ø£» 

PhÚõÎPÒ 

80,000

C»õ£ |mh P/S 10,000 \μUQ¸¨¦ 1,40,000

Á[Q Phß 50,000 {»® ©ØÖ® 

Pmih® 

2,05,000

PhÜ¢÷uõº 15,000 AøÓP»ßPÒ 30,000

  |Øö£¯º 70,000

  £[SPÒ 

«uõÚ Ámi 

18,000

 5,65,000  5,65,000

 ö\õzxUPÎß «uõÚ ©v¨¦ RÌPshÁõÖ 

©v¨¤h¨£mhx 

 (A) AøÓP»ß «x 10% ÷u´©õÚ® HØ£kzu 

÷Ásk® 

 (B) \μUQ¸¨¦, {»® ©ØÖ® Pmih® ©ØÓ® |Øö£¯º 

©v¨¦ •øÓ÷¯  ¹.1,20,000 ¹.2,50,000 ©ØÖ® 

¹.80,000 GÚ ©v¨¤h¨£mhx. 

 (C) PhÚõÎPÒ Hmk ©v¨¤À 80% Á`»õS® 

\©£[Qß ©v¨ø£U Psk¤i. 
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17. The balance sheet of XYZ ltd at the time of 
liquidation give below 

Balance sheet of XYZ ltd as on 1.1.2008 

Liabilities Rs. Assets Rs. 

Equity share 
capital 
(Rs.10) 

2,00,000 Fixed Assets 2,00,000

Debentures 1,00,000 Stock 50,000

Loans 50,000 Sundry 
debtors 

1,25,000

Creditors 50,000 Cash 5,000

  Profit and 
loss a/c 

20,000

 4,00,000  4,00,000

 Fixed assets are sold for Rs.1,20,000 to a 
debenture holder holding Rs.40,000 debenture and 
cash is received after set of cash realised from 
debtors was Rs.80,000 and the liquidation 
expenses amounted to Rs.1,000. Liquidator is paid 
Rs.1,000 fixed allowance plus 2% of commission on 
collection including cash in hand Rs.5,000 as 
remuneration stock is sold for Rs.10,0000. 

 Prepare Liquidator’s statement of account. 
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 {Ö© Pø»¨¦ AßÖ XYZ ¼ªöhmiß C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ 

 01.01.2008 AßøÓ¯ XYZ ¼ªöhmiß C¸¨¦ 

{ø»USÔ¨¦. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

\©£[S •uÀ 

(¹.10 Ãu®) 

2,00,000 {ø»a 

ö\õzxUPÒ 

2,00,000

Phß 

£zvμ[PÒ 

1,00,000 \μUQ¸¨¦ 50,000

PhßPÒ 50,000 £Ø£» 

PhÚõÎPÒ 

1,25,000

PhÜ¢÷uõº 50,000 öμõUP® 5,000

  C»õ£ |mh 

P/S 

20,000

 4,00,000  4,00,000

 ¹.40,000 Phß £zvμ[PÒ øÁzxÒÍ J¸ Phß£zvμ 

uõμ¸US {ø»a ö\õzxUPÒ ¹.1,20,000 ØS ÂØ£øÚ 

ö\´¯¨£mk AÁº Phß ÷£õP «vz öuõøP 

ö£Ó¨£mhx. PhÚõÎPÎhª¸¢x ö£ØÓ öuõøP 

¹.80,000 ©ØÖ® Pø»¨¦a ö\»ÄPÒ ¹.1,000 

{ø»¯õÚ £i BP ¹.1,000 ® øP°¸¨¦ öμõUP® 

¹.5,000 EÒÎmh Á`¼À 2% PÊÄ®, 

Pø»¨£õÍ¸US Fv¯©õP ö\¾zu¨£mhx. 

 \μUQ¸¨¦ ¹.10,000ØS ÂØP¨£mhx Pø»¨£õÍ›ß 

{ø»U PnUøPz u¯õ›UPÄ®. 
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18. From the following particulars of XY bank limited 
having its own premises, Prepare the balance 
sheet in the prescribed form as on 31st March 
2008. 

 Rs. 
(1000) 

 Rs. 
(1000)

Authorised capital 4,000 Telegraphic 
transfer 
payable 

800

Issued and paid up 
capital (4,00,000 
share of Rs.10 
each Rs.5 paid up) 

2,000 Bank drafts 
payable 

1,200

Investment 7,000 Short loans 40

Bills discounted 15,000 Debate on 
bills 
discounted 

10

Profit and loss a/c 
(cr) 

850 Acceptance 
for customers 

5,000

Endrasement on 
bills for collection  

100 Loans and 
advances 

10,000

Liability for 
customers 
acceptance 

5,000 Cash credits 10,000

Money at call and 
short notice 

9,000 Over drafts 1,000

Cash in hand 2,000 Bills 
purchased 

1,000
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 Rs. 
(1000) 

 Rs. 
(1000)

Cash with RBI 4,000 Current and 
Deposit 
accounts 

56,000

Reserves 3,000 Investment 
fluctuation 
fund 

100

  Bills for 
collection 

100

  Letters for 
credit 

500

  Cash with 
SBI 

4,000

 ¤ßÁ¸® Â£μ[PÎÀ C¸¢x, ö\õ¢u©õÚ C¸¨¤h® 

öPõsh XY Á[Q°ß 31.2.2008—À C¸¨¦{ø»U 

SÔ¨¦ u¯õ›UP. 

 ¹. 
(1000) 

 ¹. 
(1000)

A[RP›UP¨£mh 

•uÀ 

öÁÎ°h¨£mh  

4,000 u¢v ÁÈ ©õØÓ® 

{¾øÁ  

800

ö\¾zu¨£mh 

•uÀ (4,00,000 

¹.10 Ãu® ¹.5 

ö\¾zu¨£mhx) 

2,000 Á[Q Áøμ÷Áõø» 

ö\¾zu ÷Ási¯x 

1,200

•u½kPÒ 7,000 SÖQ¯ Põ» Phß 40

Ámhg ö\´u 

Esi¯À 

15,000 Ámhg ö\´u 

Esi¯À öÁS©v 

10
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 ¹. 
(1000) 

 ¹. 
(1000)

C»õ£ |mh P/S 

(ÁμÄ) 

850 ÁõiUøP¯õÍ¸UPõÚ 

HØ¦ 

5,000

Á`¼US  

Esi¯À 

¦ÓUSÔ¨¦ 

100 Phß, •ß £n® 10,000

ÁõiUøP¯õÍº 

HØ¦UPõÚ 

ö£õÖ¨¦PÒ 

5,000 öμõUPU Phß 10,000

AøÇ¨¦ ©ØÖ® 

SÖQ¯ Põ» 

£n® 

9,000 ÷©ÀÁøμ¨ £ØÖ 1,000

øP°¸¨¦ 

öμõUP® 

2,000 öPõÒ•uÀ 

ö\´¯¨£mh 

Esi¯À 

1,000

RBI–h® 

öμõUP® 

4,000 |h¨¦ ©ØÖ® øÁ¨¦ 

PnUS 

56,000

Põ¨¦ 3,000 •u½mk ©õÖ£k® 

{v 

100

  Á`¼US® Esi¯À 100

  Phß Piu® 500

  SBI–°h® öμõUP® 4,000
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19. Following is the balance sheet of H ltd and S ltd as 

on 31.12.2007 

Liabilities H Ltd 

Rs. 

 S Ltd 

Rs. 

 Assets H Ltd

Rs. 

S Ltd

Rs. 

Share 

capital 

(Rs.100 

each) 

5,00,000  2,00,000  Good will 40,000 30,000

General 

Reserve 

01.01.07 

1,00,000  60,000  Building 3,60,000 2,20,000

P and L 

a/c 

1,40,000  90,000  Stock 1,00,000 90,000

Creditors 80,000  90,000  Debtors 20,000 75,000

     Cash 60,000 25,000

     Share in S 

ltd (1500 

shares) 

2,40,000 -

 8,20,000  4,40,000   8,20,000 4,40,000

 P and L account “S” ltd showed a balance of 

Rs.50,000 on 01.01.07. H ltd acquired the shares 

in S ltd on 01.07.07. Prepare the consolidated 

balance sheet. 
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 31.12.2007–À H ¼ªöhm ©ØÖ® S–¼ªöhmiß 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ H 
¼ªöhm 

¹. 

 S 
¼ªöhm 

¹. 

 ö\õzxUPÒ H 
¼ªöhm

¹. 

S 
¼ªöhm

¹. 

£[S •uÀ 

(¹.100 

Ãu®) 

5,00,000  2,00,000  |ß ©v¨¦ 40,000 30,000

ö£õx Põ¨¦ 

01.01.07 

1,00,000  60,000  Pmih® 3,60,000 2,20,000

C»õ£ |mh 

P/S 

1,40,000  90,000  \μUQ¸¨¦ 1,00,000 90,000

PhÜ¢÷uõº 80,000  90,000  PhÚõÎPÒ 20,000 75,000

     öμõUP® 60,000 25,000

     ‘S’ 
{Ö©zvÀ 

1500 

£[SPÒ 

2,40,000 -

 8,20,000  4,40,000   8,20,000 4,40,000

 01.01.07–À “S” {Ö©zvß »õ£ |mhU PnUS 

¹.50,000/– BS®. H {Ö©® 01.07.07–À “S” 

{Ö©zvß £[SPøÍ Áõ[Q¯x JßÔøn¢u 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 
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20. ABT ltd was incorporated on 1.1.2008 with a 

contributed capital of Rs.7,00,000 and with the 

object of buying and selling car. The dealer price of 

the car was Rs.1,40,000 on 1.1.2008 and 

Rs.1,50,000 on 31.12.2008. The general price level 

increased by 20% during 2008. The company 

purchased 5 cars on 1.1.2008 and sold three cars 

during the year at an average price of Rs.1,70,000. 

Show how the financial statements will be 

prepared under 

 (a) HCA 

 (b) CCA and 

 (c) CPP 

 01.01.2008 AßÖ ABT ¼ªöhm BÚx ¹.7,00,000 

•u½mkhÝ®, PõºPøÍ Áõ[Q ÂØ£x GßÓ 

÷|õUPzxhÝ® Bμ®¤UP¨£mhx. Põ¸UPõÚ 

Â{÷¯õPìuº Âø» 01.01.2008 AßÖ ¹.1,60,000 

©ØÖ® 31.12.2008 AßÖ ¹.1,50,000 BS®. 2008–® 

BsiÀ ö£õx Âø» AÍÄ 20% AvP›zxÒÍx. 

{Ö©©õÚx 01.01.2008 AßÖ 5 PõºPøÍ Áõ[Q A¢u 

Á¸hzv÷»÷¯ 3 PõºPøÍ ¹.1,70,000 \μõ\› 

Âø»°À ÂØ£øÚ  ö\´ux. 
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 (A) HCA 
 (B) CCA ©ØÖ® 
 (C) CPP •øÓPÎÀ {v {ø» AÔUøPPÒ GÆÁõÖ 

u¯õº ö\´¯¨£k® Gß£øu PõmkP. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. List out the advantages of Formal 

Communication. 

 •øÓ¯õÚ uPÁÀ öuõhº¤ß |ßø©PøÍ¨ 

£mi¯¼kP. 

2. What do you mean by Upward Communication? 

 ÷©À÷|õUQ uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

3. Expand the following:  

 (a)  Wt  

 (b)  L/c  

 (c)  F.O.B.  

 (d)  V.P.P. 

 APRIL/MAY 2021
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 RÌUPõs£ÁØøÓ Â›ÁõUSP 

 (A)  Wt  

 (B)  L/c  

 (C)  F.O.B.  

 (D)  V.P.P. 

4. What do you mean by Modified Block Form? 

 ©õØÔ Aø©UP¨£mh Piu Aø©¨¦ •øÓ GßÓõÀ 
GßÚ? 

5. Mention the circumstances under which an order 
letter needs reply. 

 öPõÒ•uÀ BønU PiuzvØS G¢öu¢u 
`Ì{ø»PÎÀ £v»ÎUP ÷Ásk®. 

6. What are the occasions for writing complaint 
letters? 

 G¢öu¢u `Ì{ø»PÎÀ ¦Põº Piu® GÊu»õ®. 

7. What is bio-data? 

 _¯ uSvU SÔ¨¦ GßÓõÀ GßÚ? 

8. What do you mean by Solicited Application Letter?  

 ÷ÁsiU ÷Pmh Âsn¨£U Piu® GßÓõÀ GßÚ? 
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9. What do you mean by formal reports? 

 •øÓ¯õÚ AÔUøP GßÓõÀ GßÚ? 

10. Mention the analytical functions of reports. 

 AÔUøP¨ £S¨£õ´Âß £oPøÍ¨ £mi¯¼kP. 

SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the importance of business 
communication. 

  öuõÈÀ uPÁÀ öuõhº¤ß •UQ¯zxÁzøu 
ÂÍUSP. 

Or 

 (b) What are the merits and demerits of grape-
vine form of Communication? 

  •øÓ¯ØÓ uPÁÀ öuõhº¦ Aø©¨¤ß 
|ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

12. (a) Discuss the Points to be considered at the 
time of drafting formal letters. 

  •øÓ¯õÚ Piu Áøμu¼À P¸zvÀ öPõÒÍ 
÷Ási¯ •UQ¯ PõμoPøÍ ÂÁõvUP. 

Or 
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 (b) State the objectives of writing business 
letters. 

  öuõÈÀ Piu® GÊxu¼ß ÷|õUP[PøÍU 
SÔ¨¤kP. 

13. (a) Explain the different types of Inquiry 
Letters. 

  Â\õμønU Piuzvß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Examine the important features of Good 
Business Order Letter. 

  |À» öuõÈÀ öPõÒ•uÀ BønU Piuzvß 
•UQ¯ C¯À¦PøÍ B´Ä ö\´P. 

14. (a) Write an application letter for the post of an 
accountant in a limited company in Madras. 

  ö\ßøÚ°À EÒÍ J¸ {Ö©zvØS 
PnUS£vÁõÍº £oUPõn Âsn¨£U 
PiuzvøÚ ÁøμP. 

Or 

 (b) As an employer, write a letter of 
recommendation for an employee, who is 
seeking better prospects in another firm. 

  ©ØöÓõ¸ {Ö©zvÀ ÷Áø»Áõ´¨ø£ 
Gvº£õºUS® E©x {Ö©z öuõÈ»õÎUS 
£›¢xøμU Piu® JßøÓ ÁøμP. 
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15. (a) Outline the steps to be taken while 
preparing a report. 

  AÔUøP u¯õº ö\´²®÷£õx ¤ß£ØÓ 

÷Ási¯ £i{ø»PøÍ SÔ¨¤kP. 

Or 

 (b) Discuss the functions of Reports. 

  AÔUøPPÎß £oPøÍ ÂÁõvUP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the main barriers to communication. 

 uPÁÀ öuõhº¤ß •UQ¯ uøhUPØPøÍ ÂÍUSP. 

17. Explain the different parts of a business letter. 

 öuõÈÀ Piuzvß £À÷ÁÖ £SvPøÍ ÂÍUSP. 

18. Discuss the uses and functions of Sales Letter. 

 ÂØ£øÚU Piuzvß £¯ßPÒ ©ØÖ® £oPøÍ 

ÂÁõv. 



 1064 6

19. Emanate the usual contents of resume, Give 
specimen of the resume of a candidate for the post 
of an assistant accountant. 

 uØSÔ¨¤À EÒÍhUQ²ÒÍ ÁÇUP©õÚ £SvPøÍ 
öÁÎ¨£kzxP. EuÂU PnUPõÍº £oUS 
Âsn¨¤US® J¸ |£›ß ©õv› uØSÔ¨ø£ 
ÁøμP. 

20. Describe the characteristics of a Good Report. 

 |À» AÔUøP°ß Snõv\¯[PøÍ ÂÁ›. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is contract costing? 

 J¨£¢u AhUPÂø»°¯À GßÓõÀ GßÚ?  

2. What is work certified? 

 \õßÓÎUP¨£mh ÷Áø» GßÓõÀ GßÚ? 

3. What is abnormal loss? 

 Áμ®¦ «Ô¯ |mh® Gß£x ¯õx? 

4. What is joint product? 

 Cøn¯õÚ ö£õ¸Ò GßÓõÀ GßÚ? 

5. What is standing charges? 

 {ø»¯õÚ Pmhn® (AhUP®) Gß£x ¯õx? 

 APRIL/MAY 2021
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6. What is operation costing? 

 ö\¯À•øÓ AhUPÂ¯À Gß£x ¯õx? 

7. What is margin of safety? 

 £õxPõ¨¦ ÂÎ®¦ Gß£x ¯õx? 

8. What is contribution? 

 £[PÎ¨¦ Gß£x ¯õx? 

9. What is transport costing? 

 ÷£¸¢x AhUPÂø»°¯À Gß£x ¯õx? 

10. What is reconciliation statement? 

 \›UPmk® £mi¯À Gß£x ¯õx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Following information relates to the 
manufacturing of a component X-101 in a 
cost centre : 

  Cost of materials 6 paise per component  

  Operator’s wages 72 paise an hour  

  Machine-hour rate Rs. 1.50 
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  Setting up time of the machine 2 hours and 
20 minutes  

  Manufacturing time 10 minutes per 
component.  

  Prepare a cost sheet showing both production 
and setting up costs total and per unit, when 
the batch consists of 100 components. 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÒ X-101 GßÓ 
EØ£zv ö£õ¸Îß AhUP ø©¯©õS®. 

  ‰»¨ö£õ¸Îß AhUP® J¸ £SvUS 6 ø£\õ 

  C¯US|º T¼ J¸ ©o ÷|μzvØS 72 ø£\õ 

  C¯¢vμ Ãu® ¹. 1.50 

  C¯¢vμ Aø©¨¦ ÷|μ® 2 ©o÷|μ® ©ØÖ® 20 
{ªh[PÒ 

  J¸ £Sv EØ£zv ÷|μ® 10 {ªh[PÒ 

  J¸ öuõSvUS 100 £SvPÒ GÚ öPõsk 
EØ£zv ©ØÖ® Aø©¨¦ ö©õzu AhUP® 
©ØÖ® J¸ A»S AhUP AÔUøPø¯ u¯õº 
ö\´P. 

Or 
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 (b) From the following information, calculate the 
value of work-in-progress 

  Rs. 

  Total cost of contract to date 3,83,000 

  Cost of contract not yet to certified 23,000 

  Value of work certified  4,20,000 

  Cash received to date          3,78,000 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x ÷Áø» 
ö\´x öPõsi¸US® ©v¨ø£ PnUQkP. 

  ¹. 

  J¨£¢u AhUP® Pøh] ÷uvÁøμ 3,83,000 

  \õßÓÎUP¨£hõu ÷Áø»°ß   

J¨£¢u AhUP®   23,000 

  \õßÓÎUP¨£mh ÷Áø»°ß ©v¨¦ 4,20,000 

  ö£ØÓ öμõUP®           3,78,000 

12. (a) The following expenditure is incurred for 
producing articles, called Nikhil Motors  

  Materials (200 Units)  Rs. 4,000 

  Labour  Rs. 3,000 

  Indirect Expenses  Rs, 2,000 

  Normal wastage is 5% of the input. One unit 
of wastage is sold at Rs.16.50 each. Prepare 
Process Account. 
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  R÷Ç öPõkUP¨£mhøÁPÒ {QÀ ÷©õmhõº 
GÚ¨£k® {ÖÁÚ® EØ£zv ö\´¯¨£k® 
ö£õ¸Îß ö\»ÂÚ[PÍõS®. 

  ‰»¨ö£õ¸mPÒ (200 A»S)  ¹. 4,000 

  ÷Áø»¯õmPÒ   ¹. 3,000 

  ©øÓ•Pa ö\»ÄPÒ  ¹. 2,000 

  \õuõμn |mh® EÒÏmiÀ 5%. Ãnõu¼ß J¸ 
A»S 16.50 Ãu® ÂØP¨£mhx. ö\¯À•øÓ 
PnUøP u¯õº ö\´P. 

Or 

 (b) Prepare Process Account from the following : 

  Materials issued 1,000 kg. @ Rs. 125 

  Wages   Rs. 28,000 

  Overheads   Rs. 8,000 

  Normal loss 5% of input. 

  Output 900 kgs 

  R÷Ç öPõkUP¨£mhøÁPÎ¼¸¢x ö\¯À•øÓ 
PnUøP u¯õº ö\´P. 

  ‰»¨ö£õ¸mPÒ EÒÏk 1,000 QQ   
JßÖ     ¹. 125 

  T¼     ¹. 28,000 

  ÷©Øö\»ÄPÒ    ¹. 8,000 

  \õuõμn |mh® EÒÏmiÀ 5% 

  EØ£zv 900 QQ. 
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13. (a) A Delhi-Hisar Transport Co. runs four buses 
between two towns which are 50 kms. apart. 
The seating capacity of each bus is 50 
passengers and actual passengers carried are 
80% of the sealing capacity. All the 4 buses 
run on 25 days in a month and each bus 
makes one round trip per day. Ascertain the 
total distance covered by the business in one 
month period. 

  öhÀ¼ ÷£õUSÁμzx PÇP® 4 ÷£¸¢xPøÍ 
Cμsk |Pμ[PÐUS Cøh÷¯ JmkQßÓÚ. 
Cuß yμ[PÒ 50 Q.«. JÆöÁõ¸ ÷£¸¢vß 
C¸UøP Á\vPÒ 50, 80% £¯oPøÍ HØÔa 
ö\ÀQÓx. AøÚzx ÷£¸¢xPÐ® ©õuzvØS 
25 |õmPÒ J¸ |õøÍUS J¸ •øÓ ö\ßÖ 
v¸®¦® ÁÈ°À C¯UP¨£kQÓx.  J¸ ©õu 
Põ»zvÀ Â¯õ£õμzuõÀ PhUP¨£mh ö©õzu 
yμzvøÚ PnUQkP.  

Or 
 (b) Number of buses 10 
  Days operated in month 25 
  Round trips made by each bus 4 

  Distance of route 20 km long 
  Capacity of bus 60 persons 
  Normal passengers travelling 90% of 

capacity. 

  Calculate : 
  (i) Total Kms covered in a month. 
  (ii) Total passenger Kms. 
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  ÷£¸¢xPÎß GsoUøP 10 

  J¸ ©õuzvØS C¯UP¨£kÁx  25 |õmPÒ 

  JÆöÁõ¸ ÷£¸¢xPÐ® 4 •øÓ ö\ßÖ 
v¸®¦® ÁÈzuh[PÍõP ö\¯À£kQÓx. 

  ÁÈzuhzvß yμ® 20 Q.«. 

  ÷£¸¢xPÎß C¸UøP Á\v 60 £¯nõÎPÒ 

  \õuõμn©õP £¯o¨£x 90% öPõÒÍÍÄ 

  PnUQkP 

  (i) ©õuzvØS £¯oUS® ö©õzu Q.«. 

  (ii) ö©õzu £¯oPÒ Q.«. 

14. (a) Calculate Break-even point : 

      Rs. 

  Sales    6,00,000 

  Fixed expenses   1,50,000 

  Variable costs: 

          Direct Material  2,00,000 

          Direct Labour  1,20,000 

          Other Variable expenses 80,000 
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  \©{ø» ¦ÒÎø¯ PnUQkP : 

      ¹. 

  ÂØ£øÚ   6,00,000 

  {ø»¯õÚ ö\»ÄPÒ  1,50,000 

  ©õÖ£k® ö\»ÄPÒ: 

          ÷|μi¨ ‰»¨ö£õ¸Ò 2,00,000 

          ÷|μi ÷Áø»¯õmPÒ 1,20,000 

          ©ØÓ ©õÖ£k® ö\»ÄPÒ 80,000 

Or 

 (b) Prepare Marginal Cost Statement from the 
following particulars : 

  Variable costs: Direct Materials Rs. 45,000; 
Direct Wages Rs.25,000; and Factory 
Overheads Rs. 15,000. 

  Fixed Cost: Administrative expenses 
Rs.12,500; Profit Rs.52,500. 

  RÌPõq® ÂÁμ[PÎ¼¸¢x CÖv{ø» AhUP 
AÔUøPø¯ u¯õº ö\´P. 

  ©õÖ£k® AhUP® : ÷|μi¨ ‰»¨ö£õ¸Ò  
¹. 45,000, ÷|μi T¼ ¹. 25,000 ©ØÖ® 
EØ£zv ÷©Øö\»ÄPÒ ¹. 15,000 

  {ø» AhUP® : {ºÁõPa ö\»ÄPÒ ¹. 12,500 

  C»õ£® ¹. 52,500 
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15. (a) From the following figures prepare a 
reconciliation statement. 

 Rs. 

Net profit as per financial records 64,500

Net profit as per cost records 86,460

Income tax provided in financial books 20,000

Bank interest credited in finical books 250

Works overhead under recorded 1,550

Depreciation in financial record 5,600

Depreciation recovered in costing 6,000

Administrative overhead over recovered 850

Obsolescence loss charged in financial records 2,800

Interest received not included in costing 4,000

Stores adjustment (credit in financial books) 240

Depreciation of stock charged in financial books 3,350

 RÌPõq® ©v¨¦PÎ¼¸¢x \›UPmk® £mi¯ø» 

u¯õ›UP. 

 ¹. 

{v PnUQß £i {Pμ C»õ£® 64,500

AhUPÂø»U PnUQß £i {Pμ C»õ£® 86,460

{v PnUQß £i Á¸©õÚ Á› 20,000

{v PnUQÀ ÁμÄ øÁUP¨£mh Á[Q Ámi 250

AhUPÂø» PnUQÀ SøÓzx ©v¨¤h¨£mh 

EØ£zv ÷©Øö\»Ä 
1,550
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 ¹. 

{v PnUQß £i ÷u´©õÚ® 5,600

AhUPÂø» PnUQß £i ÷u´©õÚ® 6,000

AvP¨£i¯õP ©v¨¤h¨£mh {ºÁõPa ö\»ÄPÒ 850

{v PnUQß £i Áμ®¦ «Ô¯ |mh® 2,800

Ámi ö£ØÓx AhUP PnUQÀ ÷\ºUP¨£hÂÀø» 4,000

\›UPmh¨£mh \μUS C¸¨¦ ({v PnUQÀ ÁμÄ 

øÁUP¨£mhx) 
240

\μUQß «uõÚ ÷u´©õÚ® {v PnUQÀ 

£v¯¨£mkÒÍx 
3,350

Or 

 (b) Prepare a reconciliation statement from the 
following figures, so as to ascertain the profit 
as per the financial accounts : 

  Rs. 
  Losses as per cost accounts 1,000 
  Closing stock under valuation in   

cost books   500 
  Goodwill written off  2,000 
  Profit on sale of machinery 12,000 
  Interest on bank loan  1,215 
  Works overhead over recovered   

in costing   2,215 
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  RÌPõq® ©v¨¦PÎ¼¸¢x \›UPmk® 

£mi¯ø» u¯õ›zx {v°¯À C»õ£zøu 

PnUQkP. 

  ¹. 

  AhUPÂø» PnUQß £i |mh® 1,000 

  AhUPÂø» HmiÀ SøÓÁõP   

©v¨¤h¨£mh CÖv \μUQ¸¨¦ 500 

  ÷£õUöPÊu¨£mh |Øö£¯º 2,000 

  C¯¢vμzøu ÂØÓvÀ HØ£mh C»õ£® 12,000 

  Á[Q Phß «uõÚ Ámi  1,215 

  AhUPÂø» HmiÀ Tku»õP   

©v¨¤h¨£mh EØ£zv ÷©Øö\»Ä 2,215 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. From the following particulars calculate the cost of 
Job No.505 and price for the job to give a profit of 
25% on the selling price. 

 Material :  Rs. 6820 

 Wage details : 

 Department X : 60 hrs @ Rs. 3 per hr 

    Y : 50 hrs @ Rs. 3 per hr 

    Z : 30 hrs @ Rs. 5 per hr 
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 The variable Overheads are as follows : 

 Department X : Rs. 5,000 for 5000 hrs 

    Y : Rs. 4,000 for 2000 hrs 

    Z : Rs. 2,000 for 500 hrs 

 The total fixed expenses amounted to Rs. 20,000 
for 10,000 working hours. 

 RÌPõq® ÂÁμ[PÒ ÷Áø» £o Gs 505 À 

C¸¢x GkUP¨£mhøÁPÍõS®, AÁØÔß 

AhUPzøu²® ©ØÖ® ÂØ£øÚ°À 25% 

C»õ£zøu²® PnUQkP. 

 ‰»¨ö£õ¸mPÒ :  ¹. 6820 

 T¼ ÂÁμ[PÒ  : 

 xøÓ  X : ©oUS ¹. 3 Ãu® 60 ©ozxÎPÒ 

   Y : ©oUS ¹. 3 Ãu® 50 ©ozxÎPÒ 

   Z : ©oUS ¹. 5 Ãu® 30 ©ozxÎPÒ 

 ©õÖ£k® ö\»Ä ¤ßÁ¸©õÖ : 

 xøÓ X : 5000 ©oPÐUS ¹. 5,000 

  Y : 2000 ©oPÐUS ¹. 4,000 

  Z : 500 ©oPÐUS ¹. 2,000 

 {ø» AhUPa ö\»Ä 1000 ©oPÐUS ¹. 20,000 
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17. Product A requires three distinct processes and 
after the third process the product is transferred 
to finished stock. Prepare various process accounts 
from the following information. 

 Total  P1 P2 P3 

Direct materials  5,000 4,000 600 400

Direct labour  4,000 1,500 1,600 900

Direct Expenses  800 500 300

Production overheads  6,000 

 Production overheads to be allocated to different 
processes on the basis of 150% of direct wages. 
Production during the period was 200 units. 
Assume there is no opening or closing stock. 

 ö£õ¸Ò A ‰ßÖ ö\¯À•øÓPøÍ Ph¢x •iÄØÓ 

ö£õ¸ÐUS ©õØÓ¨£kQÓx. RÌPõq® ÂÁμ[PÎÀ 

£À÷ÁÖ ö\¯À•øÓ PnUSPøÍ u¯õ›UP. 

 ö©õzu® P1 P2 P3 

÷|μi ‰»¨ö£õ¸mPÒ 5,000 4,000 600 400

÷|μi ÷Áø»¯õmPÒ 4,000 1,500 1,600 900

÷|μi ö\»ÄPÒ 800 500 300

EØ£zv ÷©Øö\»ÄPÒ 6,000 

 EØ£zv ÷©Øö\»ÄPÒ £À÷ÁÖ ö\¯À•øÓPÐUS 

÷|μi ÷Áø»¯õmPÒ Ai¨£øh°À 150% JxURk 

ö\´¯¨£mhx. EØ£zvPÒ 200 A»SPÒ. öuõhUP 

\μUQ¸¨¦PÒ CÀø» GÚ {øÚzxU öPõÒÍÄ®. 
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18. From the following data calculate the cost per mile 
of a vehicle : 

 Rs. 

 Value of vehicle   15,000 

 Road license for the year    500 

 Insurance charges per year     100 

 Garage rent per year     600 

 Drivers’ wages per month    200 

 Cost of petrol per litre     0.80 

 Miles per litre       8 

 Proportional charge for tyre and maintenance per 
mile 0.20 

 Estimated life 1,50, 000 miles. 

 Ignore interest on capital. 

 R÷Ç öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x J¸ 

ÁõPÚzvß J¸ ø©À yμ AhUPzøu PnUQkP. 

 ¹. 

 ÁõPÚzvß AhUP Âø»  15,000 

 \õø» E›©® (BskUS)    500 

 Põ¨¥k (BskUS)      100 
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 ÁõPÚ {ø»¯ ÁõhøP (BskUS)  600 

 Kmk|º T¼ J¸ ©õuzvØS    200 

 ö£m÷μõÀ AhUP® J¸ ¼mh¸US   0.80 

 J¸ ¼mhº ø©À yμ[PÒ      8 

 ÂQuõa\õμ A»Ä h¯º ©ØÖ® £Êx£õº¨¦ ö\»ÄPÒ 

J¸ ø©À yμ® 0.20 

 Gvº£õºUS® ÁõÌUøP 1,50,000 ø©ÀPÒ 

 •uÀ «uõÚ Ámiø¯ uÂºUPÄ®.  

19. You are given : 

 Margin of safety Rs. 10,000 which represents 40% 

of sales. P.V. ratio 50%. Calculate (a) Sales  

(b) Break even sales (c) Fixed cost (d) Profit. 

 u[PÐUS öPõkUP¨£mhøÁPÒ : 

 £õxPõ¨¦ ÂÎ®¦ ¹. 10,000 Gß£x ÂØ£øÚ°À 

40%. ÂØ£øÚ C»õ£ ÂQu® 50% GÛÀ  

 (A) ÂØ£øÚ (B)\© {ø» ÂØ£øÚ (C) {ø» 

AhUP® ©ØÖ® (D) C»õ£® BQ¯ÁØøÓ PnUQkP. 
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20. The following is a summary of the Trading and 
Profit and Loss Account of M/S Nikhil 
Manufacturing Co. Ltd., for the year ended 31st 
December, 1999 

To Materials Consumed 27,40,000 By Sales  

To Wages 15,10,000 (1,20,000 units) 60,00,000

To Factory Expenses 8,30,000 By Finished stock 

To Administration   (4,000 units) 1,60,000

     Expenses 3,82,400 By Work-in-progress: 

To Selling and        Materials 64,000

Distribution       Wages 36,000

To Expenses  4,50,000      Factory 

To Preliminary Expenses          Expenses 20,000

      (Written off)   40,000 By Dividends  

To Goodwill (written off)   20,000       Received  18,000

To Net Profit 3,25,600  

 62,98,000  62,98,000

 The company manufactures a standard unit. In 
the Cost Accounts.  

 (a) Factory expenses have been recovered from 
production at 20 per cent on prime cost; 

 (b) Administration expenses at Rs. 3 per unit on 
units produced  

 (c) Selling and distribution expenses at Rs. 4 
per unit on units sold. 

  You are required to prepare a statement of 
cost and profit in cost books of the company 
and to reconcile the profit disclosed with that 
shown in the Financial Accounts. 
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 M/S {UQÀ EØ£zv ÷Põ ¼ªöhmiß 1999 i\®£º 

31 B® |õ÷Íõk •iÁøh²® BsiØPõÚ Â¯õ£õμ 

C»õ£ |mh PnUS R÷Ç öPõkUP¨£mkÒÍx. 

‰»¨ö£õ¸Ò ~PºÄ 27,40,000 ÂØ£øÚ   

T¼ 15,10,000   (1,20,000 A»SPÒ) 60,00,000

Bø» ö\»Ä 8,30,000 •iÄØÓ ö£õ¸Ò  

{ºÁõPa ö\»Ä 3,82,400   (4,000 A»SPÒ) 1,60,000

ÂØ£øÚ ©ØÖ® ö\´x öPõsi¸US® ÷Áø» 

  £Qº©õÚ ö\»ÄPÒ 4,50,000 ‰»¨ö£õ¸mPÒ 64,000

÷£õUöPÊu¨£mh T¼  36,000

  öuõhUPa ö\»ÄPÒ   40,000 Bø»a ö\»ÄPÒ 20,000

|Øö£¯º £[Põuõ¯® ö£ØÓx  18,000

÷£õUöPÊu¨£mhx   20,000  

{Pμ C»õ£® 3,25,600  

 62,98,000  62,98,000
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 AhUP Âø»°À  

 (A) Bø»a ö\»ÄPÒ Ai¨£øh AhUPzvÀ 20% 

DºUP¨£mhx 

 (B) ÷©Øö\»ÄPÒ J¸ A»QØS ¹. 3 

 (C) ÂØ£øÚ ©ØÖ® ÷©Øö\»ÄPÒ J¸ A»S 

ÂØ£øÚUS ¹. 4 

  AhUP Âø» ©ØÖ® C»õ£ AÔUøPø¯ 

u¯õ›UP E[PÎh® ÷PmkU öPõÒÍ¨£kQÓx. 

÷©¾® {v°¯À PnUQß C»õ£zvøÚ 

öPõsk \›UPmk® £mi¯ø» u¯õ›UP. 

 

—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is the scope of Management Accounting? 

 ÷©»õsø©U PnUQ¯¾UPõÚ Áõ´¨¦UPÒ ¯õøÁ? 

2. Define Internal Analysis. 

 EÒ £S¨£õ´Ä ÁøμÂ»UPn® u¸P. 

3. What are the modes of expressing Ratios? 

 ÂQu[PøÍ öÁÎ¨£kzx® •øÓPÒ ¯õøÁ? 

4. Sales Rs.8 Crores; Cost of Goods sold Rs.4 Crores; 
Selling and Administrative overhead expenses 
Rs.2 crores. From the above, Calculate  

 (a) The Gross Profit Ratio and  

 (b) The Operating Ratio. 

 APRIL/MAY 2021

BCM62/BCP52 — MANAGEMENT 
ACCOUNTING 
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 ÂØ£øÚ ¹£õ´ 8 ÷PõiPÒ; ÂØ£øÚ ö\´u 

ö£õ¸mPÐUPõÚ AhUP Âø» ¹£õ´ 4 ÷PõiPÒ; 

ÂØ£øÚ ©ØÖ® {ºÁõPa ö\»ÄPÒ ¹. 2 ÷PõiPÒ. 

÷©ØTÔ¯ uPÁÀPÎ¼¸¢x  

 (A) ö©õzu C»õ£ ÂQu® ©ØÖ® 

 (B) C¯UP ÂQuzvøÚU PnUQkP. 

5. Mention the advantages of Cash Flow Statement. 

 £n¨¦ÇUP AÔUøP°ß |ßø©PøÍU SÔ¨¤kP. 

6. Distinguish between Funds Flow Statement and 
Cash Flow Statement. 

 £n¨¦ÇUP AÔUøP°øÚ {v Kmh 

AÔUøP°¼¸¢x ÷ÁÖ£kzxP. 

7. In which type of Industry is standard costing 
employed? 

 {ø»¯õÚ AhUPa ö\»Ä •øÓ°øÚ G¢u 

öuõÈØ\õø»PÒ ¤ß£ØÖQßÓÚ? 

8. Distinguish between Standard Costing and 
Budgetary Control. 

 {ø»¯õÚ AhUPa ö\»Ä •øÓ°øÚ 

vmhUPmk¨£õmk •øÓ°¼¸¢x ÷ÁÖ£kzxP. 

9. Define ‘Flexible Budget”. 

 ö|QÌÁõÚ vmhªhÀ ÁøμÂ»UPn® u¸P. 

10. What are the limitations of budgetary control? 

 vmhªhÀ Pmk¨£õmiß Áøμ¯øÓPÒ ¯õøÁ? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) Distinguish between Management 
Accounting and Cost Accounting. 

  ÷©»õs©U PnUQ¯ø» AhUPÂø»U 

PnUQ¯¼À C¸¢x ÷ÁÖ£kzxP. 

Or 

 (b) Dhandapani & Co. Ltd., furnishes the 
following Balance sheets for the years 2017 
and 2018. Prepare common-size balance 
sheets. 

Liabilities 2017  2018  Assets 2017 2018 

 Rs.  Rs.   Rs. Rs. 

Share capital 2,00,000  3,00,000  Buildings 4,00,000 4,00,000

Reserves 6,00,000  7,00,000  Machinery 6,00,000 10,00,000

10% Debentures 2,00,000  3,00,000  Stock 2,00,000 3,00,000

Creditors 3,00,000  5,00,000  Debtors 2,00,000 2,50,000

Bills payable 1,00,000  80,000  Cash at bank 1,00,000 50,000

Tax payable 1,00,000  1,20,000   

 15,00,000  20,00,000   15,00,000 20,00,000
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 ush£õÛ & ÷Põ ¼ªöhm {Ö©zvß 2017 ©ØÖ® 

2018 ® BsiØPõÚ C¸¨¦ {ø»U SÔ¨¤¼¸¢x 

ö£õxÁõÚ AÍÄ C¸¨¦ {ø»U SÔ¨¤øÚU 

Psk¤iUPÄ® 

ö£õÖ¨¦PÒ 2017  2018  ö\õzxUPÒ 2017 2018 

 ¹.  ¹.   ¹. ¹. 

£[S•uÀ 2,00,000  3,00,000  Pmih[PÒ 4,00,000 4,00,000

JxURkPÒ 6,00,000  7,00,000  C¯¢vμ® 6,00,000 10,00,000

10% PhÜmk¨    3,00,000  \μUS 2,00,000 3,00,000

£zvμ[PÒ 2,00,000    PhÚõÎPÒ 2,00,000 2,50,000

PhÜ¢÷uõºPÒ 3,00,000  5,00,000  Á[Q°¸¨¦ 

ö\¾zxuØS›¯  1,00,000  80,000  öμõUP® 1,00,000 50,000

©õØÖa^mk      

ö\¾zu¨£h  1,00,000  1,20,000   

÷Ási¯ Á›PÒ      

 15,00,000  20,00,000   15,00,000 20,00,000

12. (a) The following figures relate to the trading 
activities of a company for the year ended  
31-12-2017. 

Particulars Rs. Particulars Rs.

Sales 1,00,000 Salary of Salesmen 1,800

Purchases 70,000 Advertising 700

Closing stock 14,000 Travelling expenses 500

Sales returns 4,000 Salaries (office) 3,000

Dividend  Rent 6,000

received 1,200 Stationery 200
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Particulars Rs. Particulars Rs.

Profit on sale of Depreciation 1,000

fixed assets 600 Other expenses 2,000

Loss on sale of  Provision for tax 7,000

shares 300 

Opening stock 11,000 

  You are required to calculate: 

  (i) Gross Profit Ratio;  

  (ii) Operating Profit Ratio;  

  (iii) Operating Ratio and  

  (iv) Net Profit Ratio. 

  RÌUPõq® Â£μ[PÒ J¸ {Ö©zvß 

31.12.2017 ® |õ÷Íõk •iÁøh²® 

BsiØPõÚ Â¯õ£õμ |hÁiUøPPÎß 

öuõS¨¦ BS®. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹.

ÂØ£øÚPÒ 1,00,000 ÂØ£øÚ¨ ¤μv{va 

öPõÒ•uÀPÒ 70,000 \®£Í® 1,800

CÖva \μUQ¸¨¦ 14,000 ÂÍ®£μ® 700

ÂØ£øÚz   ÷£õUSÁμzxa  
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v¸¨£[PÒ 4,000 ö\»ÄPÒ 500

£[Põuõ¯®   \®£Í® (A¾Á»P®)3,000

ö£ØÓx 1,200 ÁõhøP 6,000

{ø»a ö\õzxUPÒ  GÊxö£õ¸Ò 200

ÂØ£øÚ «uõÚ   ÷u´©õÚ® 1,000

C»õ£® 600 Cuμa ö\»ÄPÒ 2,000

£[SPÒ ÂØ£øÚ  Á› ö\¾zxu¾UPõÚ

«uõÚ |mh® 300 JxURkPÒ 7,000

öuõhUP    

\μUQ¸¨¦ 11,000  

  ¤ßÁ¸ÁÚÁØøÓ PnUQkP 

  (i) ö©õzu C»õ£ ÂQu® 

  (ii) C¯UP C»õ£ ÂQu® 

  (iii) C¯UP ÂQu® ©ØÖ® 

  (iv) {Pμ C»õ£ ÂQu®. 
Or 

 (b) From the following particulars, calculate :  
  (i) Gross Profit Ratio 
  (ii) Net Profit Ratio and 
  (iii) Operating Ratio. 
   Sales = Rs.5,00,000; Cost of goods sold 

Rs.3,00,000;  
   Operating expenses = Rs.1,00,000;  
   Non-operating expenses = Rs.20,000. 
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  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x  

  (i) ö©õzu C»õ£ ÂQu® 

  (ii) {Pμ C»õ£ ÂQu® ©ØÖ®  

  (iii) C¯UP ÂQuzvøÚU Psk¤iUPÄ® 

   ÂØ£øÚPÒ ¹ 5,00,000; ÂØÓ 

ö£õ¸ÐUPõn AhUP® ¹. 3,00,000; 

C¯UPa ö\»ÄPÒ ¹. 1,00,000; C¯UP©ØÓ 

ö\»ÄPÒ ¹. 20,000. 

13. (a) Calculate the funds from operations from the 
information given below as on 31st Dec.2018. 

  (i) Net profit for the year ended 
31.12.2018 Rs.13,00,000. 

  (ii) Rs.2,50,000 have been transferred to 
the general reserve fund. 

  (iii) Depreciation has been provided during 
the year on machinery and furniture at 
20% whose total cost is Rs.13,00,000. 

  (iv) Old machinery worth Rs.16,000 has 
been sold for Rs.13,000 during the year. 

  (v) Goodwill appears in the books at 
Rs.3,60,000 out of that 10% has been 
written off during the year 

  (vi) Gain on sale of building Rs.71,000. 
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  R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x 

i\®£º 31, 2018 ® BsiØPõÚ ö\¯À£õmk 

{v°øÚU PnUQhÄ®. 

  (i) 31.12.2018 ® |õ÷Íõk •iÁøh²® 

BsiÓUõÚ {Pμ C»õ£® ¹. 13,00,000 

  (ii) ¹. 2,50,000 ö£õxU Põ¨¦ {vUS 

©õØÓ¨£mhx 

  (iii) C¯¢vμ® ©ØÖ® AøÓP»ÝUS 

AÝ©vzu ÷u´©õÚ® 20% AÁØÔß 

ö©õzu AhUP® ¹. 13,00,000 

  (iv) |h¨¦ BsiÀ ¹. 16,000 ©v¨¦ÒÍ 

£øÇ¯ C¯¢vμ® ¹. 13,000 zvØS 

ÂØ£øÚ ö\´¯¨£mhx. 

  (v) HkPÎÀ Ch®ö£ØÔ¸US® |Øö£¯º  

¹. 3,60,000 zvÀ 10% |h¨¦ BsiÀ 

÷£õUöPÊu¨£mhx. 

  (vi) Pmih ÂØ£øÚ°À HØ£mh Buõ¯®  

¹. 71,000. 

Or 
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 (b) From the figures given below, calculate cash 
from operations: 

Particulars December 31 

 1998  1999  

 Rs. Rs. 

Trade debtors 1,50,000 1,30,000

Bills receivable 50,000 40,000

Stock-in-trade 1,20,000 1,45,000

Prepaid expenses 30,000 25,000

Accrued income 20,000 27,500

Sundry creditors 80,000 1,10,000

Outstanding expenses 4,000 5,000

Bills payable 30,000 25,000

Income received in advance 3,000 4,000

Profit made during the year 7,50,000



 

 1069 10

 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x 

ö\¯À£õkPÎÀ C¸¢x ö£Ó¨£k® öμõUPzvøÚU 

Psk¤iUPÄ®. 

Â£μ[PÒ i\®£º 31 

 1998  1999  

 ¹. ¹. 

PhÚõÎPÒ 1,50,000 1,30,000

ö£ÖuØS›¯ ©õØÖa^mk 50,000 40,000

\μUQ¸¨¦ 1,20,000 1,45,000

•ßTmia ö\¾zv¯ ö\»ÄPÒ 30,000 25,000

ö£Ó¨£h÷Áshi¯ Á¸©õÚ® 20,000 27,500

£Ø£» PhÜ¢÷uõºPÒ 80,000 1,10,000

öPõk£h÷Ási¯ ö\»ÄPÒ 4,000 5,000

ö\¾zuØS›¯ ©õØÖa^mk 30,000 25,000

•ßTmi ö£ØÓ Á¸©õÚ® 3,000 4,000

|h¨¦ BsiÀ Dmi¯ C»õ£® 7,50,000
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14. (a) From the following data, calculate: 

  (i) Material cost variance 

  (ii) Material price variance 

  (iii) Material usage variance, separately for 
A and B. 

Material Standard  Standard  Actual  Actual 
 quantity kg price quantity kg price 

A 50 4 60 3.75 
B 75 5 90 4.50 
 125  150  

  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x 

  (i) ‰»¨ö£õ¸Ò ö\»Ä ©õÖ£õk 

  (ii) ‰»¨ö£õ¸Ò Âø» ©õÖ£õk 

  (iii) ‰»¨ö£õ¸Ò £¯ß£õk ÷ÁÖ£õmiøÚ 

‰»¨ö£õ¸Ò A ©ØÖ® B US 

uÛzuÛ¯õPU PnUQhÄ® 

‰»¨ö£õ¸Ò {ø»¯õÚ {ø»¯õÚ Esø© Esø©

 AÍÄPÒ Kg Âø» AÍÄ Âø»

A 50 4 60 3.75 

B 75 5 90 4.50 

 125  150  

Or 
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 (b) From the following data, calculate labour 
variances for the two departments: 

Particulars Dept. A Dept. B

 Rs. Rs. 

Actual gross wages (direct) 20,000 18,000

Standard hours produced 12,000 9,000

Standard rate per hour 2 2.50

Actual hours worked 12,300 8,700

  R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÍ¼¸¢x 

öuõÈ»õÍº ©õÖ£õkPøÍ Cμsk 

xøÓPÐUS® PnUQhÄ® 

Â£μ[PÒ xøÓ AxøÓ B

 ¹. ¹. 

Esø©¯õÚ ö©õzuU T¼PÒ (÷|μi) 20,000 18,000

EØ£zvUPõÚ {ø»¯õÚ EØ£zv ÷|μ® 12,000 9,000

{ø»¯õÚ EØ£zv ÷|μ Ãu® 2 2.50

Esø©°À ÷Áø» ö\´u ÷|μ® 12,300 8,700
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15. (a) From the following data, prepare a 
production budget for the ABC & Co. Ltd: 
Stock for the budgeted period: 

Product  As on 1st January As on 30th June

A 8,000 10,000

B 9,000 8,000

C 12,000 14,000

 
Requirements to fulfil sales 

programme 
Normal loss in 

production 

A 60,000 units  A 4% 

B 50,000 units B 2% 

C 80,000 units C 6% 

  RÌPõq® Â£μ[PÎ¼¸¢x H¤] & ÷Põ. 

¼ªöhm {ÖÁÚzvß EØ£zvz vmhªhø»U 

PnUQhÄ®. 

  vmhªmh Põ»zvØPõÚ \μUQ¸¨¦ 

ö£õ¸Ò  As on 1st January As on 30th June

A 8,000 10,000

B 9,000 8,000

C 12,000 14,000
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ÂØ£øÚø¯ {øÓÄ ö\´¯z 

÷uøÁ¯õÚøÁ 

EØ£zv°À \õuõμn 

|mh® 

A 60,000 units  A 4% 

B 50,000 units B 2% 

C 80,000 units C 6% 

Or 

 (b) The expenses budgeted for production  
of 5,000 units in a factory are furnished 
below: 

Particulars Per unit Rs. 

Materials 40 

Labour 30 

Direct expenses 20 

Factory expenses (30% fixed) 30 

Selling and Distribution   

expenses (15% fixed) 20 

Administration expenses   

(100% fixed) 5 

 Prepare a flexible budget for production of  

  (i) 4,000 units and  

  (ii) 7,000 units and also calculate the cost 
per unit at those levels of production. 
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  J¸ öuõÈØ\õø»°À 5000 ³Ûm EØ£zvUPõÚ 

ö\»ÄPÒ vmhªh¨£mk R÷Ç 

öPõkUP¨£mkÒÍx 

Â£μ[PÒ Per unit Rs.

‰»¨ö£õ¸mPÒ 40

öuõÈ»õÍº 30

÷|μia ö\»ÄPÒ 20

öuõÈØ\õø»a ö\»ÄPÒ (30% {ø»¯õÚx) 30

ÂØ£øÚ ©ØÖ® £Qº¢uÎzuÀ 

ö\»ÄPÒ (15% {ø»¯õÚx) 20

{ºÁõPa ö\»ÄPÒ 

(100 {ø»¯õÚx) 5

 RÌUPõq® EØ£zvUPõÚ ö|QÌÁõÚ £möámøh 

u¯õ›UPÄ®. 

 (i) 4,000 ³ÛmPÒ ©ØÖ® 

 (ii) 7,000 ³ÛmPÒ ©ØÖ® C¢u EØ£zv 

AÍÂØPõÚ ö\»ÄPÒ J¸ ³ÛmkUS BS® 

ö\»ÂøÚU PnUQhÄ®. 
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SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. From the following profit and loss account of 
Eveready Co. Ltd., for the year ending on  
31st  March 2018 and 2019, you are required to 
prepare a comparative income statement and 
comment on the performance: 

Particulars Year ended Year ended 

 31.3.2019 31.3.2018

 Rs. Rs. 

Sales 12,80,000 9,60,000

Less: Cost of goods sold 7,12,000 4,96,000

Gross profit 5,68,000 4,64,000

Less: Administrative  

expenses 2,56,000 1,76,000

Selling expenses 1,44,000 1,68,000

Interest charges 6,400 9,600

 4,06,400 3,53,600

Net profit before income tax 1,61,600 1,10,400

Less income tax @ 50% 80,800 55,200

 80,800 55,200
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 GÁöμi P®ö£Û ¼ªöhm {Ö©zvß ©õºa 31, 2018 

©ØÖ® 2019 ® ¡ØÓõsiØPõÚ R÷Ç 

öPõkUP¨£mkÒÍ C»õ£ |mhU PnUQ¼¸¢x 

J¨¥mk Á¸©õÚ AÔUøPø¯ u¯õº ö\´¯Ä® 

©ØÖ® ö\¯ÀvÓß SÔzx P¸zxU TÓÄ® 

Â£μ[PÒ Year 
ended  

Year 
ended  

 31.3.2019 31.3.2018

 ¹. ¹. 

ÂØ£øÚPÒ 12,80,000 9,60,000

PÈUP : ÂØ£øÚ ö\´u:  

ö£õ¸ÐUPõÚ AhUP® 7,12,000 4,96,000

ö©õzu C»õ£® 5,68,000 4,64,000

PÈUP : {ºÁõPa  

ö\»ÄPÒ 2,56,000 1,76,000

ÂØ£øÚ ö\»ÄPÒ 1,44,000 1,68,000

ÁmiU Pmhn[PÒ 6,400 9,600

 4,06,400 3,53,600

Á¸©õÚÁ›US •¢øu¯ {Pμ 

C»õ£® 

1,61,600 1,10,400

PÈUP : Á¸©õÚ Á›PÒ 80,800 55,200

 80,800 55,200
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17. Prepare the balance sheet from the following 
ratios 

Current ratio 2.5 

Total assets/Net worth 3.5 

Sales/fixed assets 6 

Sales/current assets 8 

Sales/inventory 15 

Sales/debtors 18 

Annual sales Rs. 25,00,000 

 R÷Ç öPõkUP¨£mkÒÍ ÂQu[PÎ¼¸¢x C¸¨¦ 

{ø»U SÔ¨¤øÚz u¯õ›UPÄ® 

|h¨¦ ÂQu® 2.5 

ö©õzua ö\õzxUPÒ/{Pμ ©v¨¦ 3.5 

ÂØ£øÚPÒ/{ø»a ö\õzxUPÒ 6 

ÂØ£øÚPÒ/|h¨¦a ö\õzxUPÒ 8 

ÂØ£øÚPÒ/\μUQ¸¨¦ 15 

ÂØ£øÚPÒ/PhÚõÎPÒ 18 

Bsk ÂØ£øÚPÒ Rs. 25,00,000 
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18. From the following Balance Sheets of Sun 
Company Ltd., as on 31st December 2017 and  
31st December 2018, prepare : 

 (a) A schedule of changes in working capital and  

 (b) Funds flow statement 

Balance sheet 

Liabilities 2016  2015  Assets 2016 2015 

 Rs.  Rs.   Rs. Rs. 

Equity share      Furniture  

capital 3,00,000  4,00,000  (at cost) 1,00,000 1,20,000

Share premium –  10,000  Less:  

General reserve 1,00,000  1,20,000  depreciation 56,000 68,000

Profit and loss A/c 40,000  70,000   44,000 52,000

Debentures 2,00,000  1,50,000  Good will 20,000 16,000

Bills payable 50,000  40,000  Long term 

Trade creditors 70,000  80,000  investments 80,000 1,04,000

Outstanding     Stock 5,08,000 5,72,000

expenses 4,000  2,000  Debtors 62,000 56,000

     Cash bank 44,000 62,000

     Discount on 

     debentures 6,000 10,000

 7,64,000  8,72,000   7,64,000 8,72,000
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 R÷Ç öPõkUP¨£mkÒÍ \ß P®ö£Û ¼ªöhm 

{Ö©zvß i\®£º 31, 2017 ©ØÖ® 2018 ® |õøÍ¯ 

C¸¨¦ {ø»U SÔ¨¤¼¸¢x 

 (A) ©õÖ£k® |øh•øÓ ‰»uÚ AmhÁøn 

©ØÖ® 

 (B) {v Kmh AÔUøPø¯ u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2016  2015  ö\õzxUPÒ 2016 2015 

 ¹.  ¹.   ¹. ¹. 

\õuõμn £[S      AøÓP»ß 

•uÀ 3,00,000  4,00,000  (AhUP®) 1,00,000 1,20,000

£[S •øÚ©® –  10,000  PÈUP:  

ö£õxU Põ¨¦ 1,00,000  1,20,000  ÷u´©õÚ® 56,000 68,000

C»õ£ |mhU 

PnUS 
40,000  70,000   44,000 52,000

PhÜmk¨ 

£zvμ[PÒ 
2,00,000  1,50,000  |Øö£¯º 20,000 16,000

ö\¾zxuØS›¯ 

©õØÖa^mk 
50,000  40,000  }sh Põ» 

PhÜ¢÷uõºPÒ 70,000  80,000  •u½kPÒ 80,000 1,04,000

öPõk£h 

÷Ási¯ 
    \μUQ¸¨¦ 5,08,000 5,72,000

ö\»ÄPÒ 4,000  2,000  PhÚõÎPÒ 62,000 56,000

     Á[Q°¸¨¦ 

öμõUP® 
44,000 62,000

     PhÜmk¨ 

£zvμ[PÒ 

     «uõÚ 

uÒÐ£i 
6,000 10,000

 7,64,000  8,72,000   7,64,000 8,72,000
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19. Calculate the labour variances from the following 
information: 

Standard Wages:  

Grade ‘A’ = 80 abourers at Rs.3 per hour 

Grade ‘B’ = 50 labourers at Rs.4 per hour 

Actual Wages  

Grade ‘A’ = 70 labourers at Rs3.50 per hour 

Grade ‘B’ = 60 labourers at Rs.3.00 per hour 

Budgeted hours = 1,200 

Actual hours = 1,100 

Budgeted gross   

production = 6,000 units 

Standard loss 20% 

Actual loss 800 units 
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 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x 

öuõÈ»õÍº ÷ÁÖ£õkPøÍ PnUQhÄ® 

{ø»¯õÚ T¼PÒ:  

Grade ‘A’ = 80 öuõÈ»õÍºPÒ J¸ ©o ÷|μzvØS ¹. 3 

Ãu® 

Grade ‘B’ = 50 öuõÈ»õÍºPÒ J¸©o ÷|μzvØS ¹. 4 

Ãu® 

Esø©¯õÚ T¼PÒ  

Grade ‘A’ = 70 öuõÈ»õÍºPÒ J¸ ©o ÷|μzvØS ¹. 3.50 

Ãu® 

Grade ‘B’ = 60 öuõÈ»õÍºPÒ J¸ ©o ÷|μzvØS ¹. 3.00 

Ãu® 

vmhªmh ©ozxÎPÒ 1,200 

Esø©¯õÚ 

©ozxÎPÒ 

1,100 

vmhªh¨£mh   

ö©õzu EØ£zv 6,000 units 

\õuõμn |mh® 20% 

Esø©¯õÚ |mh® 800 units 
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20. Draw up a flexible budget for overhead expenses 
on the basis of the following data and determine 
the overhead rates at 70%, 80% and 90% plant 
capacity. 

Particulars 

At 70%  
capacity 

Rs. 

At 80%  
capacity  

Rs. 

At 90%
capacity 

Rs. 

Variable overheads :    

Indirect labour – 12,000 – 

Stores including spares – 4,000 – 

Semi-variable overheads:    

Power (30% fixed, 70% variable) – 20,000 – 

Repairs and maintenance – 2,000 – 

(60% fixed, 40% variable)    

Fixed overheads:    

Depreciation – 11,000 – 

Insurance – 3,000 – 

Salaries – 10,000 – 

Total overheads – 62,000  

Estimated direct labour hour  1,24,000 hours  

 ¤ßÁ¸® uPÁÀPøÍU öPõsk ö|QÌÄ vmh 

£mi¯ø» u¯õº ö\´P. AÍÄPÒ 70%, 80% ©ØÖ® 

90%. 

ÂÁμ[PÒ 

70% 

AÍÄ

80%  

AÍÄ 

90% 

AÍÄ

©õÖ£k® ö\»ÄPÒ :    
©øÓ•P T¼ – 12,000 – 
£shP® (©) E£›PÒ – 4,000 – 
{ø» – ©õÖ£k® ö\»ÄPÒ :    
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ÂÁμ[PÒ 

70% 

AÍÄ

80%  

AÍÄ 

90% 

AÍÄ

ªß\õμ® (30% {ø»,  
70% ©õÖ£k®) – 20,000 – 
£Êx£õº¨¦ (©) £μõ©›¨¦ – 2,000 – 
(60% {ø», 40% ©õÖ£k®)    
{ø» ö\»ÄPÒ:    
÷u´©õÚ® – 11,000 – 
Põ¨¥k – 3,000 – 
\®£Í® – 10,000 – 
ö©õzu ö\»ÄPÒ – 62,000  

Gvº£õºUP¨£mh £o¯õÍº ÷|μ[PÒ  
1,24,000 
©oPÒ  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL the questions. 

1. State the formula for the calculation of Goodwill 
under super profit method? 

 ªøP »õ£ •øÓ°À |Øö£¯º ©v¨¦ 

PnUQkÁuØPõÚ `zvμzøuU TÖP. 

2. What do you understand by Net Asset method of 
valuation of shares? 

 £[S ©v¨¤h¼ß {Pμ ö\õzx •øÓ £ØÔ }Âº 

AÔÁx GßÚ? 

3. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº Gß£Áº ¯õº? 

4. What is deficiency Account? 

 £ØÓõUSøÓ PnUS Gß£x ¯õx? 

5. What do you mean by statutory reserve? 

 \mh•øÓ Põ¨¦ GßÓõÀ GßÚ? 
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6. Define insurance. 

 Põ¨¥k C»UPn® u¸P. 

7. What do you mean by cost of control? 

 Pmk¨£õmk AhUP® GßÓõÀ GßÚ? 

8. What do you mean by subsidiary company? 

 xøn {Ö©® Gß£x £ØÔ }Âº AÔÁx GßÚ? 

9. Define Inflation Accounting. 

 £nÃUP PnUQ¯À C»UPn® u¸P. 

10. What is current purchasing power Accounting? 

 |h¨¦ öPõÒ•uÀ vÓß PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) A firm earned net profits during the last 
three years as follows 

  I Year  :  Rs.54,000 

  II Year  :  Rs.60,000 

  III Year  :  Rs.66,000 
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  The capital investment of the firm is 
Rs.1,00,000. A fair return on the capital, 
having regard to the risk involved is 25% 

  Calculate the value of Goodwill on the basis 
of 3 years purchase of super profit. 

  J¸ {ÖÁÚ® Ph¢u 3 BskPÎÀ RÌPsh 

»õ£zvøÚ Dmi¯x 

  I Á¸h®  :  ¹.54,000 
  II Á¸h®  :  ¹.60,000 
  III Á¸h®  :  ¹.66,000 
  {ÖÁÚzvß •uÀ •u½k ¹.1,00,000 BS®. 

öuõÈ¼À HØ£k® Chøμ P¸zvÀ öPõsh 

•uÀ «uõÚ {¯õ¯©õÚ Á¸Áõ´ 25% BS®. 
  3 Bsk ªøP »õ£ öPõÒ•uÀ Ai¨£øh°À 

|Øö£¯º ©v¨ø£U PnUQkP. 
Or 

 (b) Balance sheet of Norton Company as on 
31.12.2002. 

Liabilities Rs. Assets Rs. 
200 equity 
shares of 
Rs.100 each 

2,00,000 Good will 10,000

6% pref. 
shares of 
Rs.100 each 

50,000 Machinery 1,00,000

Reserve 
fund 

50,000 Stock 30,000
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Profit and 

loss a/c 

20,000 Debtors 60,000

Debentures 12,000 Cash 1,00,000

Creditors 8,000 Preliminary 

expenses 

40,000

 3,40,000  3,40,000

  Depreciation Machinery by Rs.25,000. 

Average profit of last five years Rs.15,000. 

Take Goodwill on the basis of 3 years 

purchases. Calculate the value of equity 

shares. 

  31.12.2002 AßÖ |õºhõß {Ö©zvß C¸¨¦ 

{ø»USÔ¨¦ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

¹.100 

©v¨¦ÒÍ 200 

\© £[SPÒ 

2,00,000 |Øö£¯º 10,000

¹.100 

©v¨¦ÒÍ 

6%•ßÝ›ø©¨ 

£[SPÒ 

50,000 C¯¢vμ® 1,00,000
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Põ¨¦ {v 50,000 \μUQ¸¨¦ 30,000
C»õ£ |mh P/S 20,000 PhÚõÎPÒ 60,000
Phß £zvμ® 12,000 öμõUP® 1,00,000
PhÜ¢÷uõº 8,000 ÷uõØÖÂ¨¦ 

ö\»ÄPÒ 

40,000

 3,40,000  3,40,000

  C¯¢vμzvß «x ¹.25,000 ÷u´©õÚ® ö\´P. 

Ph¢u 5 BskPÎÀ \μõ\› »õ£® ¹.15,000. 3 

Bsk öPõÒ•uÀ Ai¨£øh°À |Øö£¯º 

GkzxU öPõÒÍÄ® \©£[SPÎß ©v¨ø£U 

PnUQkP. 

12. (a) Explain the preferential creditors as given 
under the India companies Act. 

  C¢v¯ {Ö©a \mhzvÀ TÓ¨£mkÒÍ 

•ßÝ›ø© PhÜ¢÷uõº £ØÔ ÂÁ›. 

Or 

 (b) From the following information. Prepare 
liquidator final statement of account. 

 Rs. 

Cash at bank 1,00,000

Surplus from securities 10,10,000

Expense of liquidation 30,000

Liquidator’s remuneration 7,000
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Preferential creditors 2,00,000

Unsecured creditors 7,00,000

Preference shareholders 1,00,000

Equity shareholders 1,00,000

  RÌPsh ÂÁμ[PÎÀ C¸¢x Pø»¨£õÍ›ß 

CÓvU PnUS AÔUøPø¯ u¯õ›UPÄ® 

 ¹ 

Á[Q°¸¨¦ öμõUP® 1,00,000

¤øn¯[PÎß E£› 10,10,000

Pø»¨¦a ö\»ÄPÒ 30,000

Pø»¨£õÍº Fv¯® 7,000

•ßÝ›ø©U PhÜ¢÷uõº 2,00,000

¤øn¯©ØÓ PhÜ¢÷uõº 7,00,000

•ßÝ›ø© £[SuõμºPÒ 1,00,000

\© £[SuõμºPÒ 1,00,000

13. (a) Give the particulars that come under 
schedule 13 of a banking company. 

  J¸ Á[Q°ß åμzx–13–CÀ EÒÍ 

Â£μ[PøÍz u¸P. 

Or 



 3171 7

 (b) From the following details, prepare fire 
Revenue account for the year 2006 

 Rs. 

Claims paid 2,35,000

Law charges 5,000

Management expenses 1,50,000

Reserve for unexpired risk 1.01.06 2,60,000

Premium received 6,00,000

Reinsurance premium 60,000

Commission 1,00,000

Claims outstanding 01.01.2006 20,000

Claims outstanding 31.12.2006 35,000

  ¤ßÁ¸® Â£μ[PÎÀ C¸¢x 2006–B® 

BskUPõÚ w Põ¨¥mk Á¸Áõ°Ú PnUøPz 

u¯õº ö\´P. 

 ¹. 

÷PõμÀPÒ ö\¾zv¯x 2,35,000

\mh ö\»ÄPÒ 5,000

÷©»õsø© ö\»ÄPÒ 1,50,000

Põ»õÁv¯õPõu ChºPÐUPõÚ JxURk 1.1.06 2,60,000

•øÚ©® ö£ØÓx 6,00,000
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©ÖPõ¨¥mk •øÚ©® 60,000

PÈÄ 1,00,000

öPõk£h÷Ási¯ ÷Pm¦›ø© 1.1.06 20,000

öPõk£h ÷Ási¯ ÷Pm¦›ø© 31.12.06 35,000

14. (a) From the following balance sheets of “A” ltd 
company and its subsidiary “B” ltd company, 
prepare consolidated balance sheet. 

Liabilities A 
Rs. 

 B 
Rs. 

Assets A 
Rs. 

B 
Rs. 

Share capital 
of Rs.10 each 

20,000  10,000 Sundry Assests 20,000 15,500

Sundry 
liabilities 

10,000  5,000 Investment in 
shares of B ltd co. 
(1000 shares) 

10,000 -

 30,000  15,000  30,000 15,000

  RÌUPsh A ¼ªöhm {Ö©® ©ØÖ® Auß 

xøn {Ö©® B–¼ªöhm {Ö©zvß 

C¸¨¦{ø»U SÔ¨¤¼¸¢x J¸[Qøn¢u 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ A 
¹. 

 B 
¹. 

ö\õzxUPÒ A 
¹. 

B 
¹. 

¹.10 

©v¨¦ÒÍ 

20,000  10,000 £» ÁøP 

ö\õzxUPÒ 

20,000 15,500
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£[S ‰»uÚ® 

£Ø£» 

ö£õÖ¨¦PÒ 

10,000  5,000 B–¼m {Ö© 

£[SPÎÀ •u½k 

(1000-– £[SPÒ) 

10,000 -

 30,000  15,000  30,000 15,000

Or 

 (b) Prepare a consolidated balance sheet of H ltd 
and S ltd from the following 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

 Assets H Ltd
Rs. 

S Ltd
Rs. 

Share 
capital 
(Shares of 
Rs. 1 each) 

 
 

12,000 

  
 

6,000 

 Sundry 
Assets 

20,000

12,000

Reserve 3,000  2,000  Investment
     (6000 

shares in S 
ltd) 

7,500 -

P and L a/c 2,000  1,000   
Creditors 10,500  3,000   
 27,500  12,000   27,500 12,000

  H ltd acquired two shares on 31.3.2000.  

  ¤ßÁ¸® Â£μ[PÎÀ C¸¢x H {Ö©® ©ØÖ® 

S {Ö©[PÎß J¸[Qøn¢u C¸¨¦{ø»U 

SÔ¨ø£z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ H ¼m 

Rs. 
 S ¼m 

Rs. 
 ö\õzxUPÒ H ¼m 

Rs. 
S ¼m

Rs. 
£[S •uÀ 

(£[S JßÖ  

¹.1 Ãu®) 

12,000  6,000  £Ø£» 

ö\õzxPÒ 

20,000 12,000

Põ¨¦ 3,000  2,000  •u½kPÒ 
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C»õ£ |mh 

P/S 

2,000  1,000  (S 

{Ö©zvß 

6000 

£[SPÒ) 

7,500 -

PhÜ¢÷uõº 10,500  3,000   
 27,500  12,000   27,500 12,000

 31.3.2000 AßÖ H ¼ªöhm Cμsk £[SPøÍ 

Áõ[Q¯x. 

15. (a) What are the advantages of Inflation 

accounting? 

  £nÃUPU PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Anand ltd, started business on 1.1.2000 with 

a capital of Rs.1,00,000 for which property 

was acquired. After 5 years of business the 

property was sold for Rs.1,50,000. In the 

mean time the general price index has risen 

from 100 to 130 and the specific index has 

risen from 100 to 145. Indicate the profit 

made if the capital is to be maintained on the 

basic of 

  (i) HCA 

  (ii) CPP 
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  BÚ¢z ¼ªöh® 01.01.2020 AßÖ ¹.1,00,000 

•u½mkhß öuõÈø» Bμ®¤zuÚº. A¢u 

£nzvØS ö\õzxUPÒ ÁÇ[P¨£mhx. öuõÈÀ 

Bμ®¤zx 5 Á¸h[PÒ PÈzx A¢u ö\õzxUPÒ 

¹.1,50,000 US ÂØP¨£mhx. C¢u Põ» 

CøhöÁÎ°À ö£õx Âø» SÔ±k 100 

¼¸¢x 130ØS® SÔ¨¤mh SÔ±k 100 ¼¸¢x 

145 US® E¯¢ux. 

  (i) HCA 

  (ii) CPP •øÓ°À •uÀ £μõ©›UP¨£kQÓx 

GßÓõÀ, {ÖÁÚ® Dmi¯ C»õ£zøuU 

PnUQkP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following is the balance sheet of Ex ltd as on 
Dec 31, 2007. 
Liabilities Rs. Assets Rs. 

3000 equity 
shares capital of 
Rs.100 each 

3,00,000 Cash in 
hand 

2,000

1,500 8% 
preference shares 
capital of Rs.100 
each 

1,50,000 Cash at 
bank 

20,000

General Reserve 
A/c 

40,000 Sundry 
debtors 

80,000
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Liabilities Rs. Assets Rs. 
P and L a/c 10,000 Stock in 

trade 
1,40,000

Bank loan a/c 50,000 Land and 
Building 

2,05,000

Sundry creditors 15,000 Furniture 30,000
  Good will 70,000
  Discount on 

shares 
18,000

 5,65,000  5,65,000

 The values of assets to is assessed as follows 
 (a) Furniture to be depreciated at 10% 
 (b) Value of stock in trade, land and building 

and goodwill is estimated at Rs.1,20,000, 
Rs.2,50,000 and Rs.80,000 respectively. 

 (c) Debtors are expected to realise 80% book 
value. 

  Find out the value of equity share. 

 31 i\®£º 2007  AßøÓ Ex–¼ªöhm–iß C¸¨¦ 

{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

¹.100 ©v¨¦ÒÍ 

3,000 \© £[S 

•uÀ ¹.100 

©v¨¦ÒÍ 1,500 

8% 

3,00,000 øP°¸¨¦ 

öμõUP® 

2,000

•ßÝ›ø© £[S 1,50,000 Á[Q°¸¨¦ 20,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ öμõUP® 

ö£õx Põ¨¦ 40,000 £Ø£» 

PhÚõÎPÒ 

80,000

C»õ£ |mh P/S 10,000 \μUQ¸¨¦ 1,40,000

Á[Q Phß 50,000 {»® ©ØÖ® 

Pmih® 

2,05,000

PhÜ¢÷uõº 15,000 AøÓP»ßPÒ 30,000

  |Øö£¯º 70,000

  £[SPÒ 

«uõÚ Ámi 

18,000

 5,65,000  5,65,000

 ö\õzxUPÎß «uõÚ ©v¨¦ RÌPshÁõÖ 

©v¨¤h¨£mhx 

 (A) AøÓP»ß «x 10% ÷u´©õÚ® HØ£kzu 

÷Ásk® 

 (B) \μUQ¸¨¦, {»® ©ØÖ® Pmih® ©ØÓ® |Øö£¯º 

©v¨¦ •øÓ÷¯  ¹.1,20,000 ¹.2,50,000 ©ØÖ® 

¹.80,000 GÚ ©v¨¤h¨£mhx. 

 (C) PhÚõÎPÒ Hmk ©v¨¤À 80% Á`»õS® 

\©£[Qß ©v¨ø£U Psk¤i. 
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17. The balance sheet of XYZ ltd at the time of 
liquidation give below 

Balance sheet of XYZ ltd as on 1.1.2008 

Liabilities Rs. Assets Rs. 

Equity share 
capital 
(Rs.10) 

2,00,000 Fixed Assets 2,00,000

Debentures 1,00,000 Stock 50,000

Loans 50,000 Sundry 
debtors 

1,25,000

Creditors 50,000 Cash 5,000

  Profit and 
loss a/c 

20,000

 4,00,000  4,00,000

 Fixed assets are sold for Rs.1,20,000 to a 
debenture holder holding Rs.40,000 debenture and 
cash is received after set of cash realised from 
debtors was Rs.80,000 and the liquidation 
expenses amounted to Rs.1,000. Liquidator is paid 
Rs.1,000 fixed allowance plus 2% of commission on 
collection including cash in hand Rs.5,000 as 
remuneration stock is sold for Rs.10,0000. 

 Prepare Liquidator’s statement of account. 
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 {Ö© Pø»¨¦ AßÖ XYZ ¼ªöhmiß C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ 

 01.01.2008 AßøÓ¯ XYZ ¼ªöhmiß C¸¨¦ 

{ø»USÔ¨¦. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

\©£[S •uÀ 

(¹.10 Ãu®) 

2,00,000 {ø»a 

ö\õzxUPÒ 

2,00,000

Phß 

£zvμ[PÒ 

1,00,000 \μUQ¸¨¦ 50,000

PhßPÒ 50,000 £Ø£» 

PhÚõÎPÒ 

1,25,000

PhÜ¢÷uõº 50,000 öμõUP® 5,000

  C»õ£ |mh 

P/S 

20,000

 4,00,000  4,00,000

 ¹.40,000 Phß £zvμ[PÒ øÁzxÒÍ J¸ Phß£zvμ 

uõμ¸US {ø»a ö\õzxUPÒ ¹.1,20,000 ØS ÂØ£øÚ 

ö\´¯¨£mk AÁº Phß ÷£õP «vz öuõøP 

ö£Ó¨£mhx. PhÚõÎPÎhª¸¢x ö£ØÓ öuõøP 

¹.80,000 ©ØÖ® Pø»¨¦a ö\»ÄPÒ ¹.1,000 

{ø»¯õÚ £i BP ¹.1,000 ® øP°¸¨¦ öμõUP® 

¹.5,000 EÒÎmh Á`¼À 2% PÊÄ®, 

Pø»¨£õÍ¸US Fv¯©õP ö\¾zu¨£mhx. 

 \μUQ¸¨¦ ¹.10,000ØS ÂØP¨£mhx Pø»¨£õÍ›ß 

{ø»U PnUøPz u¯õ›UPÄ®. 
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18. From the following particulars of XY bank limited 
having its own premises, Prepare the balance 
sheet in the prescribed form as on 31st March 
2008. 

 Rs. 
(1000) 

 Rs. 
(1000)

Authorised capital 4,000 Telegraphic 
transfer 
payable 

800

Issued and paid up 
capital (4,00,000 
share of Rs.10 
each Rs.5 paid up) 

2,000 Bank drafts 
payable 

1,200

Investment 7,000 Short loans 40

Bills discounted 15,000 Debate on 
bills 
discounted 

10

Profit and loss a/c 
(cr) 

850 Acceptance 
for customers 

5,000

Endrasement on 
bills for collection  

100 Loans and 
advances 

10,000

Liability for 
customers 
acceptance 

5,000 Cash credits 10,000

Money at call and 
short notice 

9,000 Over drafts 1,000

Cash in hand 2,000 Bills 
purchased 

1,000



 3171 17

 Rs. 
(1000) 

 Rs. 
(1000)

Cash with RBI 4,000 Current and 
Deposit 
accounts 

56,000

Reserves 3,000 Investment 
fluctuation 
fund 

100

  Bills for 
collection 

100

  Letters for 
credit 

500

  Cash with 
SBI 

4,000

 ¤ßÁ¸® Â£μ[PÎÀ C¸¢x, ö\õ¢u©õÚ C¸¨¤h® 

öPõsh XY Á[Q°ß 31.2.2008—À C¸¨¦{ø»U 

SÔ¨¦ u¯õ›UP. 

 ¹. 
(1000) 

 ¹. 
(1000)

A[RP›UP¨£mh 

•uÀ 

öÁÎ°h¨£mh  

4,000 u¢v ÁÈ ©õØÓ® 

{¾øÁ  

800

ö\¾zu¨£mh 

•uÀ (4,00,000 

¹.10 Ãu® ¹.5 

ö\¾zu¨£mhx) 

2,000 Á[Q Áøμ÷Áõø» 

ö\¾zu ÷Ási¯x 

1,200

•u½kPÒ 7,000 SÖQ¯ Põ» Phß 40

Ámhg ö\´u 

Esi¯À 

15,000 Ámhg ö\´u 

Esi¯À öÁS©v 

10
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 ¹. 
(1000) 

 ¹. 
(1000)

C»õ£ |mh P/S 

(ÁμÄ) 

850 ÁõiUøP¯õÍ¸UPõÚ 

HØ¦ 

5,000

Á`¼US  

Esi¯À 

¦ÓUSÔ¨¦ 

100 Phß, •ß £n® 10,000

ÁõiUøP¯õÍº 

HØ¦UPõÚ 

ö£õÖ¨¦PÒ 

5,000 öμõUPU Phß 10,000

AøÇ¨¦ ©ØÖ® 

SÖQ¯ Põ» 

£n® 

9,000 ÷©ÀÁøμ¨ £ØÖ 1,000

øP°¸¨¦ 

öμõUP® 

2,000 öPõÒ•uÀ 

ö\´¯¨£mh 

Esi¯À 

1,000

RBI–h® 

öμõUP® 

4,000 |h¨¦ ©ØÖ® øÁ¨¦ 

PnUS 

56,000

Põ¨¦ 3,000 •u½mk ©õÖ£k® 

{v 

100

  Á`¼US® Esi¯À 100

  Phß Piu® 500

  SBI–°h® öμõUP® 4,000
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19. Following is the balance sheet of H ltd and S ltd as 

on 31.12.2007 

Liabilities H Ltd 

Rs. 

 S Ltd 

Rs. 

 Assets H Ltd

Rs. 

S Ltd

Rs. 

Share 

capital 

(Rs.100 

each) 

5,00,000  2,00,000  Good will 40,000 30,000

General 

Reserve 

01.01.07 

1,00,000  60,000  Building 3,60,000 2,20,000

P and L 

a/c 

1,40,000  90,000  Stock 1,00,000 90,000

Creditors 80,000  90,000  Debtors 20,000 75,000

     Cash 60,000 25,000

     Share in S 

ltd (1500 

shares) 

2,40,000 -

 8,20,000  4,40,000   8,20,000 4,40,000

 P and L account “S” ltd showed a balance of 

Rs.50,000 on 01.01.07. H ltd acquired the shares 

in S ltd on 01.07.07. Prepare the consolidated 

balance sheet. 
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 31.12.2007–À H ¼ªöhm ©ØÖ® S–¼ªöhmiß 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ H 
¼ªöhm 

¹. 

 S 
¼ªöhm 

¹. 

 ö\õzxUPÒ H 
¼ªöhm

¹. 

S 
¼ªöhm

¹. 

£[S •uÀ 

(¹.100 

Ãu®) 

5,00,000  2,00,000  |ß ©v¨¦ 40,000 30,000

ö£õx Põ¨¦ 

01.01.07 

1,00,000  60,000  Pmih® 3,60,000 2,20,000

C»õ£ |mh 

P/S 

1,40,000  90,000  \μUQ¸¨¦ 1,00,000 90,000

PhÜ¢÷uõº 80,000  90,000  PhÚõÎPÒ 20,000 75,000

     öμõUP® 60,000 25,000

     ‘S’ 
{Ö©zvÀ 

1500 

£[SPÒ 

2,40,000 -

 8,20,000  4,40,000   8,20,000 4,40,000

 01.01.07–À “S” {Ö©zvß »õ£ |mhU PnUS 

¹.50,000/– BS®. H {Ö©® 01.07.07–À “S” 

{Ö©zvß £[SPøÍ Áõ[Q¯x JßÔøn¢u 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 
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20. ABT ltd was incorporated on 1.1.2008 with a 

contributed capital of Rs.7,00,000 and with the 

object of buying and selling car. The dealer price of 

the car was Rs.1,40,000 on 1.1.2008 and 

Rs.1,50,000 on 31.12.2008. The general price level 

increased by 20% during 2008. The company 

purchased 5 cars on 1.1.2008 and sold three cars 

during the year at an average price of Rs.1,70,000. 

Show how the financial statements will be 

prepared under 

 (a) HCA 

 (b) CCA and 

 (c) CPP 

 01.01.2008 AßÖ ABT ¼ªöhm BÚx ¹.7,00,000 

•u½mkhÝ®, PõºPøÍ Áõ[Q ÂØ£x GßÓ 

÷|õUPzxhÝ® Bμ®¤UP¨£mhx. Põ¸UPõÚ 

Â{÷¯õPìuº Âø» 01.01.2008 AßÖ ¹.1,60,000 

©ØÖ® 31.12.2008 AßÖ ¹.1,50,000 BS®. 2008–® 

BsiÀ ö£õx Âø» AÍÄ 20% AvP›zxÒÍx. 

{Ö©©õÚx 01.01.2008 AßÖ 5 PõºPøÍ Áõ[Q A¢u 

Á¸hzv÷»÷¯ 3 PõºPøÍ ¹.1,70,000 \μõ\› 

Âø»°À ÂØ£øÚ  ö\´ux. 
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 (A) HCA 
 (B) CCA ©ØÖ® 
 (C) CPP •øÓPÎÀ {v {ø» AÔUøPPÒ GÆÁõÖ 

u¯õº ö\´¯¨£k® Gß£øu PõmkP. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is a DBMS? 

2. Define relationship instance. 

3. Difference between a relation and a tuple. 

4. Write a note on natural join operation. 

5. What does DDL provide? 

6. With the proper syntax, write a note on deletion 
request. 

7. What is the goal of relational database design? 

8. When a domain is said to be atomic? 

9. Write a note on DML, DDL and DCL. 

10. Is function and a procedure in PL/SQL same? 
State it. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL the questions. 

11. (a) Brief about the Integrity problems, Atomicity 
problems. 

Or 

 (b) Write about Relationship Sets. 

12. (a) List two reasons why null values might be 
introduced into a database. 

Or 

 (b) Describe on Tuple Relational Calculus 
(TRC). 

13. (a) Discuss about the overview of the SQL query 
language. 

Or 

 (b) Illustrate on basic aggregate functions. 

14. (a) List down the types of normal forms and 
write a note on it. 

Or 

 (b) What is First Normal Form? Explain it. 
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15. (a) With the list of tools, explain on SQL. 

Or 

 (b) Explain the PL/SQL functions. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Explain about the problem of Data redundancy 
and inconsistency, Difficulty in accessing data. 

17. Elucidate on the Relational algebra. 

18. Write in detail about the queries on a single 
relation. 

19. Illustrate briefly on Third Normal Form. 

20. List down and explain about constraints. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is contract costing? 

 J¨£¢u AhUPÂø»°¯À GßÓõÀ GßÚ?  

2. What is work certified? 

 \õßÓÎUP¨£mh ÷Áø» GßÓõÀ GßÚ? 

3. What is abnormal loss? 

 Áμ®¦ «Ô¯ |mh® Gß£x ¯õx? 

4. What is joint product? 

 Cøn¯õÚ ö£õ¸Ò GßÓõÀ GßÚ? 

5. What is standing charges? 

 {ø»¯õÚ Pmhn® (AhUP®) Gß£x ¯õx? 
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6. What is operation costing? 

 ö\¯À•øÓ AhUPÂ¯À Gß£x ¯õx? 

7. What is margin of safety? 

 £õxPõ¨¦ ÂÎ®¦ Gß£x ¯õx? 

8. What is contribution? 

 £[PÎ¨¦ Gß£x ¯õx? 

9. What is transport costing? 

 ÷£¸¢x AhUPÂø»°¯À Gß£x ¯õx? 

10. What is reconciliation statement? 

 \›UPmk® £mi¯À Gß£x ¯õx? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) Following information relates to the 
manufacturing of a component X-101 in a 
cost centre : 

  Cost of materials 6 paise per component  

  Operator’s wages 72 paise an hour  

  Machine-hour rate Rs. 1.50 
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  Setting up time of the machine 2 hours and 
20 minutes  

  Manufacturing time 10 minutes per 
component.  

  Prepare a cost sheet showing both production 
and setting up costs total and per unit, when 
the batch consists of 100 components. 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÒ X-101 GßÓ 
EØ£zv ö£õ¸Îß AhUP ø©¯©õS®. 

  ‰»¨ö£õ¸Îß AhUP® J¸ £SvUS 6 ø£\õ 

  C¯US|º T¼ J¸ ©o ÷|μzvØS 72 ø£\õ 

  C¯¢vμ Ãu® ¹. 1.50 

  C¯¢vμ Aø©¨¦ ÷|μ® 2 ©o÷|μ® ©ØÖ® 20 
{ªh[PÒ 

  J¸ £Sv EØ£zv ÷|μ® 10 {ªh[PÒ 

  J¸ öuõSvUS 100 £SvPÒ GÚ öPõsk 
EØ£zv ©ØÖ® Aø©¨¦ ö©õzu AhUP® 
©ØÖ® J¸ A»S AhUP AÔUøPø¯ u¯õº 
ö\´P. 

Or 
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 (b) From the following information, calculate the 
value of work-in-progress 

  Rs. 

  Total cost of contract to date 3,83,000 

  Cost of contract not yet to certified 23,000 

  Value of work certified  4,20,000 

  Cash received to date          3,78,000 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x ÷Áø» 
ö\´x öPõsi¸US® ©v¨ø£ PnUQkP. 

  ¹. 

  J¨£¢u AhUP® Pøh] ÷uvÁøμ 3,83,000 

  \õßÓÎUP¨£hõu ÷Áø»°ß   

J¨£¢u AhUP®   23,000 

  \õßÓÎUP¨£mh ÷Áø»°ß ©v¨¦ 4,20,000 

  ö£ØÓ öμõUP®           3,78,000 

12. (a) The following expenditure is incurred for 
producing articles, called Nikhil Motors  

  Materials (200 Units)  Rs. 4,000 

  Labour  Rs. 3,000 

  Indirect Expenses  Rs, 2,000 

  Normal wastage is 5% of the input. One unit 
of wastage is sold at Rs.16.50 each. Prepare 
Process Account. 
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  R÷Ç öPõkUP¨£mhøÁPÒ {QÀ ÷©õmhõº 
GÚ¨£k® {ÖÁÚ® EØ£zv ö\´¯¨£k® 
ö£õ¸Îß ö\»ÂÚ[PÍõS®. 

  ‰»¨ö£õ¸mPÒ (200 A»S)  ¹. 4,000 

  ÷Áø»¯õmPÒ   ¹. 3,000 

  ©øÓ•Pa ö\»ÄPÒ  ¹. 2,000 

  \õuõμn |mh® EÒÏmiÀ 5%. Ãnõu¼ß J¸ 
A»S 16.50 Ãu® ÂØP¨£mhx. ö\¯À•øÓ 
PnUøP u¯õº ö\´P. 

Or 

 (b) Prepare Process Account from the following : 

  Materials issued 1,000 kg. @ Rs. 125 

  Wages   Rs. 28,000 

  Overheads   Rs. 8,000 

  Normal loss 5% of input. 

  Output 900 kgs 

  R÷Ç öPõkUP¨£mhøÁPÎ¼¸¢x ö\¯À•øÓ 
PnUøP u¯õº ö\´P. 

  ‰»¨ö£õ¸mPÒ EÒÏk 1,000 QQ   
JßÖ     ¹. 125 

  T¼     ¹. 28,000 

  ÷©Øö\»ÄPÒ    ¹. 8,000 

  \õuõμn |mh® EÒÏmiÀ 5% 

  EØ£zv 900 QQ. 
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13. (a) A Delhi-Hisar Transport Co. runs four buses 
between two towns which are 50 kms. apart. 
The seating capacity of each bus is 50 
passengers and actual passengers carried are 
80% of the sealing capacity. All the 4 buses 
run on 25 days in a month and each bus 
makes one round trip per day. Ascertain the 
total distance covered by the business in one 
month period. 

  öhÀ¼ ÷£õUSÁμzx PÇP® 4 ÷£¸¢xPøÍ 
Cμsk |Pμ[PÐUS Cøh÷¯ JmkQßÓÚ. 
Cuß yμ[PÒ 50 Q.«. JÆöÁõ¸ ÷£¸¢vß 
C¸UøP Á\vPÒ 50, 80% £¯oPøÍ HØÔa 
ö\ÀQÓx. AøÚzx ÷£¸¢xPÐ® ©õuzvØS 
25 |õmPÒ J¸ |õøÍUS J¸ •øÓ ö\ßÖ 
v¸®¦® ÁÈ°À C¯UP¨£kQÓx.  J¸ ©õu 
Põ»zvÀ Â¯õ£õμzuõÀ PhUP¨£mh ö©õzu 
yμzvøÚ PnUQkP.  

Or 
 (b) Number of buses 10 
  Days operated in month 25 
  Round trips made by each bus 4 

  Distance of route 20 km long 
  Capacity of bus 60 persons 
  Normal passengers travelling 90% of 

capacity. 

  Calculate : 
  (i) Total Kms covered in a month. 
  (ii) Total passenger Kms. 
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  ÷£¸¢xPÎß GsoUøP 10 

  J¸ ©õuzvØS C¯UP¨£kÁx  25 |õmPÒ 

  JÆöÁõ¸ ÷£¸¢xPÐ® 4 •øÓ ö\ßÖ 
v¸®¦® ÁÈzuh[PÍõP ö\¯À£kQÓx. 

  ÁÈzuhzvß yμ® 20 Q.«. 

  ÷£¸¢xPÎß C¸UøP Á\v 60 £¯nõÎPÒ 

  \õuõμn©õP £¯o¨£x 90% öPõÒÍÍÄ 

  PnUQkP 

  (i) ©õuzvØS £¯oUS® ö©õzu Q.«. 

  (ii) ö©õzu £¯oPÒ Q.«. 

14. (a) Calculate Break-even point : 

      Rs. 

  Sales    6,00,000 

  Fixed expenses   1,50,000 

  Variable costs: 

          Direct Material  2,00,000 

          Direct Labour  1,20,000 

          Other Variable expenses 80,000 
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  \©{ø» ¦ÒÎø¯ PnUQkP : 

      ¹. 

  ÂØ£øÚ   6,00,000 

  {ø»¯õÚ ö\»ÄPÒ  1,50,000 

  ©õÖ£k® ö\»ÄPÒ: 

          ÷|μi¨ ‰»¨ö£õ¸Ò 2,00,000 

          ÷|μi ÷Áø»¯õmPÒ 1,20,000 

          ©ØÓ ©õÖ£k® ö\»ÄPÒ 80,000 

Or 

 (b) Prepare Marginal Cost Statement from the 
following particulars : 

  Variable costs: Direct Materials Rs. 45,000; 
Direct Wages Rs.25,000; and Factory 
Overheads Rs. 15,000. 

  Fixed Cost: Administrative expenses 
Rs.12,500; Profit Rs.52,500. 

  RÌPõq® ÂÁμ[PÎ¼¸¢x CÖv{ø» AhUP 
AÔUøPø¯ u¯õº ö\´P. 

  ©õÖ£k® AhUP® : ÷|μi¨ ‰»¨ö£õ¸Ò  
¹. 45,000, ÷|μi T¼ ¹. 25,000 ©ØÖ® 
EØ£zv ÷©Øö\»ÄPÒ ¹. 15,000 

  {ø» AhUP® : {ºÁõPa ö\»ÄPÒ ¹. 12,500 

  C»õ£® ¹. 52,500 
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15. (a) From the following figures prepare a 
reconciliation statement. 

 Rs. 

Net profit as per financial records 64,500

Net profit as per cost records 86,460

Income tax provided in financial books 20,000

Bank interest credited in finical books 250

Works overhead under recorded 1,550

Depreciation in financial record 5,600

Depreciation recovered in costing 6,000

Administrative overhead over recovered 850

Obsolescence loss charged in financial records 2,800

Interest received not included in costing 4,000

Stores adjustment (credit in financial books) 240

Depreciation of stock charged in financial books 3,350

 RÌPõq® ©v¨¦PÎ¼¸¢x \›UPmk® £mi¯ø» 

u¯õ›UP. 

 ¹. 

{v PnUQß £i {Pμ C»õ£® 64,500

AhUPÂø»U PnUQß £i {Pμ C»õ£® 86,460

{v PnUQß £i Á¸©õÚ Á› 20,000

{v PnUQÀ ÁμÄ øÁUP¨£mh Á[Q Ámi 250

AhUPÂø» PnUQÀ SøÓzx ©v¨¤h¨£mh 

EØ£zv ÷©Øö\»Ä 
1,550
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 ¹. 

{v PnUQß £i ÷u´©õÚ® 5,600

AhUPÂø» PnUQß £i ÷u´©õÚ® 6,000

AvP¨£i¯õP ©v¨¤h¨£mh {ºÁõPa ö\»ÄPÒ 850

{v PnUQß £i Áμ®¦ «Ô¯ |mh® 2,800

Ámi ö£ØÓx AhUP PnUQÀ ÷\ºUP¨£hÂÀø» 4,000

\›UPmh¨£mh \μUS C¸¨¦ ({v PnUQÀ ÁμÄ 

øÁUP¨£mhx) 
240

\μUQß «uõÚ ÷u´©õÚ® {v PnUQÀ 

£v¯¨£mkÒÍx 
3,350

Or 

 (b) Prepare a reconciliation statement from the 
following figures, so as to ascertain the profit 
as per the financial accounts : 

  Rs. 
  Losses as per cost accounts 1,000 
  Closing stock under valuation in   

cost books   500 
  Goodwill written off  2,000 
  Profit on sale of machinery 12,000 
  Interest on bank loan  1,215 
  Works overhead over recovered   

in costing   2,215 
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  RÌPõq® ©v¨¦PÎ¼¸¢x \›UPmk® 

£mi¯ø» u¯õ›zx {v°¯À C»õ£zøu 

PnUQkP. 

  ¹. 

  AhUPÂø» PnUQß £i |mh® 1,000 

  AhUPÂø» HmiÀ SøÓÁõP   

©v¨¤h¨£mh CÖv \μUQ¸¨¦ 500 

  ÷£õUöPÊu¨£mh |Øö£¯º 2,000 

  C¯¢vμzøu ÂØÓvÀ HØ£mh C»õ£® 12,000 

  Á[Q Phß «uõÚ Ámi  1,215 

  AhUPÂø» HmiÀ Tku»õP   

©v¨¤h¨£mh EØ£zv ÷©Øö\»Ä 2,215 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. From the following particulars calculate the cost of 
Job No.505 and price for the job to give a profit of 
25% on the selling price. 

 Material :  Rs. 6820 

 Wage details : 

 Department X : 60 hrs @ Rs. 3 per hr 

    Y : 50 hrs @ Rs. 3 per hr 

    Z : 30 hrs @ Rs. 5 per hr 
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 The variable Overheads are as follows : 

 Department X : Rs. 5,000 for 5000 hrs 

    Y : Rs. 4,000 for 2000 hrs 

    Z : Rs. 2,000 for 500 hrs 

 The total fixed expenses amounted to Rs. 20,000 
for 10,000 working hours. 

 RÌPõq® ÂÁμ[PÒ ÷Áø» £o Gs 505 À 

C¸¢x GkUP¨£mhøÁPÍõS®, AÁØÔß 

AhUPzøu²® ©ØÖ® ÂØ£øÚ°À 25% 

C»õ£zøu²® PnUQkP. 

 ‰»¨ö£õ¸mPÒ :  ¹. 6820 

 T¼ ÂÁμ[PÒ  : 

 xøÓ  X : ©oUS ¹. 3 Ãu® 60 ©ozxÎPÒ 

   Y : ©oUS ¹. 3 Ãu® 50 ©ozxÎPÒ 

   Z : ©oUS ¹. 5 Ãu® 30 ©ozxÎPÒ 

 ©õÖ£k® ö\»Ä ¤ßÁ¸©õÖ : 

 xøÓ X : 5000 ©oPÐUS ¹. 5,000 

  Y : 2000 ©oPÐUS ¹. 4,000 

  Z : 500 ©oPÐUS ¹. 2,000 

 {ø» AhUPa ö\»Ä 1000 ©oPÐUS ¹. 20,000 
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17. Product A requires three distinct processes and 
after the third process the product is transferred 
to finished stock. Prepare various process accounts 
from the following information. 

 Total  P1 P2 P3 

Direct materials  5,000 4,000 600 400

Direct labour  4,000 1,500 1,600 900

Direct Expenses  800 500 300

Production overheads  6,000 

 Production overheads to be allocated to different 
processes on the basis of 150% of direct wages. 
Production during the period was 200 units. 
Assume there is no opening or closing stock. 

 ö£õ¸Ò A ‰ßÖ ö\¯À•øÓPøÍ Ph¢x •iÄØÓ 

ö£õ¸ÐUS ©õØÓ¨£kQÓx. RÌPõq® ÂÁμ[PÎÀ 

£À÷ÁÖ ö\¯À•øÓ PnUSPøÍ u¯õ›UP. 

 ö©õzu® P1 P2 P3 

÷|μi ‰»¨ö£õ¸mPÒ 5,000 4,000 600 400

÷|μi ÷Áø»¯õmPÒ 4,000 1,500 1,600 900

÷|μi ö\»ÄPÒ 800 500 300

EØ£zv ÷©Øö\»ÄPÒ 6,000 

 EØ£zv ÷©Øö\»ÄPÒ £À÷ÁÖ ö\¯À•øÓPÐUS 

÷|μi ÷Áø»¯õmPÒ Ai¨£øh°À 150% JxURk 

ö\´¯¨£mhx. EØ£zvPÒ 200 A»SPÒ. öuõhUP 

\μUQ¸¨¦PÒ CÀø» GÚ {øÚzxU öPõÒÍÄ®. 
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18. From the following data calculate the cost per mile 
of a vehicle : 

 Rs. 

 Value of vehicle   15,000 

 Road license for the year    500 

 Insurance charges per year     100 

 Garage rent per year     600 

 Drivers’ wages per month    200 

 Cost of petrol per litre     0.80 

 Miles per litre       8 

 Proportional charge for tyre and maintenance per 
mile 0.20 

 Estimated life 1,50, 000 miles. 

 Ignore interest on capital. 

 R÷Ç öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x J¸ 

ÁõPÚzvß J¸ ø©À yμ AhUPzøu PnUQkP. 

 ¹. 

 ÁõPÚzvß AhUP Âø»  15,000 

 \õø» E›©® (BskUS)    500 

 Põ¨¥k (BskUS)      100 
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 ÁõPÚ {ø»¯ ÁõhøP (BskUS)  600 

 Kmk|º T¼ J¸ ©õuzvØS    200 

 ö£m÷μõÀ AhUP® J¸ ¼mh¸US   0.80 

 J¸ ¼mhº ø©À yμ[PÒ      8 

 ÂQuõa\õμ A»Ä h¯º ©ØÖ® £Êx£õº¨¦ ö\»ÄPÒ 

J¸ ø©À yμ® 0.20 

 Gvº£õºUS® ÁõÌUøP 1,50,000 ø©ÀPÒ 

 •uÀ «uõÚ Ámiø¯ uÂºUPÄ®.  

19. You are given : 

 Margin of safety Rs. 10,000 which represents 40% 

of sales. P.V. ratio 50%. Calculate (a) Sales  

(b) Break even sales (c) Fixed cost (d) Profit. 

 u[PÐUS öPõkUP¨£mhøÁPÒ : 

 £õxPõ¨¦ ÂÎ®¦ ¹. 10,000 Gß£x ÂØ£øÚ°À 

40%. ÂØ£øÚ C»õ£ ÂQu® 50% GÛÀ  

 (A) ÂØ£øÚ (B)\© {ø» ÂØ£øÚ (C) {ø» 

AhUP® ©ØÖ® (D) C»õ£® BQ¯ÁØøÓ PnUQkP. 
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20. The following is a summary of the Trading and 
Profit and Loss Account of M/S Nikhil 
Manufacturing Co. Ltd., for the year ended 31st 
December, 1999 

To Materials Consumed 27,40,000 By Sales  

To Wages 15,10,000 (1,20,000 units) 60,00,000

To Factory Expenses 8,30,000 By Finished stock 

To Administration   (4,000 units) 1,60,000

     Expenses 3,82,400 By Work-in-progress: 

To Selling and        Materials 64,000

Distribution       Wages 36,000

To Expenses  4,50,000      Factory 

To Preliminary Expenses          Expenses 20,000

      (Written off)   40,000 By Dividends  

To Goodwill (written off)   20,000       Received  18,000

To Net Profit 3,25,600  

 62,98,000  62,98,000

 The company manufactures a standard unit. In 
the Cost Accounts.  

 (a) Factory expenses have been recovered from 
production at 20 per cent on prime cost; 

 (b) Administration expenses at Rs. 3 per unit on 
units produced  

 (c) Selling and distribution expenses at Rs. 4 
per unit on units sold. 

  You are required to prepare a statement of 
cost and profit in cost books of the company 
and to reconcile the profit disclosed with that 
shown in the Financial Accounts. 



 1068 17

 M/S {UQÀ EØ£zv ÷Põ ¼ªöhmiß 1999 i\®£º 

31 B® |õ÷Íõk •iÁøh²® BsiØPõÚ Â¯õ£õμ 

C»õ£ |mh PnUS R÷Ç öPõkUP¨£mkÒÍx. 

‰»¨ö£õ¸Ò ~PºÄ 27,40,000 ÂØ£øÚ   

T¼ 15,10,000   (1,20,000 A»SPÒ) 60,00,000

Bø» ö\»Ä 8,30,000 •iÄØÓ ö£õ¸Ò  

{ºÁõPa ö\»Ä 3,82,400   (4,000 A»SPÒ) 1,60,000

ÂØ£øÚ ©ØÖ® ö\´x öPõsi¸US® ÷Áø» 

  £Qº©õÚ ö\»ÄPÒ 4,50,000 ‰»¨ö£õ¸mPÒ 64,000

÷£õUöPÊu¨£mh T¼  36,000

  öuõhUPa ö\»ÄPÒ   40,000 Bø»a ö\»ÄPÒ 20,000

|Øö£¯º £[Põuõ¯® ö£ØÓx  18,000

÷£õUöPÊu¨£mhx   20,000  

{Pμ C»õ£® 3,25,600  

 62,98,000  62,98,000
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 AhUP Âø»°À  

 (A) Bø»a ö\»ÄPÒ Ai¨£øh AhUPzvÀ 20% 

DºUP¨£mhx 

 (B) ÷©Øö\»ÄPÒ J¸ A»QØS ¹. 3 

 (C) ÂØ£øÚ ©ØÖ® ÷©Øö\»ÄPÒ J¸ A»S 

ÂØ£øÚUS ¹. 4 

  AhUP Âø» ©ØÖ® C»õ£ AÔUøPø¯ 

u¯õ›UP E[PÎh® ÷PmkU öPõÒÍ¨£kQÓx. 

÷©¾® {v°¯À PnUQß C»õ£zvøÚ 

öPõsk \›UPmk® £mi¯ø» u¯õ›UP. 

 

—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What do you mean by basics of net working? 

 Áø»¨¤ßÛ¯¼ß Ai¨£øh SÔzx EÚx P¸zx 
¯õx? 

2. What is data type? 

 uPÁÀ ÁøP GßÓõÀ GßÚ? 

3. What is CSS syntax? 

 CSS syntax GßÓõÀ GßÚ? 

4. What do you mean by Font? 

 GÊzx¸ Gß£uß EÚx P¸zx ¯õx? 

5. What is on click in HTML? 

 HTML & À QÎU ö\´¯Ä® GßÓõÀ GßÚ? 

6. Explain window in browser. 

 Âs÷hõ ¤μÄéº Gß£øu ÂÁ›. 

 APRIL/MAY 2021
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7. What is Text box? 

 öhUìm ö£mi GßÓõÀ GßÚ? 

8. Give any two advantages in Hyperlink. 

 Hyperlink&ß |ßø©PÒ H÷uÝ® Cμsk u¸P. 

9. What is request data? 

 £oÄ uPÁÀ GßÓõÀ GßÚ? 

10. Expand OLEDB 

 OLEDB Â›ÁõUSP. 

SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) What are the features of HTML? 

  HTML&ß C¯À¦PÒ ¯õøÁ? 

Or 

 (b) How do you create a table in SQL? 

  SQL&À J¸ AmhÁøÚø¯ GÆÁõÖ 
E¸ÁõUSÁõ´? 

12. (a) Explain style sheet properties 

  |øhuõÒ £s¦PøÍ ÂÁ›. 

Or 
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 (b) How to add color in HTML? 

  HTML&À color I GÆÁõÖ Cøn¨£õ´? 

13. (a) Explain various HTML event. 

  £À÷ÁÖ HTML {PÌÄPøÍ ÂÁ›. 

Or 

 (b) What is built in object? Explain. 

  Pmhø©¨¤ß ÷|õUP® GßÓõÀ GßÚ? ÂÁ›. 

14. (a) Explain various hyperlinks with examples. 

  £À÷ÁÖ hyperlinks PøÍ Euõμnzxhß 
ÂÁ›. 

Or 

 (b) How to check a check box in HTML? 

  HTML&À \›£õº¨¦ ö£miø¯ GÆÁõÖ 
\›£õº¨£õ´? 

15. (a) What are the uses of Cookies? 

  SURêß £¯ß£õkPÒ ¯õøÁ? 

Or 

 (b) Differentiate Data Header and Data 
Adapter. 

  Data Header ©ØÖ® Data Adapter 
÷ÁÖ£kzxP. 
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SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. Explain the brief history of internet 

 Áø»uÍzvß Áμ»õØøÓ _¸UP©õP ÂÁ›. 

17. Differentiate display flex and display block 

 Display flex ©ØÖ® display block ÷ÁÖ£kzxP. 

18. What are the various types of user-defined? 
 £¯Úº Áøμ¯Özx Gß£uß £À÷ÁÖ ÁøPPÒ 

¯õøÁ? 

19. What is hyper link? Give its various uses. 

 Hyperlink GßÓõÀ GßÚ? Auß £À÷ÁÖ £¯ßPøÍ 
u¸P. 

20. How do display data from xml file in html? 
Explain. 

 html-À xml File&ß uPÁÀPøÍ GÆÁõÖ 
Põs¤¨£õ´? 

 

————————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is DBMS and it's need? 

2. What is DBA? 

3. What is tuple in DBMS? 

4. Define Super key 

5. What is DML? 

6. Define Normalization 

7. What is DDL? 

8. Compare Char, Varchar? 

9. What is PL/SQL? 

10. Define Triggers 
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SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) What are the components of E-R Model? 

Or 

 (b) List the types of data model used? 

12. (a) What is the difference between tuple 
relational Calculus and domain relational 
calculus? 

Or 

 (b) What are the relational algebra operations 
supported in SQL? 

13. (a) Explain functional dependency concepts. 

Or 

 (b) Define BCNF. How does it differ from 3NF. 

14. (a) What is embedded SQL? What are its 
advantages? 

Or 

 (b) What are the parts of SQL language? 

15. (a) Differentiate PL/SQL and SQL? 

Or 

 (b) Enlist the characteristics of PL/SQL? 
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SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Explain the following: 

 (a) Inner Join 

 (b) Outer Join 

 (c) Left Join 

17. What is modification of database in details? 

18. Write a note on FD? Explain types and properties 
of FD's? 

19. Explain in details about Retrieval using set 
operators. 

20. Explain the purpose of % Type and % Row Type 
data types with the example. 

——————— 
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60 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Why cloud computing matters? 

2. Who benefits from cloud computing? 

3. Define: "Utility Computing". 

4. Write down the features of cloud development 
environment. 

5. What is the web-based email service? 

6. How the collaborating on budgets? 

7. Distinguish between the twister and iterative Map 
Reduce. 

8. Define: "Apache Hadoop".                    - 

9. What is data security? 

10. Write a note on autonomic security. 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the centralized applications and 
storage in client/server computing. 

Or 

 (b) List out the advantages of cloud computing. 

12. (a) Describe about the Platform as a Service. 

Or 

 (b) Explain the three sizes of virtual servers of 
Amazon's service. 

13. (a) Summarize the collaborating on task 
management. 

Or 

 (b) How the Collaborating on To-Do Lists? 
Explain. 

14. (a) What are the functions of Google App 
Engine? Describe. 

Or 

 (b) Write short note on Open Stack and Aneka. 
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15. (a) Explain the risk management in cloud 
computing. 

Or 

 (b) Describe about the security architecture 
design. 

SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. Discuss the understanding of cloud architecture 
with neat diagram. 

17. What are the web services in cloud computing? 
Explain. 

18. Illustrate the collaborating on schedules in detail. 

19. Explain the cloud software environments in detail. 

20. Discuss the Software-as-a-Service Security. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What does Shelley mean by blithe Spirit? 

2. What according to Keats is a close friend of the 
warming sun? 

3. What does Lamb refer to as ‘a haunting 
conscience’? 

4. Who, according to Lamb, call the servants 'Sir'? 

5. What kind of melody does Byron compare his love 
to? 

6. What kind of rose does Byron compare his love to? 

7. How does Mr. Darcy offend Elizabeth at the first 
ball in “Pride and Prejudice” ? 

8. Why does Jane's visit to the Bingleys end up 
lasting for days in Pride and Prejudice? 

 APRIL/MAY 2021

BEN41 — BRITISH LITERATURE III 



 1909 2

9. Who heals Ivanhoe after the tournament in 
“Ivanhoe” ? 

10. Whom does Cedric toast to insult Prince John in 
“Ivanhoe” ? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) How does Shelley describe the song of the 
Skylark? 

Or 

 (b) Discuss Wordsworth's reaction on seeing 
daffodils. 

12. (a) Explain Lamb's views on one of his poor 
uncles. 

Or 

 (b) How does Lamb describe a male poor 
relation? 

13. (a) Discuss how "she walks in Beauty" explores 
the relationship between inner beauty and 
outer beauty. 

Or 

 (b) Comment on the speaker's wonder at the 
woman's majestic beauty in "She Walks in 
Beauty". 



 1909 3

14. (a) How does Elizabeth's feelings toward Darcy 
change in “Pride and Prejudice” ? 

Or 

 (b) Analyse the character of Wickham in “Pride 
and Prejudice”. 

15. (a) Compare and contrast the characterization of 
the two fathers in Ivanhoe: Cedric and Isaac. 

Or 

 (b) Why does Cedric disinherit Ivanhoe? 

SECTION C — (3  10 = 30 marks) 
Answer any THREE questions. 

16. How does Keats address Autumn? Explain your 
views. 

17. “On Going On a Journey by William Hazlitt is 
masterpiece the adventure of travel and perks of 
travelling alone.” Elucidate. 

18. Bring out the speaker's love for a beloved in  
“A Red, Red Rose”. 

19. Discuss how Jane Austen present the theme of 
love in Pride and Prejudice. 

20. How does Sir Walter Scott emphasize the cultural 
differences between the invading Normans and 
the native Saxons? 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What does Lady Macbeth believe that Macbeth 
lack in? 

2. What do Lady Macbeth's words "unsex me here" 
mean? 

3. What does Macbeth realize about the 
consequences of Duncan's murder? 

4. Whom does Macbeth defeat in battle? 

5. Who is legal heir to Duncan's throne? 

6. Who is Sir Rowland de Bois' youngest son? 

7. Who usurped Duke Senior's position at court? 

8. Who is Duke Senior's daughter? 
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9. According to Charles, who plans to disguise 
himself and enter a wrestling match at the royal 
court? 

10. When getting ready to flee the court, what does 
Rosalind disguise herself as? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Analyse the character of Banquo in Macbeth. 

Or 

 (b) Explain Macbeth's soliloquy "If it were done 
when 'tis done, then 'twere well/ It were done 
quickly". 

12. (a) Examine Rosalind's statement that "Men 
have died from time to time, and worms have 
eaten them, but not for love" 

Or 

 (b) Comment on the epilogue of As You Like It. 

13. (a) Why does Caliban hate Prospero and 
Miranda? 

Or 

 (b) Write about Prospero's farewell speech. 
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14. (a) What does Thomas De Quincy state on "the 
knocking at the gate in Macbeth" 

Or 

 (b) Why does Hazlitt state that Jaques is the 
only purely contemplative character in 
Shakespeare? 

15. (a) Analyse Coghill's  view that "Shakespeare's 
characters are not fashioned to make 
possible a demonstration in morals..." 

Or 

 (b) What does Coghill state about Shakespeare's 
‘golden world’? 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Give an account of the role of supernatural 
elements in Macbeth. 

17. What is the role of the Forest of Arden in As You 
Like It? 

18. Discuss the theme of freedom and forgiveness in 
The Tempest. 

19. Examine Hazlitt's statement that Macbeth is like 
a record of a preternatural and tragic event. 

20. Summarise Auden's views on Ariel's songs in The 
Tempest. 

——————— 



1914 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL the questions. 

1. Why does the speaker wishes to build on the 
island of Innisfree? 

2. What does the speaker in “The Lake Isle ...“ hear 
night and day? 

3. What according to Lawrence do scientists and 
philosophers fail to understand? 

4. What according to Lawrence does the philosopher 
speak about? 

5. What position has Thomas Beckett held in the 
past? 

6. Where has Thomas Beckett been before the play 
starts? 

7. Whom does Dylan Thomas refer to as ‘the prince 
of the local towns’? 
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8. What according to Dylan Thomas held him ‘green 
and dying’? 

9. What is Cathleen doing at the start of the play 
Riders to the Sea? 

10. What does Nora bring into the cottage at the 
beginning of Riders to the Sea? 

SECTION B — (5  5 = 25 marks) 

Answer ALL the questions. 

11. (a) Discuss how “Church Going” describes the 
emotions experienced by a speaker who is 
inexplicably drawn to the exploration of 
churches. 

Or 

 (b) Analyse Owen’s belief that soldiers are 
happier when they can desensitize 
themselves to the war. 

12. (a) What does Orwell state about aesthetic 
enthusiasm?  

Or 

 (b) What does Orwell state about the political 
impulse? 
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13. (a) Comment on the role of the chorus in Murder 
in the Cathedral. 

Or 

 (b) Discuss the part played by the First Tempter 
in Murder in the Cathedral. 

14. (a) What does Henry Davies’ feel about leading a 
life which provides one with no time for 
leisure? 

Or 

 (b) Analyse Henry Davies’ statement that the 
entire natural world lies so beautiful yet we 
are not in harmony or unison with nature. 

15. (a) Recount Forster’s reflection of whether it is 
possible for an Englishman and an Indian to 
ever be friends in “A Passage to India.” 

Or 

 (b) What does the lighthouse symbolize in “To 
the Lighthouse”? 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Give an account of the speaker’s fantasy about 
leading a solitary, peaceful life on Innisfree. 

17. Explain how D. H. Lawrence establishes the 
superiority of the novelist above other professions. 
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18. Discuss how Murder in the Cathedral explores the 
theme of martyrdom. 

19. Account for Dylan Thomas’ depiction of idyllic 
childhood on a farm. 

20. Examine the themes in Riders to the Sea. 

——————— 
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Time : Three hours Maximum : 75 marks 

£Sv A — (10 × 2 = 20 ©v¨ö£sPÒ)  

AøÚzx ÂÚõUPÐUS K›¸ öuõhºPÎÀ Âøh¯ÎUP. 

1. Cøha_μzxa ö\ßÓ, uø»Áß uø»ÂUS›¯ 

Aøh¯õÍ[PÍõPU Ps÷hõº ö\Â¼°h® TÔ¯Ú 

¯õøÁ? 

2. ©ßÚß ö\´¯UThõu TÔ¯Ú ¯õøÁ? 

3. ÷\õÇß CÍg÷\mö\ßÛ SØÓ® ö\´uõ¸US, 

Ai¯øh¢uõ¸US® ÁÇ[Q¯ •øÓø© ¯õx? 

4. ‘PÚÂ¾® ö£õ´¯Ô¯õu ÷\μ ©ßÚß ¯õº?’ 

5. PØÓÔ¢uõº Hzx® ]Ó¨¤øÚ²øh¯ ¡À Gx? 

6. £›£õh¼À £õh¨ö£ØÓ öu´Á® BÖ ¯õøÁ? 

7. •Àø»¨£õmøh C¯ØÔ¯Áº ¯õº? 

8. ö£õÊuÍ¢uÔ²® ö£õ´¯õ ©õUPÒ ¯õº? 
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9. I[SÖ¡Ö ¡ø»z öuõSzuÁº ¯õº? 

10. £zx¨£õmkÒ ªPUSøÓÁõÚ AiPøÍ Eøh¯ ¡À 

Gx? 

£Sv B — (5 × 5 = 25 ©v¨ö£sPÒ)  

¤ßÁ¸® ÂÚõUPÐUS Âøh¯ÎUP. 

11. (A) SÖ¢öuõøP°À PuUPsnÚõº £õi¯ 

÷uõÈUSz uø»Â TÔ¯ £õhØ P¸zxUPøÍ 

GÊxP. 

(AÀ»x) 

 (B) ]ÖöÁÒÍõU S¸S GÚz öuõh[S® I[SÖ¡Ö 

£õhØP¸zxUPøÍ ÂÍUSP. 

12. (A) Sh¨¦»Â¯Úõº £õsi¯ ö|kgö\È¯ÝUS 

Enºzv¯ P¸zxUPøÍ ÂÍUSP. 

(AÀ»x) 

 (B) ÷\μ»õuÛß Sn[PøÍU S©mlº PsnÚõº 

GÆÁõÖ ]Ó¨¤UQÓõº?  

13. (A) HÖuÊÁÀ SÔzu P¼zöuõøP £õhÀ Enºzx® 

P¸zxUPøÍ ÂÍUS. 

(AÀ»x) 

 (B) v¸©õ¼ß  E¸Á¨ö£õÈøÁ £›£õhÀ 

G[VÚ® ]Ó¨¤UQßÓx? 
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14. (A) uø»©PÒ uÛø©²® AÁÍx ¤›ÁõØÓõø©²® 

•Àø»¨£õmk ÁÈ ÂÍUSP. 

(AÀ»x) 

 (B) £õ\øÓ Aø©¨¦ £ØÔ •Àø»¨£õmiß ÁÈ 

AÔ¯»õS® P¸zxUPøÍ ÂÍUSP. 

15. (A) GmkzöuõøP AP¡ÀPÒ SÔzx GÊxP. 

(AÀ»x) 

 (B) GmkzöuõøP ¦Ó¡ÀPÒ £ØÔ ÂÍUSP. 

£Sv C — (3 × 10 = 30 ©v¨ö£sPÒ)  

GøÁ÷¯Ý® ‰ßÓÝUSU Pmkøμ ÁiÂÀ Âøh¯ÎUP. 

16. uø»©PÒ ÁøμÄ }mizuø© Põμn©õPz uø»Â°ß 

EÒÍzöuÊ¢u ÷ÁmøPø¯ E÷»õa\Úõº £õhÀ ÁÈ 

{ßÖ ÂÍUSP. 

17. öPõ¨ö£¸g÷\õÇøÚ¨ ¤]μõ¢øu¯õº G[VÚ® 

]Ó¨¤UQßÓõº? 

18. ¤›Äz uÛø©¯õÀ Á¸¢x® uø»Â°ß {ø»ø¯ 

ö|´uØP¼ £õhØ öPõsk ÂÍUSP. 
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19. •Àø»¨£õmiÀ Põn¨£k® A›¯ P¸zuUPøÍ 

ÂÍUSP. 

20. BØÖ¨£øh ¡ÀPÒ SÔzx ÂÁ›UP. 

——————— 
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Time : Three hours          Maximum : 75 marks

SECTION A _ (10  2 = 20 marks)

  



 



 

  


2376



 

 



 

  

  

 

 
2 2376



SECTION B _ (5  5 = 25 marks)

  





 




   

 

 


3 2376



 



 



  

 

 



4 2376



SECTION C _ (3  10 = 30 marks)

  




 



  

 
 


5 2376



 



 

 

 

 

  

______________

6 2376
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL the questions. 

1. What is ],,[ wvu
dt
d 

? 

 ],,[ wvu
dt
d 

 Gß£x ¯õx? 

2. Define: Derivative of a vector function. 

J¸ öÁUhº \õº¤ß ÁøP±møh Áøμ¯Ö. 

3. What is gradient? 

\õ´Ä ÂQu® GßÓõÀ GßÚ? 

4. Define: Solenoidal vector. 

Áøμ¯Ö: Á›a_ØÖ öÁUhº. 

5. Define: Line integral. 

Áøμ¯Ö: ÷Põmkz öuõøP±k. 
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6. Define: Volume integral. 
Áøμ¯Ö: PÚAÍÄ öuõøP±k. 

7. State Stoke’s theorem. 
ì÷hõUì ÷uØÓzøuU TÖP. 

8. State Gauss divergence theorem. 
Põêß £õ´Ä ÷uØÓzøuU TÖP. 

9. What is an odd function? Give an example. 
JØøÓa \õº¦ GßÓõÀ GßÚ? J¸ GkzxUPõmk 
öPõk. 

10. Define: Fourier series. 
Áøμ¯Ö: L§›¯º öuõhº. 

SECTION B — (5 × 5 = 25 marks)  

Answer ALL the questions. 

11. (a) Find the velocity and acceleration when 
0,3sin2,3cos2, ==== − ttztyex t  

  0,3sin2,3cos2, ==== − ttztyex t  GÝ® 
÷£õx vø\÷ÁP® ©ØÖ® •kUP® PõsP. 

Or 

 (b) Prove: v
dt
ud

dt
vduvu

dt
d 


 ⋅+⋅=⋅ )(  

{ÖÄP: v
dt
ud

dt
vduvu

dt
d 


 ⋅+⋅=⋅ )(  



 

 1274 3

 

12. (a) Prove: 
2ψ

ψφφψ
ψ
φ ∇−∇=







∇  

  {ÖÄP: 
2ψ

ψφφψ
ψ
φ ∇−∇=







∇  

Or 

 (b) Find the directional derivative of 32zxyxyz −  

at the point )1,2,1( −  in the direction of the 

vector kji


3−− . 

)1,2,1( −  GßÓ ¦ÒÎ°À kji


3−−  GßÓ 

öÁUh›ß vø\°À 32zxyxyz − &ß vø\ 

ÁøP±k PõsP. 

13. (a) If ktjtitt


4)62()13()ƒ( 2 −−+−=  find 
3

2

)ƒ( dtt  

ktjtitt


4)62()13()ƒ( 2 −−+−=  GÛÀ 
3

2

)ƒ( dtt  

PõsP. 

Or 
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 (b) Evaluate  ⋅∇
V

dVF


 if jyiyxF


222 −=  

kxz


24+  and V  is the region in the first 

octant bounded by the cylinder 922 =+ zy  

and bounded by 0=x  and 2=x . 

jyiyxF


222 −= kxz


24+  ©ØÖ® E¸øÍ 

922 =+ zy  ©ØÖ® 0=x , 2=x BÀ `Ç¨£mh 

•uÀ GsPõÀ £Sv V  GÛÀ  ⋅∇
V

dVF


 I 

©v¨¤kP. 

14. (a) Verify Stoke’s theorem when kxjziyF


++=  

and surface S  is the part of the sphere 

1222 =++ zyx  along the xy  plane. 

kxjziyF


++=  ©ØÖ® S  Gß£x xy  uÍzvß 

«x 1222 =++ zyx  ÷PõÍzvß J¸ £Sv 

¦Ó¨£μ¨¦ GÛÀ ì÷hõUêß ÷uØÓzøua 

\›£õºUP. 

Or 
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 (b) Compute  +−
C

dyyxdxxxy 22 )(  over the 

triangle bounded by the lines 

xyxy === ,1,0  and verify Green’s 

theorem. 

xyxy === ,1,0  GßÓ ÷PõkPÍõÀ 

`Ç¨£mh •U÷Põnzvß «x 

 +−
C

dyyxdxxxy 22 )(  I PnUQkP ©ØÖ® 

Q›Ûß ÷uØÓzøua \›£õºUP. 

15. (a) Find the Fourier cosine series of the function 

xx −= π)ƒ(  in ),0( π . 

),0( π &À xx −= π)ƒ(  GßÓ \õº¤ß L§›¯º 

öPõø\ß öuõhº PõsP. 

Or 

 (b) Find the Fourier series of 





≤≤
<<−−

=
π

π
x
x

x
0

0
1
1

)ƒ(  





≤≤
<<−−

=
π

π
x
x

x
0

0
1
1

)ƒ( &ß L§›¯º öuõhº 

PõsP. 
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SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. If wtbwtar sincos


+=  find (a) 
dt
drr ×


  (b)  2

2

dt
rd 

. 

wtbwtar sincos


+=  GÛÀ (a) 
dt
drr ×


  (b)  2

2

dt
rd 

 

PõsP. 

17. If kyzjyzxixyF


222 32 −+=  find Fdiv


and 

Fcurl


at )1,1,1( −  

kyzjyzxixyF


222 32 −+=  GÛÀ )1,1,1( −  À 

Fdiv


 ©ØÖ® Fcurl


 PõsP. 

18. If kyzjyixzF


+−= 24  evaluate  ⋅
S

dSnF 
 

where S  is the surface of the cube bounded by 

1,0,1,0,1,0 ====== zzyyxx . 

kyzjyixzF


+−= 24  GÛÀ  ⋅
S

dSnF 
 I 

©v¨¤kP. CvÀ S  Gß£x ,1,0,1,0 ==== yyxx  

1,0 == zz  BÀ `Ç¨£mh PÚ\xμzvß ¦Ó¨£μ¨¦. 
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19. Verify divergence theorem for the function 

kzjyixF


2224 +−=  taken over the region 

bounded by ,422 =+ yx  0=z , 3=z . 

,422 =+ yx  0=z , 3=z &BÀ `Ç¨£mh £Sv°ß 

«x \õº¦ kzjyixF


2224 +−= &ØS £õ´Ä 

÷uØÓzøua \›£õºUP. 

20. Determine the Fourier expansion of xx =)ƒ(  in 

),( ππ−  

),( ππ− À xx =)ƒ( &ß L§›¯º Â›Ä PõsP. 

——————— 
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1.  

 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. What is a vector space?  

 öÁUhº öÁÎ GßÓõÀ GßÚ? 

2. Prove : ( ) wvwv ααα −=− . 

 {ÖÄP : ( ) wvwv ααα −=− . 

3. Define length a Vector. 

 J¸ öÁUh›ß }Ízøu Áøμ¯Ö. 

4. Prove : uu αα = . 

 {ÖÄP : uu αα = . 

5. Define regular element. 

 JÊ[PõÚ EÖ¨ø£ Áøμ¯Ö. 

 APRIL/MAY 2021
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6. Define eigen value. 

 IPß ©v¨ø£ Áøμ¯Ö. 

7. Multiply : 
















−−−














−

111
320

101

543
211

321

. 

 ö£¸USP: 
















−−−














−

111
320

101

543
211

321

. 

8. Define similar linear transformation. 

 Jzu ÷|›¯À E¸©õØÓ[PøÍ Áøμ¯Ö. 

9. What is a skew-symmetric matrix? 

 Gvº \©a^º Ao GßÓõÀ GßÚ? 

10. Define transpose of a matrix A . 

 J¸ Ao A ß {μÀ{øμ ©õØøÓ Áøμ¯Ö. 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) If V  is a vector space over F  then prove 

that 

 (i) Foo ∈∀= αα  

 (ii) Vvov ∈∀=α  

   (iii) ( ) ( ) VvFvv ∈∈∀−=− ,ααα  

  V Gß£x F ß «x öÁUhº öÁÎ GÛÀ 

 (i) Foo ∈∀= αα  

 (ii) Vvov ∈∀=α  

  (iii) ( ) ( ) VvFvv ∈∈∀−=− ,ααα  GÚ {ÖÄP.  

Or 

 (b) Explain Linearly dependent set with an 

example. 

  ÷|›¯À \õº¦øh¯ Pnzøu J¸ 

GkzxUPõmkhß ÂÍUSP.  
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12. (a) If V  is a finite dimensional inner product 
space and if W  is a subspace of V  then 

prove that ⊥+= WWV   
  V  Gß£x  J¸ •iÄÖ £›©õn•øh¯ EÒ 

ö£¸UPÀ öÁÎ ©ØÖ® W  Gß£x V &ß 

EÒöÁÎ GÛÀ ⊥+= WWV GÚ {ÖÄP.  
Or 

 (b) If Vvu ∈,  then prove that vuvu ≤, . 

  Vvu ∈, GÛÀ vuvu ≤,  GÚ {ÖÄP. 

13. (a) If F∈λ  is a characteristic root of ( )VAT ∈  

then for any polynomial ( ) [ ]xFxq ∈ , prove 

that ( )λq  is a characteristic root of ( )Tq . 

  F∈λ   Gß£x  ( )VAT ∈ &ß ]Ó¨¤¯À¦ ‰»® 

GÛÀ  ( ) [ ]xFxq ∈  GßÓ G¢u J¸ 

£À¾Ö¨£õÝUS® ( )λq  BÚx   ( )Tq &ß 
]Ó¨¤¯À¦ ‰»® GÚ {ÖÄP.  

Or 

 (b) If ( )VAT ∈  and if nVF =dim  then prove that 

T  can have at most ''n  distinct 
characteristic roots in F .  

  ( )VAT ∈    ©ØÖ®  nVF =dim  GÛÀ T  ØS 

F À AvP£m\®  ''n  uÛzu ]Ó¨¤¯À¦ 
‰»[PøÍ ö£ØÔ¸US®. 
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14. (a) If ( )3FV =  and 















−

310
121

211

 in ( )Tm  in the 

basis ( ) ( )0,1,0,0,0,1 21 == vv  and ( )1,0,03 =v . 
Find the matrix in the basis 

 (i) ( ) ( ) ( )1,0,0,1,1,0,1,1,1  (ii) ( ) ( ) ( )1,2,1,0,2,1,0,1,1  

  ( )3FV =  ©ØÖ® 















−

310
121

211

Gß£x AiUPn® 

( ) ( )0,1,0,0,0,1 21 == vv  ©ØÖ® ( )1,0,03 =v I 

ö£õ¸zx ( )Tm  GÛÀ AiUPn[PÒ. 

 (i) ( ) ( ) ( )1,0,0,1,1,0,1,1,1  

  (ii) ( ) ( ) ( )1,2,1,0,2,1,0,1,1  I ö£õ¸zx ( )Tm  
PõsP. 

Or 
 (b) If V  is n -dimensional over F  and if 

( )VAT ∈  has the matrix ( )Tm1  in the basis 

nvvv ,...,, 21  and the ( )Tm2  is the basis 

nwww ,...,, 21  of V  over F then prove that 
there is an element nFC∈  such that 

( ) ( ) 1
12

−= CTCmTm . 
  V Gß£x F ß «x n &£›©õn öÁÎ ©ØÖ® 

( )VAT ∈ ØS AiUPn® nvvv ,...,, 21 I¨ ö£õ¸zx 
( )Tm1 GßÓ Ao²® AiUPn® nwww ,...,, 21  

I¨ ö£õ¸zx ( )Tm2  GßÓ Ao²® C¸US® 

GÛÀ ( ) ( ) 1
12

−= CTCmTm  GÝ©õÖ nFC∈  
Aø©¢v¸US® GÚ {ÖÄP.  
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15. (a) For ,,, FFBA n ∈∈ λ  prove : 

 (i) ( ) AtrAtr λλ =  

 (ii) ( ) trBAtrBAtr +=+  

   (iii) ( ) ( )BAtrABtr =  

   FFBA n ∈∈ λ,, ØS  

 (i) ( ) AtrAtr λλ =  

 (ii) ( ) trBAtrBAtr +=+  

   (iii) ( ) ( )BAtrABtr =  GÚ {ÖÄP.   
Or 

 (b) Prove that if two rows of the matrix A  are 
inter changed then its determinant changes 
its sign.  

  J¸ Ao°À C¸ {øμPøÍ Ch® ©õØÔÚõÀ 
Auß AoU÷PõøÁ°ß SÔ ©õÖ® GÚ 
{ÖÄP.  

SECTION C — (3 × 10 = 30 marks)  

Answer any THREE questions. 

16. If V  is finite dimensional over F  then prove that 
any two bases of V  have the same number of 
elements. 

 F ß «x V  •iÄÖ £›©õn öÁÎ GÛÀ V ß 
G¢u C¸ AiUPn[PÐUS® J÷μ GsoUøP 
öPõsh EÖ¨¦PÒ C¸US®. 
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17. If mVF =dim  then prove that ( ) 2
1dim mvvHomF =   

 mVF =dim GÛÀ ( ) 2
1dim mvvHomF = GÚ {ÖÄP. 

18. If A  is an algebra with unit elements over F  
then prove that A  is isomorphic to a sub algebra 
of ( )VA  for some vector space V  over F . 

 A Gß£x F ß «x Aø©¢u \©Û EÖ¨¦ EÒÍ 
J¸ AÓ©® GÛÀ F ß «x Aø©¢u H÷uÝ® J¸ 
öÁUhº öÁÎV &ß ( )VA GßÓ EÒ AÓ©zxhß 
A BÚ \© J¨¦ø©¯õÚx GÚ {ÖÄP. 

19. If V  is n -dimensional over F  and if ( )VAT ∈  has 
all its characteristic roots in F  then prove that T  
satisfies a polynomial of degree n  over F . 

 V Gß£x F &ß «x n &£›©õn® öPõshx ©ØÖ® 
( )VAT ∈  BÚx Auß AøÚzx ]Ó¨¤¯À¦ 

öÁUhºPøÍ²® F À ö£ØÖÒÍx GÛÀ T Gß£x 
F ß «x n £i Eøh¯ £À¾Ö¨£õøÚ {øÓÄ 
ö\´²® GÚ {ÖÄP.  

20. Solve by cramers rule 

 

0

1432

1

=−−
=++

==+

zyx

zyx

zyx

 

Qμõ©›ß Âv¨£i wºUP. 

 

0

1432

1

=−−
=++

==+

zyx

zyx

zyx

 

————————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Write down the types of constants. 

 ©õÔ¼PÎß ÁøPPøÍ GÊx. 

2. Define variable with an example. 

 ©õÔø¯ Euõμnzxhß Áøμ¯Ö. 

3. What is an operator in C? 

 C °ß ö\¯ØSÔ GßÓõÀ GßÚ? 

4. Write the general form of printf statement with an 
example. 

 printf TØÔß ö£õx ÁiÁzøu Euõμnzxhß 

GÊx. 

5. List out the four basic statement in C language. 

 C ö©õÈ°ß |õßS Ai¨£øh TØøÓ £mi¯¼k. 

 APRIL/MAY 2021
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6. Write basic format of the while statement. 

 while TØÔß Ai¨£øh ÁiÁzøu GÊx. 

7. What is an array and how to declare array in C? 

 Á›ø\ GßÓõÀ GßÚ ©ØÖ® C À Á›ø\ø¯ G¨£i 

AÔÂ¨£x? 

8. Identify errors in the following array declaration 

statements. 

 (a) int score (100); 

 (b) float value [10,15]; 

 R÷Ç öPõkUP¨£mkÒÍ Ao AÔÂ¨¦ TØÖPÎß 

uÁÖPøÍ Aøh¯õÍ® Põs. 

 (A) int score (100); 

 (B) float value [10,15]; 

9. Write the form of C functions. 

 C ß ö\¯À TØÔß ÁiÁzøu GÊx. 

10. Define unions in C. 

 C ß ÷\º¨¦PøÍ Áøμ¯Ö. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Write short note on Real constants. 

  ö©´ö¯s ©õÔ¼PøÍ £ØÔ ]Ö SÔ¨¦ GÊx. 

Or 

 (b) Write a program by using scanf functions. 

  scanf ö\¯À TØÔøÚ¨ £¯ß£kzv J¸ {μÀ 

GÊx. 

12. (a) Describe the three basic logical operators 
with an example. 

  ‰ßÖ Ai¨£øh u¸UP ö\¯ØSÔPøÍ 

Euõμnzxhß ÂÁ›. 

Or 

 (b) Write a program to find the roots of the 
following quadratic equation 

01642 2  xx . 

  R÷Ç öPõkUP¨£mkÒÍ C¸£i {Pº¨£õk 

01642 2  xx ‰»[PøÍU Psk¤iUP J¸ 

{μÀ GÊx. 
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13. (a) Write a short note on ‘simple if’ statement 
with an example. 

  ‘simple if’ TØÔøÚ Euõμnzxhß ]Ö SÔ¨¦ 

GÊx. 

Or 

 (b) Write a program to evaluate the series 

nxxx
x




...1
1

1 2  for 11  x  and 

find 0.01 percent accuracy. 

  11  x , nxxx
x




...1
1

1 2  GßÓ 

öuõh›ß ©v¨¦ ©ØÖ® 0.01 GßÓ \›¯õÚ 

ÂQu•® Psk¤iUP J¸ {μÀ GÊx. 

14. (a) Write a short note on ‘two-dimensional array’ 
in C. 

  C ß C¸£›©õn Aoø¯ £ØÔ GÊx. 

Or 

 (b) Write a program to sort a list and find its 
median. 

  J¸ £mi¯ø» Á›ø\¨£kzv ©ØÖ® Auß 

Cøh{ø»ø¯U U Psk¤iUP J¸ {μÀ GÊx. 
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15. (a) Discuss the return values in C with their 
types. 

  C Ú v¸¨£©v¨ø£ Auß ÁøPPÐhß 

ÂÁõv. 

Or 

 (b) Explain the meaning and purpose of the 
following commands in C. 

  (i) struct              

  (ii) static 

  R÷Ç öPõkUP¨£mkÒÍ C PmhøÍPÎß 

ö£õ¸Ò ©ØÖ® ÷|õUPzøu ÂÁ›. 

  (i) struct              

  (ii) static 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain assignment statement with an example 
program. 

 {ºn¯ TØÖPøÍ Euõμnzxhß ÂÁ›. 

17. Explain types of operators. 

 C¯UQPÎß ÁøPPøÍ ÂÁ›. 
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18. Discuss the ‘for loop’ statements with an example. 

 ‘for loop’ TØÖPøÍ Euõμnzxhß ÂÁõv. 

19. Explain multidimensional array in C. 

 C ß £»£›©õn Á›ø\ø¯ ÂÁ›. 

20. Discuss structure in C with an example. 

 C ß Aø©¨ø£ Euõμnzxhß ÂÁõv. 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Write the meaning of system software. 
 •øÓø© ö©ßö£õ¸Ò Gß£uß ö£õ¸Ò u¸P. 

2. What is hardware? 
 Áßö£õ¸Ò Gß£uß ö£õ¸Ò GßÚ? 

3. State is the meaning of both upper and lower case 
letters. 

 ÷£öμÊzx ©ØÖ® uõÌö»Êzx ö£õ¸Ò u¸P. 

4. How will you know the spelling and grammar 
errors? 

 GÊzx¨ ¤øÇ, C»UPn ¤øÇ GÆÁõÖ AÔÁõ´? 

5. Comment on worksheet. 
 £ozuõÒ £ØÔU P¸zx TÖP. 

 APRIL/MAY 2021
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6. Mention the meaning of MS Excel. 
 MS Excelß ö£õ¸Ò TÖ. 

7. Give the meaning of power point. 

 £Áº £õ°sm-&ß ö£õ¸Ò u¸P. 

8. Mention any two features of power point. 

 Power point-ß ]Ó¨¦ C¯À¦PÒ H÷uÝ® Cμsøh 

TÖP. 

9. Define E commerce. 

 ªß ÁoP® -– Áøμ¯Ö. 

10. Narrate smart card. 

 ì©õºm Põºk ÂÍUSøμUP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) State the characteristics of a computer. 

  PoÛ°ß £s¦PøÍ ÂÍUSP. 

Or 

 (b) Explain the difference between system 
software and application software. 

  •øÓø© ö©ßö£õ¸ÐUS® £¯ß£õmk 

ö©ßö£õ¸ÐUS® EÒÍ ÷ÁÖ£õkPøÍ 

ÂÍUSP. 
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12. (a) How is insert a table using keyboard? 
  Âø\¨£»øP £¯ß£kzv GÆÁõÖ AmhÁøn 

ö\¸SuÀ ö\´Áõ´? 

Or 

 (b) Explain the procedure for save a document. 

  BÁnzøu ÷\ªUS® ö\¯À •øÓø¯ ÂÁ›. 

13. (a) What are the procedure to insert a cell, row 
and column? 

  Á›ø\ ©ØÖ® £zvø¯ ö\¸SÁuØPõÚ 

ÁÈ•øÓPøÍ ÂÍUSP. 

Or 

 (b) Describe the important mathematical 
functions. 

  •UQ¯©õÚ Pou ö\¯À£õkPøÍ ÂÁ›. 

14. (a) Explain the circumstances of power point 
environment. 

  £Áº £õ°sm&ß `Çø» ÂÁ›. 

Or 

 (b) Explain the standard short cuts keys in 
power point. 

  £Áº £õ°siß {ø»¯õÚ SÖUS ÁÈ 

Âø\ø¯ ÂÍUSP. 
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15. (a) Explain the disadvantages of E-commerce. 
  ªß ÁoPzvß SøÓ£õkPøÍ ÂÍUSP. 

Or 

 (b) Discuss the types of E-commerce. 
  ªß–-ÁoPzvÀ ÁøPPøÍ ÂÁ›. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Define a computer. Explain its generations. 
 PoÛ Áøμ¯ÖUP. Auß uø» •øÓPøÍ ÂÍUSP. 

17. Explain the options available in print preview. 
 Aa_ •ßPõmi°À EÒÍ Â¸¨£z ÷uºÄPøÍ 

ÂÍUSP. 

18. Elaborate the various types of charts. Explain. 
 ÂÍUP £hzvß £À÷ÁÖ ÁøPPøÍ ÂÍUP©õP 

ÂÁ›. 

19. Discuss the components of power point window. 
 £Áº £õ°sm \õÍμzvß TÖPøÍ ÂÁõv. 

20. Explain the benefits of electronic data 
interchange. 

 ªßÚq uμÄ £›©õØÓ® GßÓõÀ GßÚ? Auß 

£¯ß£õkPøÍ ÂÁ›. 

 

—————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer ALL questions. 

1. Define the term Industrial Relations. 

 öuõÈÀxøÓ EÓÄPÒ GßÓ ö\õÀø» Áøμ¯ÖUP. 

2. Mention any two objectives of IR. 

 IR– ß H÷uÝ® Cμsk ÷|õUP[PøÍ SÔ¨¤kP. 

3. What do you understand by Trade union? 

 öuõÈØ\[P® £ØÔ }Âº AÔÁx ¯õx? 

4. Give a short note on Reformist unions. 

 ^ºv¸zuÁõu öuõÈØ\[P[PÒ SÔzx J¸ ]Ö 

SÔ¨¦ u¸P. 
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5. Define Collective bargaining. 

 Tmk ÷£μ® ÷©»õsø© GßÓõÀ GßÚ? 

6. What is participation management? 

 £[÷PØ¦ ÷©»õsø© GßÓõÀ GßÚ? 

7. Define Industrial Dispute. 

 öuõÈÀxøÓ uPμõÖ Áøμ¯ÖUP. 

8. What is Layoff? 

 uØPõ¼P ÷Áø»•hUP® GßÓõÀ GßÚ? 

9. What do you understand by ‘Factory’ under 

Factories Act 1948? 

 öuõÈØ\õø»PÒ \mh® 1948–ß RÌ ‘öuõÈØ\õø»’ 

£ØÔ }Âº AÔÁx ¯õx? 

10. Who is a young person? 

  J¸ CÍ® |£º Gß£Áº ¯õº? 
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SECTION B — (5 × 5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the scope of Industrial relations. 

  öuõÈÀxøÓ EÓÄPÎß GÀø»ø¯ ÂÍUSP. 

Or 

 (b) Bring out the role of state in Industrial 

relations. 

  öuõÈÀxøÓ EÓÄPÎÀ ©õ{»zvß £[øP 

öÁÎ¨£kzxP. 

12. (a) Trace out the origin of Trade Union. 

  öuõÈØ\[Pzvß ÷uõØÓzøuU PshÔ¯Ä®. 

Or 

 (b) State the general features of Trade unions. 

  öuõÈØ\[P[PÎß ö£õxÁõÚ A®\[PøÍU 

SÔ¨¤kP. 
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13. (a) What are the various types of collective 
bargaining? 

  Tmk ÷£μ® ÷£_u¼ß £À÷ÁÖ ÁøPPÒ 

¯õøÁ? 

Or 

 (b) Mention the objectives of Joint management 

councils. 

  Tmk {ºÁõP \ø£PÎß ÷|õUP[PøÍU 

SÔ¨¤kP. 

14. (a) Distinguish between Lock-out and Lay-off. 

  PuÁøh¨¦ ©ØÖ® uØPõ¼P ÷Áø» •hUP® 

Cøh÷¯¯õÚ ÷ÁÖ£õkPÒ ¯õx. 

Or 

 (b) Briefly discuss the provisions relating to 

illegal strikes and lock-outs. 

  \mhÂ÷μõu ÷Áø» {Özu[PÒ ©ØÖ® 

PuÁøh¨¦ öuõhº£õÚ ÂvPÒ £ØÔ 

_¸UP©õP ÂÁõvUP. 
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15. (a) Explain the objects of the Factories Act. 

  öuõÈØ\õø»PÒ  \mhzvß ÷|õUP[PÒ 
ÂÍUSP. 

Or 

 (b) State the rules relating to annual leave with 
wages. 

  T¼²hß Ti¯ Á¸hõ¢vμ Âk¨¦ 
öuõhº£õÚ ÂvPøÍ SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the various factors affecting the 
Industrial Relations in changing Environment. 

 ©õÔÁ¸® _ØÖa`ÇÀ öuõÈÀxøÓ EÓÄPøÍ 
£õvUS® £À÷ÁÖ PõμoPøÍ ÂÁ›UPÄ®. 

17. State the major provisions of Trade Union Act 
1926. 

 öuõÈØ\[Pa \mh® 1926–ß •UQ¯ \μzxUPøÍ 
TÖP. 

18. Discuss the process of Collective Bargaining. 

 Tmk ÷£μ® ÷£_® ö\¯À•øÓ £ØÔ ÂÁõvUPÄ®. 
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19. Examine the various authorities for investigation 
and settlement of industrial disputes. 

 öuõÈÀxøÓ ÷©õuÀPøÍ Â\õ›¨£uØS® wºÄ 
Põs£uØS® EÒÍ £À÷ÁÖ AvPõ›PøÍ 
Bμõ²[PÒ. 

20. Explain the provisions of the Factories Act, 1948 
with regarding to health of the workers. 

 öuõÈ»õÍºPÒ EhÀ|»® öuõhº£õÚ 
öuõÈØ\õø»PÒ \mh®, 1948–ß ÂvPøÍ 
ÂÍUSP. 

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is profession? 

 öuõÈÀ GßÓõÀ GßÚ? 

2. What are the various types of business? 

 £À÷ÁÖ ÁøP¯õÚ ÁoP[PÒ ¯õøÁ? 

3. Who is a sole-trader? 

 uÛ©Ûu ÁoPº ¯õº? 

4. Define partnership. 

 Tmhõsø©&Áøμ¯Ö. 

5. What do you mean by optimum firm? 

 Ea\ AÍÄ {ÖÁÚ® £ØÔ }Âº AÔÁx ¯õx? 

6. Find the objectives of industrial estate. 

 öuõÈØ÷£møh°ß ÷|õUP[PøÍ PshÔP. 

7. What is stock exchange? 

 £[Sa \¢øu GßÓõÀ GßÚ? 
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8. Tell any of four causes for business combination. 

 öuõÈØ ÷\ºUøPUPõÚ Põμn[PÎÀ GøÁ÷¯Ý® 

|õßQøÚU TÖP. 

9. What are the functions of trade association? 

 Áõo£ PÇPzvß ö\¯À£õkPÒ ¯õøÁ? 

10. What is chamber of commerce? 

 Áõo£ Tmk Aø©¨¦ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11.  (a) Identify the characteristics of business. 

  ÁoPzvß £s¦PøÍ Aøh¯õÍ® PõsP. 

Or 

 (b) Analyse the economic objectives of a 
business. 

  J¸ ÁoPzvß ö£õ¸Íõuõμ ÷|õUP[PøÍ 

Bμõ´P. 

12.  (a) Classify the various types of co-operative 
society.  

  TmkÓÄ {ÖÁÚ[PÎß £À÷ÁÖ ÁøPPøÍ 

ÁøP¨£kzxP. 

Or 
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 (b) List out the importance of public enterprise. 

  ö£õxzxøÓ {ÖÁÚ[PÎß •UQ¯zxÁzøu 

£mi¯¼kP. 

13.  (a) Analyse the factors affecting the optimum 
size of a firm. 

  J¸ {ÖÁÚ Ezu© AÍøÁ¨ £õvUS® 

PõμoPøÍ Bμõ´P. 

Or 

 (b) Discover the merits and demerits of urban 
plant location. 

  |Pº¨¦Ó öuõÈÀ Aø©Âhzvß ]Ó¨¦PÒ 

©ØÖ® SøÓ£õkPøÍU PshÔP.. 

14.  (a) Examine the criteria for listing of securities 
in stock exchange. 

  £[S \¢øu°À BÁn[PøÍ 

£mi¯¼kÁuØPõÚ {£¢uøÚPøÍ ÂÁ›. 

Or 

 (b) Analyse the Working of stock exchange. 

  £[Sa \¢øu°ß ö\¯À£õkPøÍ Bμõ´P. 

15.  (a) Distinguish between trade association and 
chamber of commerce. 

  Áõo£ PÇP® ©ØÖ® Áõo£ Tmk 

Aø©¨¦US Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍ 

GÊxP. 

Or 

 (b) Identify the objectives of trade association. 

  Áõo£ PÇPzvß ÷|õUP[PøÍ Aøh¯õÍ® 

PõsP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Compile the essentials of a successful business. 

 öÁØÔPμ©õÚ ÁoPzvß Azv¯õÁ]¯[PøÍ 

öuõSzx TÖP. 

17. Elaborate the features of a joint stock company. 

 Tmk¨ £[S {Ö©zvß ]Ó¨¤¯À¦PøÍ ÂÁ›. 

18. Evaluate the functions of district industrial 
centre. 

 ©õÁmh öuõÈÀxøÓ ø©¯zvß £oPøÍ ©v¨¥k 

ö\´P. 

19. Discuss the various demerits of combination. 

 öuõÈØ ÷\ºUøP°ß £À÷ÁÖ wø©PøÍ¨ £ØÔ 

ÂÁ›. 

20. Elaborate the need and functions of chamber of 
commerce. 

 Áõo£ Tmk Aø©¨¤ß AÁ]¯® ©ØÖ® 

ö\¯À£õkPøÍ ÂÁ›. 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define customer relationship management. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø© Áøμ¯Ö. 

2. What is direct marketing? 

 ÷|μi \¢øu¨£kzuÀ GßÓõÀ GßÚ? 

3. Highlight the meaning of customer learning 
relationship. 

 ÁõiUøP¯õÍº PØÓÀ EÓÂß ö£õ¸øÍU TÖP. 

4. Name any two limitations of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß H÷uÝ® 

Cμsk Áμ®¦PøÍ SÔ¨¤kP. 

5. Classify the types of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß ÁøPPøÍ 

ÁøP¨£kzxP. 
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6. Write any two ways to measure the effectiveness 
of CRM program. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø© vmhzvß 

ö\¯ÀvÓøÚ AÍÂh H÷uÝ® Cμsk ÁÈPøÍ 

TÖP. 

7. Who are customers in CRM? 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°À ÁõiUøP¯õÍºPÒ 

¯õº? 

8. Outline the concept of relationship marketing. 

 EÓÄ \¢øu¨£kzuÀ GßÓ P¸zøu ÂÍUSP. 

9. What is meant by call centre? 

 AøÇ¨¦ ø©¯zvß ö£õ¸øÍ TÖP. 

10. List out the phases in CRM implementation. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©ø  ̄ ö\¯À£kzxu¼À 

EÒÍ Pmh[PøÍ £mi¯¼kP. 

SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11.  (a) Identify the need for CRM. 

   ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß 

÷uøÁø¯ Aøh¯õÍ® PõsP. 

Or 

 (b) Discover the essential steps for effective 
product marketing. 

   £¯ÝÒÍ u¯õ›¨¦ \¢øu¨£kzxu¾UPõÚ 

Azv¯õÁ]¯ |hÁiUøPPøÍU PshÔP. 
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12.  (a) Analyse the forces driving CRM. 

   CRM I C¯US® \UvPøÍ £S¨£õ´Ä ö\´P. 
Or 

 (b) List out the benefits of CRM. 

   ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß 

|ßø©PøÍ £mi¯¼kP. 

13.  (a) Organize the components of CRM.  

   CRM Cß TÖPøÍ JÊ[Pø©UPÄ®. 
Or 

 (b) Explicate the role of CRM program. 

   ÁõiUøP¯õÍº EÓÄ ÷©»õsø© vmhzvß 

£[øP B´Ä ö\´P. 

14.  (a) Distinguish between relationship marketing 
and CRM. 

   EÓÄ \¢øu¨£kzuÀ ©ØÖ® ÁõiUøP¯õÍº 
EÓÄ ÷©»õsø© BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 
 (b) Inspect the steps required for governance 

process. 

   {ºÁõP ö\¯À•øÓUS ÷uøÁ¯õÚ £iPøÍ 

B´Ä ö\´P. 

15.  (a) Conclude the emerging trends in CRM.  

   ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°À ÁÍº¢x 

Á¸® ÷£õUSPøÍ SÔ¨¤kP. 

Or 

 (b) Examine the selection of CRM packages. 

   ÁõiUøP¯õÍº EÓÄ ÷©»õsø© öuõS¨¦PÎß 

÷uºøÁ Bμõ´P. 
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SECTION C — (3  10 = 30 marks) 

 Answer any THREE questions. 

16.  Elaborate the factors influencing customer 
satisfaction. 

 ÁõiUøP¯õÍº v¸¨vø¯ £õvUS® PõμoPøÍ 

Â›ÁõPU TÖP. 

17.  Discuss the key principles of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß •UQ¯ 

öPõÒøPPøÍ¨ £ØÔ ÂÁõv. 

18.  Evaluate the information required for an effective 
use of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß £¯ß£õmiØS 

÷uøÁ¯õÚ uPÁÀPøÍ ©v¨¥k ö\´P. 

19.  Determine the strategies involved in relationship 
marketing. 

 EÓÄ \¢øu¨£kzuÀ öuõhº£õÚ EzvPøÍ 

wº©õÛUPÄ®. 

20.  Compile the reasons for failure of CRM. 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß ÷uõÀÂUPõÚ 

Põμn[PøÍ öuõSUPÄ®. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL following questions. 

1. Define catabolism. 

2. How may ATPs are formed in TCA cycle? 

3. What is renal glycosuria? 

4. List the symptoms of diabetes mellitus. 

5. What are enzymes? 

6. Define Km. 

7. Recall the functions of Vitamin A. 

8. Name the water soluble vitamins. 

9. What are the sources of calcium? 

10. List the biological functions of Iron. 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Explain the mechanism of transamination.  

 Or 

 (b) What is glycolysis? Outline the reactions of 
glycolysis. 

12. (a) Illustrate the metabolic features of phenyl 
ketonuria. 

 Or 

 (b) What is albinism? How it is caused?  

13. (a) Explain the Induced fit theory. 

 Or 

 (b) Tabulate the role of coenzymes with 
functions in metabolism. 

14. (a) Describe the sources, RDA and functions of 
Vitamin D. 

 Or 

 (b) Outline the functions of Vitamin E. 

15. (a) Explain the sources, RDA and functions of 
phosphorus. 

 Or 

 (b) Explain the role of minerals as cofactors in 
metablism. 
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  SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16.  Elaborate on the reactions of Urea cycle. 

17.  Describe in detail about Glycogen storage 
diseases.  

18.  Explain in detail about IUB system of 
classification of enzymes. 

19.  Elaborate on the sources, RDA, biological function 
and deficiency of Vitamin C. 

20.  Summarize on the biological functions of sodium 
and potassium in the body. 

——————— 

 



563 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define Accounting. 

PnUQ¯ø» Áøμ¯Ö. 

2. What is meant by Accounting Concepts? 

 PnUQ¯À P¸zxUPÒ GßÓõÀ GßÚ? 

3. Give the golden rules of Double Entry Accounting 
System. 

 Cμmøh¨£vÄ PnUQ¯À •øÓ°ß 

ö£õßÚõÚÂvPøÍz u¸P. 

4. What is meant by Journalizing? 

 SÔ¨÷£miÀ £vÄ ö\´uÀ Gß£uß ö£õ¸Ò GßÚ? 

5. Write a note on Trading Account. 

 Â¯õ£õμU PnUS £ØÔ SÔ¨ö£ÊxP. 
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6. What are Final Accounts 

 CÖvUPnUSPÒ GßÓõÀ GßÚ? 

7. Define Single Entry System. 

 JØøÓ¨ £vÄ •øÓUS Áøμ¯ÖUPÄ®. 

8. What is Networth Method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

9. What is meant by Bank Overdraft? 

 Á[Q ÷©ÀÁøμ¨£ØÖ GßÓõÀ GßÚ? 

10. What is Bank Reconciliation Statement? 

 Á[Qa \›Pmk® £mi¯À GßÓõÀ GßÚ? 

SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) What is Matching Concept? Why should a 
business concern follow this Concept? 

  ö£õ¸zxøPP¸zx GßÓõÀ GßÚ? Hß J¸ 

ÁoP Aø©¨¦ CUP¸zøu¨ 

¤ß£ØÓ÷Ásk®? 

Or 



 563 3

 (b) Why are the following parties interested in 
Accounting Information? 

  (i) Investors  
  (ii)  Government. 
  PnUQ¯À uPÁÀPÎÀ ¤ßÁ¸® 

£¯ÜmhõÍºPÒ Hß BºÁ©õP EÒÍÚº 

  (i) •u½mhõÍºPÒ  
  (ii)  Aμ_ 
12. (a) Kannan is a sole proprietor having a 

provisions store. Following are the 
transactions during the month of January, 
2020. Journalise them. 

  Rs. 

01 Commenced business with cash 1,00,000
04 Purchased goods from Lipton & Co. on 

credit 
10,000

05 Sold goods to Joy and received cash 11,000

  Psnß GßÝ® uÛÁoPº J¸ £»\μUS 

Pøh°øÚ |hzv Á¸QÓõº. 2020, áÚÁ›°À 

AUPøh°ß |hÁiUøPPÒ ¤ßÁ¸©õÖ 

C¸¢uÚ. AøÁPøÍU SÔ¨÷£miÀ £vÄ 

ö\´P. 

  ¹. 
01 öμõUPzxhß öuõÈÀ öuõh[Q¯x 1,00,000
04 ¼¨hß {ÖÁÚzvhª¸¢x \μUSPøÍ 

PhÝUS öPõÒ•uÀ ö\´ux 

10,000

05 áõ´ Gß£Á›h® öμõUPzvØS \μUS ÂØÓx 11,000

Or 
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 (b) The following are the transactions of 
Kumaran, Prepare Ledger Accounts. 

2020 
June 

 Rs. 

05 Started business with cash 1,00,000

15 Sold goods on credit to Selva for 10,000

22 Goods sold for cash 15,000

  ¤ßÁ¸® |hÁiUøPPÒ S©μß, ÷£÷μmkU 

PnUSPøÍ PõmkP.  

2020 
áüß 

 ¹. 

05 öμõUPzxhß öuõÈÀ öuõh[Q¯x 1,00,000

15 ö\ÀÁõ Gß£Á¸US PhÝUS \μUS 

ÂØÓx 

10,000

22 öμõUPzvØS \μUS ÂØÓx 15,000

13. (a) From the following information, prepare 
Trading Account for the year ended 
31.12.2020. 

Particulars Rs. 

Opening stock (1.1.2020) 10,000

Purchases 26,100

Sales 40,600

Closing stock (31.12.2020) 13,500
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  RÌUPõq® uPÁÀPÎ¼¸¢x 2020, i\®£º 31 

B® |õ÷Íõk •iÁøh²® BsiØS›¯ 

Â¯õ£õμUPnUS u¯õ›UPÄ®. 

ÂÁμ® ¹. 

öuõhUPa \μUQ¸¨¦ (1.1.2020) 10,000

öPõÒ•uÀ 26,100

ÂØ£øÚ 40,600

CÖva \μUQ¸¨¦ (31.12.2020) 13,500

Or 

 (b) Show necessary Adjustment Entries the 
following on 31st December, 2020. 

  (i) Outstanding salaries  Rs.1,200 

  (ii) Prepaid insurance premium Rs.   400 

  2020, i\®£º 31 B® |õÍßÖ, RÌUPsh 

\›PmkuÀPÐUSz ÷uøÁ¯õÚ \›UPmk¨ 

£vÄPÒ u¸P. 

  (i) öPõk£h ÷Ási¯ \®£Í®    Rs.1,200 

  (ii) •ßTmia ö\¾zv¯ Põ¨¥k •øÚ©® 

 Rs.   400 

14. (a) Mention the procedure to calculate profit by 
Statement of Affairs Method. 

  {ø» AÔUøP •øÓ°À C»õ£® AÀ»x 

|mh® PnUQk® ÁÈ•øÓø¯ ÂÁ›. 

Or 
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 (b) Mention the procedure to calculate profit by 
Conversion Method. 

  ©õØÖuÀ •øÓ°À C»õ£® AÀ»x |mh® 

PnUQk® ÁÈ•øÓPøÍ ÂÁ›. 

15. (a) Give any three reasons for preparing Bank 
Reconciliation Statement. 

  Á[Qa \›UPmk® £mi¯À u¯õ›¨£uØPõÚ 

‰ßÖ Põμn[PøÍz u¸P. 

Or 

 (b) State the timing differences in Bank 
Reconciliation Statement with examples. 

  Á[Qa \›Pmk® £mi¯À Põ» CøhöÁÎPÍõÀ 

HØ£k® ÷ÁÖ£õkPøÍ GkzxUPõmkhß u¸P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Briefly explain the various important accounting 
concepts and conventions. 

 PnUQ¯¼ß £À÷ÁÖ •UQ¯©õÚ ÷Põm£õk 

P¸zxPÒ ©ØÖ® ©μ¦PøÍ ÂÁ›UPÄ®. 
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17. From the following balances extracted from the 
books of Raju a trader on automobiles, prepare 
trial balance as on 31st March, 2020: 

Particulars Rs. Particulars Rs. 

Cash in hand 5,500 Discount received 300

Direct 
expenses 

5,000 Carriage 
outwards 

3,500

Creditors 15,000 Buildings 50,000

Capital 45,000 Purchases 49,700

Opening stock 6,000 Sales 59,400

 ÷©õmhõº ÁõPÚ¨ ö£õ¸mPøÍ ÂØ£øÚ ö\´²® 

μõáü Gß£Áμx  HkPÎ¼¸¢x 2020 ©õºa 31 B® 

|õÍßÖ GkUP¨£mh PnUSPÎß ¤ßÁ¸® 

C¸¨¦PÎ¼¸¢x C¸¨£õ´Ä u¯õ›UPÄ®. 

ÂÁμ® ¹. ÂÁμ® ¹. 

øP öμõUP® 5,500 ö£ØÓ uÒÐ£i 300

÷|μia 

ö\»ÄPÒ 

5,000 öÁÎz yUSUT¼ 3,500

PhÜ¢÷uõº 15,000 Pmhh® 50,000

•uÀ 45,000 öPõÒ•uÀ 49,700

öuõhUPa 

\μUQ¸¨¦ 

6,000 ÂØ£øÚ 59,400
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18. From the following balances of Ram, prepare 

Balance Sheet as on 31st December, 2020. 

Particulars Debit 

Rs. 

Credit 

Rs. 

Plant and machinery 8,00,000 -

Land and building 6,00,000 -

Furniture 1,50,000 -

Cash in hand 20,000 -

Bank overdraft - 1,80,000

Debtors and creditors 3,20,0000 2,40,000

Bills receivable and bills 

payable 

1,00,000 60,000

Closing stock 4,00,000 -

Investment (short-term) 80,000 -

Capital - 15,00,000

Drawings 1,30,000 -

Net profit - 6,20,000

Total 26,00,000 26,00,000
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 Cμõ©Ûß C¸¨¦PÎ¼¸¢x 2020, i\®£º 31 B® 

|õøÍ¯ C¸¨¦{ø»U SÔ¨¦ u¯õ›UPÄ®. 

ÂÁμ® £ØÖ 

¹. 

ÁμÄ 

¹. 

ö£õÔ ©ØÖ® C¯¢vμ® 8,00,000 -

{»® ©ØÖ® Pmhh® 6,00,000 -

AøÓP»ß 1,50,000 -

øPöμõUP® 20,000 -

Á[Q ÷©À Áøμ¨£ØÖ - 1,80,000

PhÚõÎPÒ ©ØÖ® 

PhÜ¢÷uõº 

3,20,0000 2,40,000

ö£ÖuØS›¯ ©ØÓ® 

ö\¾zuØS›¯ 

1,00,000 60,000

©õØÖa^mk CÖva 

\μUQ¸¨¦ 

4,00,000 -

SÖQ¯ Põ» •u½kPÒ 80,000 -

•uÀ - 15,00,000

Gk¨¦PÒ 1,30,000 -

{Pμ C»õ£® - 6,20,000

ö©õzu® 26,00,000 26,00,000
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19. Prakash keeps his books by ‘Single Entry System’. 
His position on 1.4.2019 and31.3.2020 was as 
follows: 

 1.4.2019 
Rs. 

31.3.2020
Rs. 

Cash 
Bank Balance 
Stock 
Sundry Debtors 
Furniture 
Sundry Creditors 

500
10,000

7,000
30,000

6,000
6,000

6,000
15,000
10,000
40,000

6,000
12,000

 He introduced an additional capital of Rs8,000 
during the financial year. He withdrew Rs. 14,000 
for domestic purpose. Find out the profit for the 
year ended 31.3.2020. 

 v¸. ¤μPõè uÚx HkPøÚ JØøÓ¨£vÄ •øÓ°À 

£μõ©›zx Á¸QÓõº. 01.04.2019 AßÖ®, 31.03.2020 

AßÖ® AÁ¸øh¯ {ø» RÌUPshÁõÖ C¸¢ux 

 1.4.2019 
¹. 

31.3.2020
¹. 

öμõUP® 
Á[Q C¸¨¦ 
\μUQ¸¨¦ 
£Ø£» PhÚõÎPÒ 
AøÓP»ß 
£Ø£» PhÜ¢÷uõº 

500
10,000

7,000
30,000

6,000
6,000

6,000
15,000
10,000
40,000

6,000
12,000
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 {v¯õsiß Cøh°À ¹.8,000 TkuÀ •u»õP 

Ch¨£mhx. AÁº ¹.14,000 uÚx ö\õ¢u 

£¯ß£õmiØPõP GkzxU öPõshõº. 2020 ©õºa 31 

B® |õ÷Íõk •iÁøh²® BsiØS›¯ C»õ£® 

PshÔP. 

20. From the following information, prepare Bank 
Reconciliation Statement to find out balance as 
per bank statement on 31st March 2020. 

 Particulars Rs. 

(a) Cheques deposited but not yet 
collected by the bank 

500

(b) Cheque issued but not yet 
presented for payment 

1,000

(c) Bank interest charged 100

(d) Rent paid by bank as per 
standing instruction 

200

(e) Cash book balance 300

 RÌUPsh uPÁÀPÎ¼¸¢x 2020 ©õºa 31, B® 

|õÍßøÓ¯ Á[Qa \›Pmk® £mi¯À u¯õº ö\´x 

Á[Q AÔUøP°ß £i¯õÚ C¸¨¤øÚU 

PshÔ¯Ä®. 

 ÂÁμ® ¹. 

(A) Á[Q°À øÁ¨¦ ö\´u 

Põ÷\õø» Á`¼zx ÁμÄ 

øÁUP¨£hõux 

500



 563 12

 ÂÁμ® ¹. 

(B) Âkzu Põ÷\õø» ö\¾zx 

øPUS CxÁøμ 

•ßÛø»¨£kzu¨£hõux 

1,000

(C) Á[Q¯õÀ ¤izu® ö\´¯¨£mh 

Ámi 

100

(D) {ø» AÔÄÖzu¼ß£i Á[Q 

ö\¾zv¯ ÁõhøP 

200

(E) öμõUP Hmiß £i C¸¨¦ 300

 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What are the types of branches? 

 QøÍPÎß ÁøPPÒ ¯õøÁ? 

2. What is an independent branch? 

 uÛzu QøÍ GßÓõÀ GßÚ? 

3. What are indirect expenses? 

 ©øÓ•P ö\»ÄPÒ GßÚ? 

4. Give two examples for expenses which are 
allocated under sales ratio. 

 ÂØ£øÚ ÂQuzvÀ £SUP¨£k® ö\»ÂÚ[PÐUS 

Cμsk GkzxUPõmkPøÍz u¸P. 

5. What do you mean by repossession? 

 ©ÖEøhø© Gß£uß ö£õ¸Ò GßÚ? 
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6. What are the methods of calculating profit under 

hire purchase transactions? 

 ÁõhøP öPõÒ•uÀ £›ÁºzuøÚPÎß RÌ »õ£zøuU 

PnUQkÁuØPõÚ •øÓPÒ ¯õøÁ? 

7. What will be the profit sharing ration in the 

absence of partnership deed? 

 Tmhõsø© J¨£¢u® CÀ»õu {ø»°À C»õ£ 

£QºÄ ÂQu® GßÚÁõP C¸US®? 

8. What is the formula for calculating goodwill under 

super profit method? 

 ªuªg]¯ ]Ó¨¦ »õ£ •øÓ°ß RÌ |Øö£¯º 

PnUQkÁuØPõÚ `zvμ® GßÚ? 

9. What is the maximum number of partners for an 

ordinary firm and a banking firm? 

 J¸ \õuõμn Tmhõsø©°¾® ©ØÖ® Á[Q öuõÈÀ 

¦›²® Tmhõsø©°¾® AvP£m\ TmhõÎPÎß 

GsoUøP ¯õøÁ? 

10. Who is a sleeping partner? 

 y[S® TmhõÍº Gß£Áº ¯õº? 
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SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) What are the various types of Branch 

Accounting? 

  QøÍ PnUQ¯¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) A Chennai head office has a branch at Salem 

to which goods are invoiced at cost plus 20%. 

From the following particulars, prepare 

Branch A/c in the head office books: 

 Rs. 

Goods sent to branch 2,11,872

Total sales 2,06,400

Cash sales 1,10,400

Cash received from branch debtors 88,000  

Branch debtors on 1.1.2009 24,000

Branch stock on 1.1.2009 7,680

Branch stock on 3 1.12.2009 13,440
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  J¸ ö\ßøÚ uø»ø© A¾Á»P® ÷\»zvÀ 

EÒÍ AuÝøh¯ QøÍUS ö£õ¸mPøÍ AhUP 

Âø»²hß Tku»õP 20% ÷\ºzx 

Âø»¨£mi¯À AÝ¨¤¯x. ¤ßÁ¸® 

ÂÁμ[PÎ¼¸¢x uø»ø© A¾Á»P HkPÎÀ 

QøÍ PnUS u¯õº ö\´²[PÒ. 

 ¹. 
QøÍUS AÝ¨£¨£mh ö£õ¸mPÒ 2,11,872
ö©õzu  ÂØ£øÚ 2,06,400
öμõUP ÂØ£øÚ 1,10,400
QøÍ PhÚõÍºPÎhª¸¢x ö£Ó¨£mh öμõUP® 88,000  
1.1.2009 AßÖ QøÍ PhÚõÎPÒ 24,000
1.1.2009 AßÖ QøÍ \μUQ¸¨¦ 7,680
31.12.2009 AßÖ QøÍ \μUQ¸¨¦ 13,440

12. a) From the following details, prepare 
departmental trading accounts 
 Department A 

Rs. 
Department B

Rs. 

Opening stock 9,000 8,400

Total purchases 27,000 21,600

Total sales 42,000 36,000

Closing stock 10,800 4,800

Credit purchases 17,000 10,600

Credit sales 5,000 6,000
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x xøÓ\õº Â¯õ£õμ 

PnUSPøÍz u¯õ›UPÄ®. 

 xøÓ A 
¹. 

xøÓ B
¹. 

öuõhUPa \μUQ¸¨¦ 9,000 8,400

ö©õzu öPõÒ•uÀ 27,000 21,600

ö©õzu ÂØ£øÚ 42,000 36,000

CÖva \μUQ¸¨¦ 10,800 4,800

Phß öPõÒ•uÀ 17,000 10,600

Phß ÂØ£øÚ 5,000 6,000

Or 

 (b) Explain the procedure for preparation of 
departmental accounts. 

  xøÓÁõ› PnUSøÍz u¯›¨£uØPõÚ 

|øh•øÓPøÍ ÂÍUS[PÒ. 

13. (a) ‘X’ purchased a machine under hire purchase 
system. According to the terms of the 
agreement Rs. 40,000 was to be paid on 
signing of the contract. The balance was to 
be paid in four annual installments of  
Rs. 25,000 each plus interest. The cash price 
was Rs. 1,40.000. Interest is chargeable on 
outstanding balance at 20% per annum. 
Calculate interest for each year and the 
installment amount. 
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  GUì Gß£Áº ÁõhøP öPõÒ•uÀ •øÓ°ß 

RÌ J¸ C¯¢vμzøu Áõ[QÚõº. J¨£¢uzvß 

Âv•øÓPÎß £i J¨£¢uzvÀ 

øPö¯Êzvmh÷£õx 40,000 ö\¾zvÚõº 

«u•ÒÍ öuõøPø¯ |õßS Bsk 

uÁønPÎÀ u»õ ¹.25,000Ähß Ámi ÷\ºzx 

ö\¾zu¨£h÷Ásk®. öμõUP Âø» ¹.1,40,000 

BS®. {¾øÁ°À EÒÍ C¸¨¦ «x 20% Ámi 

PnUQh¨£kQÓx. JÆöÁõ¸ BskUS® 

Ámi ©ØÖ® uÁønz öuõøPø¯ 

PnUQk[PÒ. 

Or 

 (b) What is installment purchase system? What 
are its characteristics? 

  uÁøn öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? Auß 

]Ó¨¤¯À¦PÒ ¯õøÁ? 

14. (a) A and B are partners sharing profits in the 
ratio of 3 : 2. They admit C into partnership. 
C paying a premium of Rs. 1,000 for 1/4 
share of profit. No goodwill account appears 
in the books. They withdraw the amount of 
goodwill. Journalise. 
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  A ©ØÖ® B •øÓ÷¯ 3 : 2 GßÓ ÂQuzvÀ 

»õ£zøu¨ £Qº¢x öPõÒQßÓÚº. C Gß£Áøμ 

¦v¯ TmhõÎ¯õP ÷\ºzxU öPõÒQßÓÚº. 

AÁº uÚx 1/4 £[QØS ¹.1,000 AvP® 

u¸QßÓõº. BÚõÀ |Øö£¯º HkPÎÀ Hx® 

Ch® ö£ÓÂÀø». |Øö£¯øμ AÁºPÒ 

GkzxUöPõÒQßÓÚº. SÔ¨¤mk £vÄPøÍ 

u¸P. 

Or 

 (b) Explain the meaning and essential features 
of partnership. 

  Tmhõsø©°ß ö£õ¸Ò ©ØÖ® •UQ¯©õÚ 

A®\[PøÍ ÂÍUSP. 

15. (a) A, B and C are in partnership sharing profits 
and losses in the ratio of 3 : 2 : 1. ‘A’ decides 
to retire from the business while ‘B’ and C’ 
continue the business sharing profits and 
losses in their previous ratio. The goodwill of 
the firm is valued at Rs. 24,000. Pass entries 
for goodwill when 

  (i) The unrecorded goodwill is brought in 
to the books 

  (ii) The goodwill is raised and is written off 

  (iii) A’s share of goodwill is given to him 
without raising goodwill account 
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  A, B ©ØÖ® C BQ÷¯õº 3 : 2 : 1 GßÓ ÂQuzvÀ 

C»õ£®  |mh[PøÍ £Q¢x öPõÒQßÓÚº. A 

Gß£Áº ÁoPzv¼¸¢x K´Ä ö£Ó •iÄ 

ö\´uõº. BÚõÀ ‘B’ ©ØÖ® ‘C’ BQ÷¯õº 

Â¯õ£õμzøu •ß C¸¢u ÂQuzvÀ C»õ£® 

©ØÖ® |mhzøu £Qº¢x öPõsk 

öuõhºQßÓÚº. Tmhõsø©°ß |Øö£¯º 

¹.24,000 GÚ ©v¨¤h¨ £kQÓx. 

|Øö£¯¸UPõÚ SÔ¨÷£mk¨ £vÄPøÍ RÌ 

Á¸® {ø»°À u¸P. 

  (i) £vÄ ö\´¯¨£hõu |Øö£¯º HmkUS 

öPõsk Áμ¨£kQÓx. 

  (ii) |Øö£¯º AvP›zux ©ØÖ® v¸®£ 

ö£Ó¨£mhx 

  (iii) |Øö£¯º PnUøP E¯ºzuõ©À A °ß 

|Øö£¯º £[S AÁ¸US 

ÁÇ[P¨£kQÓx. 

Or 

 (b) Write short notes on: 

  (i) Interest on capital 

  (ii) Interest on drawings 

  ]Ö SÔ¨¦PøÍ ÁøμP 

  (i) ‰»uÚzvß «uõÚ Ámi 

  (ii) Gk¨¦ «uõÚ Ámi 



 568 9

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Explain the features of different types of branches 
and the type accounting followed in them. 

 £À÷ÁÖ ÁøP¯õÚ QøÍPÎß A®\[PøÍ²® 

AÁØÔÀ ¤ß£ØÓ¨£mh PnUS ÁøPPøÍ ÂÍUSP. 

17. What is complete repossession? Explain the 
procedure to account for it in the books of buyer 
and seller. 

 öPõÒ•uÀ uÁøn •øÓ°À ö\õzxUPøÍ 

•Êø©¯õP GkzxU öPõÒÐuÀ GßÓõÀ GßÚ? 

Áõ[S£Áº ©ØÖ® ÂØ£øÚ¯õÍ›ß HkPÎÀ AøuU 

PnUQkÁuØPõÚ |øh•øÓø¯ ÂÍUS[PÒ. 

18. The following purchases were made by a business 
having three departments. 

Department A  1,000 units  
Department B 2,000 units at a total cost of 

Rs.1,00,000 
Department C 2,400 units  
Sales of three departments were as follows : 
Department A 1,020 units 

@ Rs.20 per 
unit 

 

Department B 1,920 units 
@ Rs.22.50 
per unit 

 

Department C 2,496 units 
@ Rs.25 per 
unit 
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Other information above stock in the beginning was 
as follows : 
Department A 120 units  
Department B 80 units  
Department C 152 units  

 

 The rate of gross profit is same in each case. 
Prepare departmental trading account. 

 ‰ßÖ xøÓPøÍU öPõsh  J¸ ÁoPzvÀ ¤ßÁ¸® 

öPõÒ•uÀ ö\´¯¨£mhx. xøÓPÒ ¤ßÁ¸©õÖ 

xøÓ A  1,000 A»SPÒ  

xøÓ B 2,000 A»SPÒ ö©õzu ö\»Ä 

¹1,00,000 

xøÓ C 2,400 A»SPÒ  

‰ßÖ xøÓPÎß ÂØ£øÚ ¤ßÁ¸©õÓ 

xøÓ A 1,020 A»SPÒ @ 

J¸ ³ÛmkUS 

20 ¹£õ´ 

 

xøÓ B 1,920 A»SPÒ @ 

J¸ ³ÛmkUS 

22.50 ¹£õ´ 

 

xøÓ C 2,496 A»SPÒ @ 

J¸ ³ÛmkUS 

25 ¹£õ´ 

 

Bμ®£ \μUQ¸¨¦ £ØÔ¯ ¤Ó uPÁÀPÒ ¤ßÁ¸©õÖ : 
xøÓ A 120 A»SPÒ  

xøÓ B 80 A»SPÒ  

xøÓ C 152 A»SPÒ  
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 JÆöÁõ¸ xøÓ°ß ö©õzu C»õ£ ÂQu® 

\›\©©õS®. xøÓ Áõ›¯õÚ Â¯õ£õμ PnUøPz 

u¯õ›UPÄ®. 

19. A firm earned net profits during the last three 
years as follows 

 Rs 

I Year  36,000

II Year 40,000

III Year 44,000

 The capital investment of the firm is Rs. 1,20,000. 
A fair return on the capital having regard to the 
risk involved is 10%. Calculate the value of 
goodwill on the basis of 3 years purchase of super 
profits. 

 J¸ {ÖÁÚ® Ph¢u ‰ßÖ BskPÎÀ Dmi¯ {Pμ 

»õ£zøu ¤ßÁ¸©õÖ 

 ¹. 

I Bsk 36,000

II Bsk 40,000

III Bsk 44,000

 A¢{ÖÁÚzvß ‰»uÚ. •u½k ¹.1,20,000 BS®. 

A£õ¯zøu PnUQmh ¤ÓPõÚ •u½k «uõÚ 

{¯õ¯©õÚ «Ò Á¸øP 10% BP EÒÍx. 3 Á¸h 

(`¨£º »õ£®) ªøP C»õ£U öPõÒ•uÀ 

Ai¨£øh°À |Øö£¯øμU ©v¨ø£U PnUQkP. 



 568 12

20. What is partnership? Explain the contents of 
partnership deed. 

 Tmhõsø© GßÓõÀ GßÚ? Tmhõsø© 

J¨£¢uzvß EÒÍhUP[PøÍ ÂÍUSP. 

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Correlation. 

 JmkÓÄ Áøμ¯Ö. 

2. What is meant by Positive Correlation? 

 ÷|›øh JmkÓÄ Gß£vß ö£õ¸Ò GßÚ? 

3. What is Regression? 

 öuõhº¦ ÷£õUS GßÓõÀ GßÚ? 

4. State the properties of regression lines. 

 öuõhº¦ ÷£õUS ÷PõkPÎß ußø©PøÍ TÖP. 

5. Define Index number. 

 SÔ±mk Gs Áøμ¯Ö. 

6. What are the uses of Index numbers? 
 SÔ±mk GsPÎß £¯ßPÒ ¯õøÁ? 
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7. Define time series. 
 Põ»® öuõhº Áøμ¯Ö. 

8. Write the components of time series analysis. 
 Põ»®\õº öuõhº £S¨£õ´Âß EmTÖPøÍ GÊxP. 

9. Define probability. 
 {PÌuPÄ Áøμ¯Ö. 

10. State the Addition Theorem on Probability. 
 {PÌuPÂß TmhÀ ÷uØÓzøu TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a) From the following data calculate the rank 
correlation.   

X: 48 33 40 9 16 16 65 24 16 57 

Y: 13 13 24 6 15 4 20 9 6 19 

  ¤ßÁ¸® ÂÁμ[PÐUS uμ Á›ø\ JmkÓøÁU 

PnUQkP. 

X: 48 33 40 9 16 16 65 24 16 57 

Y: 13 13 24 6 15 4 20 9 6 19 

Or 

 (b) Explain the different types of correlation 
coefficient. 

  £À÷ÁÖ ÁøP¯õÚ JmkÓÄUöPÊøÁ 

ÂÍUSP.  
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12. (a) If ;y;x 10020   80125 .r;; yx   

find out the regression equation of y on x . 

;y;x 10020  ;; yx 125  80.r   

GÚU öPõsk  y  «uõÚ  x  öuõhº¦ ÷PõUS 

\©ß£õkPøÍU PõsP. 

Or 

 (b) Discuss the importance of Regression 

Analysis. 

  öuõhº¦ ÷£õUS B´Âß •UQ¯zxÁzøu 

ÂÁõvUPÄ®.  

13. (a) Calculate the cost of living index number 

from the following data. 

Items Base Year 

Price 

Current Year 

Price 

Weight 

Food 30 47 4 

Fuel 8 12 2 

Clothing 14 18 3 

House Rent 22 15 2 

Miscellaneous 25 30 1 
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  ¤ßÁ¸® ÂÁμ[PÐUS ÁõÌUøPa ö\»ÄU 

SÔ±möhs PõsP. 

ö£õ¸Ò uÍ Bsk 

Âø» 
|h¨¦ Bsk

Âø» 

Gøh

EnÄ 30 47 4 
G›Áõ² 8 12 2 
Eøh 14 18 3 
ÁõhøP 22 15 2 
Cuμ 25 30 1 

Or 
 (b) Explain the characteristics of Index 

numbers. 

  SÔ±mk GsPÎß £s¦PøÍ ÂÍUSP.  

14. (a) Fit a trend line by the method of Semi - 
averages to the given below. 

Year: 2004 2005 2006 2007 2008 2009 2010 2011

 Sales 412 438 444 454 470 482 490 500 

R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS 

£õv&\μõ\› •øÓ°À J¸ ÷£õUS ÷Põmøh 

ö£õ¸zxP. 

Bsk 2004 2005 2006 2007 2008 2009 2010 2011

ÂØ£øÚ 412 438 444 454 470 482 490 500 

Or 
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 (b) Calculate 3-yearly moving average for the 
following data.   

Year: 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001

Values: 21 22 23 25 24 22 25 26 27 26

  ‰ßÖ BskPÐUPõÚ |P¸® \μõ\›ø¯ 

RÌPsh ÂÁμ[PÐUS PnUQkP. 

Bsk 1992 1993 1994 1995 1996 1997 1998 1999 2000 2001

©v¨¦ 21 22 23 25 24 22 25 26 27 26

15. (a) State and prove multiplication theorem of 
probability. 

{PÌuPÂß ö£¸UPÀ ÷uØÓzøu TÔ, 

{¸¤UPÄ®. 

Or 

 (b) A bag contains 6 white, 4 red and 10 black 
balls, two balls are drawn at random. Find 
the probability that they will both be black. 

  J¸ ø£°À 6 öÁÒøÍ, 4 ]Á¨¦ ©ØÖ® 10 

P¸¨¦ £¢xPøÍU öPõskÒÍx. ÷|õUPªßÔ 

Cμsk £¢xPÒ GkUP¨£kQßÓÚ. Cμsk 

£¢xPÐ® P¸¨£õP C¸UP GßÚ {PÌuPÄ 

GÚU Psk¤i. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16.  Find the coefficient of correlation for the following 

data.   

Sales: 20 30 32 35 40 46 52 55 58 62 

Expenses: 11 12 10 13 14 16 15 17 18 19 

 ¤ßÁ¸® ÂÁμ[PÐUS JmkÓÄU öPÊøÁU PõsP. 

ÂØ£øÚ :  20 30 32 35 40 46 52 55 58 62 

ö\»Ä : 11 12 10 13 14 16 15 17 18 19 

17. The following data give the ages and blood 

pressure of woman.  

Age: 56 42 36 47 49 42 60 72 63 55 

Blood 

Pressure: 

147 125 118 128 145 140 155 160 149 150

 Find the regression equation Y on X and also 

estimate the blood pressure of a women whose age 

is 45 years. 
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 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÐUS ö£sPÎß 

Cμzu AÊzuzøu Ai¨£øh¯õPU öPõsk Ehß 

öuõhº¦ ÷£õUS \©ß£õk  Y «x X ø¯ PõsP ©ØÖ® 

ö£sPÎß Á¯x 45 BP C¸US® ÷£õx Cμzu 

AÊuzvß ©v¨ø£ PõsP. 

Á¯x : 56 42 36 47 49 42 60 72 63 55 

Cμzu 

AÊzu®: 

147 125 118 128 145 140 155 160 149 150

18. Compute Laspeyre’s Paasche’s, Fishers Ideal 

Index numbers for the following data. 

Commodity 2000 2001 

 Price Quantity Price Quantity

A 5 25 6 30 

B 3 8 4 10 

C 2 10 3 8 

D 10 4 3 5 

 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk ÷»ì¤¯º, £õì] 

©ØÖ® ¤åº&ß ]Ó¢u SÔ±mk GsPøÍ PnUQkP. 

ö£õ¸Ò 2000 2001 
 Âø» AÍÄ Âø» AÍÄ 

A 5 25 6 30 
B 3 8 4 10 
C 2 10 3 8 
D 10 4 3 5 
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19. Fit a straight line trend by the method of least 
square for the following data.  

Year: 2001 2002 2003 2004 2005 2006 2007

Production: 60 72 75 65 80 85 95 

 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk «a]Ö ÁºUP 

•øÓ°À J¸ ÷|º ÷£õUSU ÷Põmøh¨ ö£õ¸zxP. 

Bsk  2001 2002 2003 2004 2005 2006 2007 

EØ£zv 60 72 75 65 80 85 95 

20. State and prove Baye’s Theorem. 

 ÷£¯ì ÷uØÓzøu TÔ, {¸¤UPÄ®. 

  

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is mean logistics management? 

 \μõ\› uÍÁõh ÷©»õsø© GßÓõÀ GßÚ? 

2. Who is Customer? 

 ÁõiUøP¯õÍº Gß£Áº ¯õº? 

3. What is material handling? 

 ö£õ¸Ò øP¯õÐuÀ GßÓõÀ GßÚ? 

4. Give meaning about inventory management. 

 \μUS ÷©»õsø© Gß£uß ö£õ¸Ò u¸P.  

5. List out the transportation modes. 

 ÷£õUSÁμzx •øÓPøÍ £mi¯¼kP.  

6. Explain the freight management. 

 \μUS {ºÁõPzøu ÂÍUS.  

 JUNE/JULY 2021
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7. What is the meaning of logical planning? 

 uºUPŸv¯õÚ vmhªh¼ß ö£õ¸Ò GßÚ? 

8. What is distribution channel? 

 Â{÷¯õP ÁÈPÒ GßÓõÀ GßÚ? 

9. Explain motor vehicles act. 

 ÷©õmhõº ÁõPÚ[PÒ \mhzøu TÖ.  

10. What is bill of lading? 

 P¨£À HØÖ©v J¨£¢u ^mk GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions. 

11. (a)  List out the Objectives of logistics 
management. 

  uÍÁõh {ºÁõPzvß ÷|õUP[PøÍ £mi¯¼kP.  

Or 

 (b)  Explain the scope of logistics management.  

  uÍÁõh {ºÁõPzvß GÀø»PÒ TÖP.  

12. (a)  State the components of supply chain. 

  Â{÷¯õP \[Q¼°ß TÖPøÍ TÖ.  

Or 
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 (b)  Explain the various types of warehousing.  

  £À÷ÁÖ ÁøP¯õÚ Qh[SPøÍ TÖP.  

13. (a) Why is transportation infrastructure 
important? 

  ÷£õUSÁμzx EÒPmhø©¨¦ Hß 

•UQ¯©õÚx? 

Or 

 (b)  Interpret the freight management. 

  \μUS {ºÁõPzøu ÂÍUS[PÒ.  

14. (a)  List out the logical planning. 

  uºPŸv¯õÚ vmhªhø» £mi¯¼kP.  

Or 

 (b) Discover the logistics infrastructure needs. 

  uÍÁõh EÒPmhø©¨¦ ÷uøÁPøÍ 

PshÔ¯Ä®.  

15. (a)  Demonstrate about motor vehicles act. 

  ÷©õmhõº ÁõPÚ[PÒ \mh[PøÍ ÂÁ›.  

Or 

 (b) Explain in detail about bill of lading. 

  P¨£À HØÖ©v J¨£¢u ^mk £ØÔ TÖ.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Classify the functions of logistics management. 

 uÍÁõh[PÒ {ºÁõPzvß ö\¯À£õkPøÍ 

ÁøP¨£kzuÄ®.  

17. Construct the layout of warehouse. 

 Qh[Qß Aø©¨¤øÚ E¸ÁõUS.  

18. What are the factor consider while choosing route 
optimization for logistics business. 

 uÍÁõh ÁoPzvØPõÚ £õøu°øÚ ÷uºÄ ö\´²® 

÷£õx GßÚ PõμoPøÍ P¸zvÀ öPõÒÍ ÷Ásk®.  

19. Develop the levels of distribution channels.  

 Â{÷¯õP •øÓPÎß AÍøÁ E¸ÁõUS[PÒ.  

20. Explain in detail about Govt policies and 
regulations of motor vehicles act.  

 ÷©õmhõº ÁõPÚ[PÎß Âv•øÓPÎÀ Aμ]ß 

öPõÒøPPøÍ ÂÍUS[PÒ.  

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. Define the term ‘Per capital Income'. 

 u»õ Á¸©õÚ® Gß£øu Áøμ¯Ö. 

2. Explain the concept of National Income. 

 ÷u]¯ Á¸©õÚzvß P¸zøu ÂÍUSP. 

3. What is strategy of planning? 

 u¢vμ©õP vmhªhÀ Gß£x GßÚ? 

4. Why is NITI Aayog established? 

 GßIiI B÷¯õU Hß E¸ÁõUP¨£mhx? 

5. Explain the meaning of Globalisation. 

 E»P©¯©õUPÀ Gß£øu ÂÍUSP. 
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6. What do you mean by liberalisation? 

 uõμõÍ©¯©õUPÀ Gß£øu £ØÔ } AÔÁx ¯õx? 

7. Tell the importance of land transport.  

 uøμÁÈ¨ ÷£õUSÁμzvß •UQ¯zxÁzøu TÖ. 

8. Why is sea transportation important? 

 PhÀ ÷£õUSÁμzx Hß •UQ¯©õQÓx? 

9. Show the BPO services in India. 

 C¢v¯õÂß ÁoP ö\¯À •øÓ AÄm÷\õºê[øP 

(BPO) PõmkP. 

10. Is India good in Information Technology? 

 C¢v¯õÂÀ uPÁÀ öuõÈÀ ~m£® ]Ó¨£õP EÒÍuõ? 

SECTION B — (5  5 = 25 marks)  

   Answer ALL questions. 

11. (a) Which is not included in estimation of 
national income? 

  ÷u]¯ Á¸©õÚ® PnUQk®÷£õx G¢öu¢u  

CÚ[PÒ ÷\ºzxUöPõÒÐÁvÀø»? 

Or 
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 (b) Explain the four components of national 

income. 

  ÷u]¯ Á¸©õÚzv¾ÒÍ |õßS TÖPøÍ 

ÂÍUSP. 

12. (a) What are the main objectives of planning in 

India? 

  C¢v¯õÂÀ vmhªh¼¾ÒÍ •UQ¯ 

÷|õUP[PÒ ¯õx? 

Or 

 (b) Discuss the features of Niti Aayog.  

  {v B÷¯õUQ¾ÒÍ C¯À¦PøÍ ÂÍUSP. 

13. (a) What are the advantages and disadvantages 

of liberalisation? 

  uõμõÍ©¯©õUP¼ß |ßø©PÒ ©ØÖ® wø©PÒ 

¯õx? 

Or 

 (b) Explain the characteristics of privatisation. 

  uÛ¯õº©¯©õUPÎß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 
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14. (a) Discuss the three basic forms of government 

privatisation. 

  uÛ¯õº©¯©õUPÎß Aμ\õ[Pzvß 

Ai¨£øh¯õÚ ‰ßÖ ÁiÁ[PøÍ 

ÂÁ›UPÄ®.  

Or 

 (b) Can transportation and distribution lead to 

economic development? 

  ö£õ¸Íõuõμ ÁÍºa]US, ÷£õUSÁμzx ©ØÖ® 

£QºÄ •UQ¯  £[S ÁQUQßÓuõ? 

15. (a) Analyse, how can companies prevent cyber 

crime? 

  ø\£º SØÓzv¼¸¢x {ÖÁÚ[PÒ GÆÁõÖ 

PõzxU öPõÒQÓx Bμõ´P. 

Or 

 (b) Evaluate the role of technology today. 

  CßøÓ¯ öuõÈÀ ~m£zvß •UQ¯zxÁzøu 

©v¨¤kP.  
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SECTION C — (3  10 = 30 marks)  

        Answer any THREE questions. 

16. How does national income affect growth and 

development? 

 ÷u]¯ Á¸©õÚzvß ÁÍºa] ©ØÖ® ÷©®£õmiÀ 

GÆÁõÖ £õv¨£øhQßÓx? 

17. Elaborate the main strategy of Twelfth (12) five 

year plan of India. 

 C¢v¯õÂß £Ûöμshõ® (12) I¢uõsk 

vmhzv¾ÒÍ •UQ¯ u¢vμ[PøÍ Â›ÁõP 

ÂÁ›UPÄ®. 

18. Discuss the main impact of globalisation on Indian 

Economy. 

 C¢v¯ ö£õ¸ÍõuõμzvÀ, E»P©¯©õUPÎÚõÀ 

HØ£k® •UQ¯ uõUPzøu ÂÁõv. 

19. What are the goals of privatising government 

services?  

 Aμ\õ[PzvÀ, uÛ¯õº©¯©õUPÎ¾ÒÍ ÷\øÁ°ß 

C»USPÒ ¯õøÁ?  
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20. Evaluate the future of BPO in India. 

 ÁoP ö\¯À•øÓ AÄm÷\õºê[ (BPO) 

Á¸[Põ»zvÀ C¢v¯õÂÀ {ø» & ©v¨¥kP. 

——————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer ALL questions. 

1. What is the reason for The Hundred Years war? 

2. Who invented the first printing press in Germany? 

3. Who formed the New Model Army? 

4. Mention any two Machiavellian characters of 
Shakespeare. 

5. Name a few members associated with the Royal 
Society of Science. 

6. Name any two Elizabethan theatres. 

7. When did the French Revolution take place? 

8. Who were the important leaders of the Oxford 
Movement? 
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9. When did Queen Victoria ascend the throne of 
England? 

10. What do you understand by “The Cold War”? 

SECTION B — (5  5 = 25 marks) 

Answer ALL questions. 

11. (a) Discuss the significance of the printing press. 

Or 

 (b) Write a note on Black Death. 

12. (a) Comment on the closure of theatres during 
the Puritan age. 

Or 

 (b) Write a short note on the circumstances 
leading to the restoration of Charles II. 

13. (a) Write a note on the Royal Society of England. 

Or 

 (b) Give an account on the King James 
Authorized version of the Bible. 

14. (a) Write a note on prison reform. 

Or 

 (b) Comment on the role of the Sons of Liberty 
in the American War of Independence. 
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15. (a) Write a note on the six points of the Chartist 
movement. 

Or 

 (b) Comment on the eastern influence on the 
religion of England. 

SECTION C — (3  10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the Peasants’ Revolt of 1381 in detail. 

17. Comment on the inventions and discoveries during 
the Renaissance. 

18. Trace the Colonization activities of the Stuart 
Kings. 

19. Trace the causes and course of the French 
Revolution. 

20. Give an account of the social life of England in the 
80’s. 

——————— 
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1.  

 

 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  
Answer ALL questions. 

1. What are the types of Sampling? 
 ©õv›PÎß ÁøPPÒ GßÚ? 

2. Define Standard Error. 
 {ø»¯õÚ ¤øÇ – Áøμ¯Ö. 

3. Define independent attributes. 
 _¯õwÚ©õÚ £s¦UTÖ – Áøμ¯Ö. 

4. Define Chi-square test with respect to population 
mean.  

 ©UPÒ öuõøP \μõ\›ø¯ ö£õ¸zx 
2  ÷\õuøÚ°øÚ 

Áøμ¯Ö. 

5. Define point estimation. 

 ¦ÒÎ ©v¨¥møh Áøμ¯Ö. 

6. What do you mean by consistently of estimator? 

 ©v¨¥mhõÍ›ß {ø»zußø©°øÚ SÔzx } GßÚ 

TÖÁõ´? 
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7. Define Type-II Error. 

 Cμshõ® ÁøP ¤øÇ°øÚ Áøμ¯Ö. 

8. Define Null hypothesis. 

 §ä¯ P¸x÷PõÒ – Áøμ¯Ö. 

9. Define Latin Square Design. 

 C»zvß \xμ ÁiÁø©¨¤øÚ Áøμ¯Ö. 

10. What is the aim of the design of experiments?  

 ÷\õuøÚPÎß ÁiÁø©¨¤ØPõÚ ÷|õUP® GßÚ? 

SECTION B — (5  5 = 25 marks)  

Answer ALL questions. 

11. (a) Discuss the Sampling distribution of a 
Statistics. 

  ©õv› Â{÷¯õPzvØPõÚ ¦ÒÎ ÂÁμzvøÚ 

ÂÁõvUP. 

Or 

 (b)  Derive the student's t-distribution. 

   ©õnUPºPÎß t-Â{÷¯õPzvøÚ Á¸Â. 
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12. (a) Prove that Correlation Co-efficient is 
independent of change of origin and Scale. 

  öuõhº¦ SnP® BÚx ÷uõØÓ® ©ØÖ® AÍÄ 

©õØÓzvøÚ ö£õÖzx _¯õwÚ©õÚx GÚ 

{ÖÄP. 

Or 

 (b) Discuss the exact test based on  
F-distribution with respect to population 

  ©UPÒ öuõøP°øÚ ö£õ¸zx \›¯õÚ 

÷\õuøÚ°ß Ai¨£øh°À F-Â{÷¯õPzvøÚ 

ÂÁõvUP. 

13. (a) If a sufficient estimator exists, prove that it 
is a function of the maximum likelihood 
Estimator.  

  ÷£õx©õÚ ©v¨¥mhõÍº EÒÍx GÛÀ Ax J¸ 

AvP£m\ Áõ´¨¦ ©v¨¥mhõÍº BQ¯ J¸ 

\õº¦ GÚ {ÖÄP. 

Or 

 (b) Estimate  and  in the case of Pearson's 
type III distribution by the method of 
moments. 

    


  xexxf x 0,,; 1
2




 . 

  ¤¯º\Ûß ‰ßÓõ® ÁøP Â{÷¯õPzvÀ 

v¸¨¦ø© •øÓ°À  ©ØÖ®   øÁ ©v¨¤k. 

      


  xexxf x 0,,; 1
2




  
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14. (a) If 1x , is the critical region for testing 
2:0 H  against the alternative 1 , on 

the basis of the single observation from the 
population, 

       xxxf 0,exp,  , obtain the 
values of type I and type-II errors. 

  1x &À •UQ¯©õÚ £Sv°ß ÷\õuøÚUPõÚ 

2:0 H GvμõÚ ©õØÖ 1 , JØøÓ 

PÁÛ¨£õÚ Ai¨£øh°À ©UPÒöuõøP°À 

C¸¢x      xxxf 0,exp,  •uÀ 

©ØÖ® Cμshõ® ÁøP ¤øÇ°ß ©v¨¤øÚ 

PõsP. 

Or 

 (b) Discuss the likelihood ratio test. 

  Áõ´¨¦ ÂQu ÷\õuøÚ°øÚ ÂÁõvUP. 

15. (a) Discuss the basic principles of design of 
experiments. 

  ÷\õuøÚPÎß ÁiÁø©¨¤ØPõÚ Ai¨£øhU 

öPõÒøP°øÚ ÂÁõvUP. 

Or 

 (b) A completely randomised design experiment 
with 10 plots and 3 treatments give the 
following results: 

Plot No : 1 2 3 4 5 6 7 8 9 10

Treatment: A B C A C C A B A B 

Yield : 5 4 3 7 5 1 3 4 1 7 

 Analyse the results for treatment effects. 
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  J¸ •ÊÁx©õÚ ^μØÓ ÷\õuøÚ ÁiÁø©¨¤À 

10 {»[PÎÀ 3 ]Qaø\PÍõÚx R÷Ç 

öPõkUP¨£mkÒÍx. 

{»® Gs : 1 2 3 4 5 6 7 8 9 10

]Qaø\: A B C A C C A B A B 

©P`À : 5 4 3 7 5 1 3 4 1 7 

  ]Qaø\ ÂøÍÄPÐUPõÚ •iÄPøÍ 

£S¨£õ´P. 

SECTION C — (3  10 = 30 marks)  

Answer any THREE questions. 

16. Write down any ten standard errors of statistics 
for large samples. 

 ö£›¯ ©õv›PÐUPõÚ, ¦ÒÎ°¯¼ß £zx {ø»¯õÚ 

¤øÇPøÍ GÊxP. 

17. Discuss the Criterion of independence of 
attributes. 

 _¯õwÚ©õÚ £s¦UTÖPÐUPõÚ AÍÄ÷Põø» 

ÂÁõvUP. 

18. State and prove Cramer's Rao inequality. 

 Qμõ©º μõÆ \©ªßø©°øÚ GÊv {ÖÄP. 

19. State and prove Neyman Pearson Lemma. 

 ö|©õß&¤¯º\ß ö»®©õøÁ GÊv {Ö¤. 
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20. The following table shows the yield (in certain 
units) of timer beans on 20 plots of land subject to 
4 different treatments, 5 plots per treatment. Set 
up an analysis of variance table to test the 
significance of the differences between the yields 
due to different treatments. 

T1 : 26.3 30.0 54.2 25.7 52.4

T2 : 18.5 21.1 29.3 17.2 12.4

T3 : 36.9 21.8 24.0 18.5 10.2

T4 : 39.8 28.7 21.2 39.4 29.0

¼©õ ¥ßø\ 20 {»[PÎÀ 4 Âzv¯õ\©õÚ 

]Qaø\PÎÀ, J¸ ]QUø\¯õÚx 5 {»[PÒ Ãu® 

öPõkUS® ÷£õx Qøhzu ©P`»õÚx ÷©÷» 

öPõkUP¨£mkÒÍx. ©õÖ£õmiØPõÚ £S¨£õ´Ä 

AmhÁøn°øÚ Aø©zx Âzv¯õ\©õÚ 

]Qaø\PÎß ‰»ß Qøhzu ©P`ÀPÎß 

•UQ¯zxÁzvøÚ ÷\õvUP.  
T1 : 26.3 30.0 54.2 25.7 52.4

T2 : 18.5 21.1 29.3 17.2 12.4

T3 : 36.9 21.8 24.0 18.5 10.2

T4 : 39.8 28.7 21.2 39.4 29.0

   

 

————————— 


	BBA41.pdf (p.1-4)
	BBA42.pdf (p.5-20)
	BBA43.pdf (p.21-24)
	BBA61.pdf (p.25-30)
	BBA62.pdf (p.31-36)
	BCA41.pdf (p.37-39)
	BCA42.pdf (p.40-42)
	BCA43.pdf (p.43-45)
	BCA61.pdf (p.46-48)
	BCH41.pdf (p.49-54)
	BCH61.pdf (p.55-60)
	BCM41.pdf (p.61-82)
	BCM43.pdf (p.83-88)
	BCM61.pdf (p.89-106)
	BCM62.pdf (p.107-130)
	BCP41.pdf (p.131-152)
	BCP43.pdf (p.153-155)
	BCP61.pdf (p.156-173)
	BCP62.pdf (p.174-177)
	BCS41.pdf (p.178-180)
	BCS61.pdf (p.181-183)
	BEN41.pdf (p.184-186)
	BEN61.pdf (p.187-189)
	BEN62.pdf (p.190-193)
	BLT40.pdf (p.194-197)
	BLU40.pdf (p.198-203)
	BMA41.pdf (p.204-210)
	BMA61.pdf (p.211-217)
	BMA64.pdf (p.218-223)
	BSCM66.pdf (p.224-227)
	BSCP65.pdf (p.228-233)
	CABA13A.pdf (p.234-237)
	CABA23A.pdf (p.238-241)
	CABC25C.pdf (p.242-244)
	CACM15C.pdf (p.245-256)
	CACM25C.pdf (p.257-268)
	CACP22A.pdf (p.269-276)
	CACP22B.pdf (p.277-280)
	CAEC25C.pdf (p.281-286)
	CAEN23.pdf (p.287-289)
	CAMA23B.pdf (p.290-295)

